
P R O D U C T C A T A L O G

���� Cable gland

���	



�������	
��
,������������、���

����� 。"
#$���%&'()*+。-./��0、�1

234�5678、9:;<�=>。���23?@ABCDEF2

3�GHIJK?LCDM223�NO。����P�QRSTUV

WX、Y?Z[\、]	^、]_、`F*+、&a]b、cde�*

+、fg]b、hijk	kl、�m、�]nopqrq�。st�

uvw3G、xy、;<z{-./56|J}D�23~�。���

	-A���e�=���。



&�\�

vf\�

��\�

��\�

����

����\�



�����

���	

�	�� ��
�IPX8

���

���	


���	

�	�� ��
�IPX3-6

�������


����	 UL94���	



����

1、��� !�"#

�� ��$%

�� &�'� ()*+，./025�/0

()!� &�'� ()*+，7/0

�! :;'� 5<=>，7/02./0

(H)

H 1 5mm＜ .

1 5mm H 4mm. ≤ ＜

4mm H 10mm≤ ＜

10mm H≤ F�! GJ'� KM5<N*+（QR）

T!：WYZ[\� ����，]*+/^_`a .0 2 0 3mm.

c$def/02gf5�/0。

()!�：$ijk()/^<���l:。

�!：��:;'�，$ijk��l:；o:;�p�，p�Wqd5<N*+。

F�!：��:;'�，WKMQR5</^N*+。

2、��'�

r[\� !�st . u*+/vw，��:;'�，xyz{�p�。2 5

3、����

. ()����|*+/^_`5 . . 。a 0 2   0 3mm

. r�����aw， ���w&�������，��������。b O-ring

4、'�

��!��� . u/vw，z{'�,xyz{p�。2 5

5、���`q�

A 0 2：()����，;*+/^�`5 . 0 3mm. ；

B 0 5mm：�����a，;*+/^�`5 . ;�；

�`�a���
��� ：

r����|ØB Ow， N¡���w&������

¢�，������。

£Wq�a�，¤¥¦i§¨��¡。

6、[\� ©ª�q�

. «/^�：¬�­®�q�� . ，¯°/^�±²³、´µ。a 6 3

. p�：¬�­®�q�� . ，¯°[\�¨¶，�·�±¸¹。b 6 3

ØA Ø
B



£[\�º»¼½，��¡�¾�w¿À&ÁÂ，Ã���������，Ä;Wq

10mm。°Å[\�ÆgÇ�¨�，¨�qÆ3

、»¼�7

A

/^kÉ

M16 M20

M20 M32

M32 M50

M50 M80

M80 M100

A O（ ）i N¡

3mm A＜

3mm A 5mm＜ ≤

3mm A 5mm＜ ≤

3mm A 5mm＜ ≤

3mm A 5mm＜ ≤

����

A（ ）i§¨��¡

3mm A＜

3mm A 5mm＜ ≤

5mm A 7mm＜ ≤

7mm A 8mm＜ ≤

10mm A＜



�����	
��

�ÊËN

7Ì»�Ê

ÍÌ»�Ê

§¨�Ê

�Ê*+$i

�Ê_`�¯Î

、§�Ê：�Ê�<、Ï��

、»�Ê：�Ê_`��（;ÐÑ�Ê_`|)），£ÒÓÔÕÖÓ，¤¥°× %。

1

2 15

HSK HSM,

HSK HSM.MU. ,MU

HSK HSM.FL. ,FL



�����	
��

¯Ç��¦iÙÚ

gÛÜÝÙÚ JÜÞßÙÚ àáÙÚ âáÙÚ

1

2
¯Çã�

gÛci äi �åæç èàâá Kéã�

3
¯Ç�Êêë

7Ì»�Ê ÍÌ»�Ê §¨�Ê ìí�Ê

4
¯ÇîïW�

á� èðñ

5
¯Ç/^kÉ

6
¯ÇºxWq/^ò`Ù

/^óôÙ /^õ`Ù /^ö`Ù

7
¯ÇºxWq÷ø，iù��ú&¦i�ûü�

»ý÷ø þÿ÷ø

�M PG G M NPT




���

T![\

2 1 5mm、r[\� !��ù . w，z{¦ief/^，2¦i§¨��¡。

/^�[\

、z{/^���ÿ�ù ，��[\w N¡¾	�«，������；

、/^¤¥°Å� ¡
;��<�。

1 1mm O

2 3

�![\

1 0 2  0 3mm、�![\� ，����|*+/^_`5 . . ；

2、�Ê*+/^��[\� �<�¤¥
[\gf/0���。

1 0 2  0 3mm、T![\� ，����|*+/^_`5 . . ；



�������	

�����

��	
��

��
���

����

��

���������� �!�� 

"#$%：

、����()

、��*()

、��*+�

1

2

3

"#$%：

、��,-

、��()

、./04

、56��

1

2

3

4

"#$%：

、89��

、:;<=

、56>?@

、AB��04

1

2

3

4



1. DE�����F

2. DEGH

3. IJ�����F

4. IJGH

5. �LML�F

6. 56H

7. DEPQ

8. DEPQ�F/TH

9. IJPQ

10. �FIJPQ

����

P01

P15

P27

P59

P105

P111

P117

P131

P151

P1671 .1

P157

��
�� ＞

��
�� ＞

��
�� ＞

��
�� ＞

��
�� ＞

��
�� ＞

��
�� ＞

��
�� ＞

��
�� ＞

��
�� ＞

��
�� ＞





001

�������	



002

RoHs

HSK���� — ���	��
���

2-5

3-6.5

2-6

4-8

5-10

6-12

6-12

10-14

9-16

13-18

13-20

18-25

20-26

22-32

25-31

32-38

29-35

37-44

12

12

16

16

20

20

22

22

25

25

32

32

40

40

50

50

63

63

8

8

8

8

9

9

10

10

11

11

11

11

13

13

13

13

14

14

20

20

22

22

26.5

26.5

28

28

31.5

31.5

39

39

48.5

48.5

47.3

47.3

47

47

15

15

19

19

24

24

27

27

33

33

42

42

53

53

60

60

68

68

9 00 001 0120 1

9 00 001 0121 1

9 00 001 0160 1

9 00 001 0161 1

9 00 001 0200 1

9 00 001 0201 1

9 00 001 0220 1

9 00 001 0221 1

9 00 001 0250 1

9 00 001 0251 1

9 00 001 0320 1

9 00 001 0321 1

9 00 001 0400 1

9 00 001 0401 1

9 00 001 0500 1

9 00 001 0501 1

9 00 001 0630 1

9 00 001 0631 1

50

50

50

50

50

50

50

50

20

20

20

20

10

10

5

5

5

5

9 00 001 0120 2

9 00 001 0121 2

9 00 001 0160 2

9 00 001 0161 2

9 00 001 0200 2

9 00 001 0201 2

9 00 001 0220 2

9 00 001 0221 2

9 00 001 0250 2

9 00 001 0251 2

9 00 001 0320 2

9 00 001 0321 2

9 00 001 0400 2

9 00 001 0401 2

9 00 001 0500 2

9 00 001 0501 2

9 00 001 0630 2

9 00 001 0631 2

M12X1.5

M12X1.5

M16X1.5

M16X1.5

M20X1.5

M20X1.5

M22X1.5

M22X1.5

M25X1.5

M25X1.5

M32X1.5

M32X1.5

M40X1.5

M40X1.5

M50X1.5

M50X1.5

M63X1.5

M63X1.5

HSK.M12.A(B/G)

HSK.M12.B(B/G)

HSK.M16.A(B/G)

HSK.M16.B(B/G)

HSK.M20.A(B/G)

HSK.M20.B(B/G)

HSK.M22.A(B/G)

HSK.M22.B(B/G)

HSK.M25.A(B/G)

HSK.M25.B(B/G)

HSK.M32.A(B/G)

HSK.M32.B(B/G)

HSK.M40.A(B/G)

HSK.M40.B(B/G)

HSK.M50.A(B/G)

HSK.M50.B(B/G)

HSK.M63.A(B/G)

HSK.M63.B(B/G)


� �
�� ���（��）HGLAG
mmmmmm SW

mm

���（��）����
mm

22� 112�

����:

AG

SW

G
L

H� �：

 ! �："#$%

�&'(：)�*+,-��.,03456+O
 !7,�&'(89;<IP68

=>��：?@: < ,ABC8;< ,D@:- < ,ABC8;<-40 C 100°C 120°C 20°C 80°C 100°C

FGH�：��( ,J��( )RAL9005) RAL7047

LM'(：UL94-V2

�
�
�
�
�
�
�
	

�
�
�
�

R
S
�
�
�
�
�
	

R
S
�
�

�
T
V
T
W
X

 
!
�

�
�
Y
Z

�
�
Y
Z
�
	
/
\
�

R
S
Y
Z

R
S
Y
Z
�
	

]
^
W
X

��
��

<



�
�
�
�
�
�
�
	

�
�
�
�

R
S
�
�
�
�
�
	

R
S
�
�

�
T
V
T
W
X

 
!
�

�
�
Y
Z

�
�
Y
Z
�
	
/
\
�

R
S
Y
Z

R
S
Y
Z
�
	

]
^
W
X

003

RoHs

2-5

3-6.5

2-6

4-8

5-10

5-10

6-12

6-12

10-14

9-16

13-18

13-20

18-25

20-26

22-32

25-31

32-38

29-35

37-44

12.5

12.5

15.2

15.2

18.6

20.4

20.4

22.5

22.5

28.3

28.3

37

37

47

47

54

54

59.3

59.3

8

8

8

8

8

9

9

10

10

11

11

11

11

13

13

13

13

14

14

20

20

22

22

25

26.5

26.5

28

28

31.5

31.5

39

39

48.5

48.5

47.3

47.3

47

47

15

15

19

19

22

24

24

27

27

33

33

42

42

53

53

60

60

68

68

9 00 001 1070 1

9 00 001 1071 1

9 00 001 1090 1

9 00 001 1091 1

9 00 001 1110 1

9 00 001 1130 1

9 00 001 1131 1

9 00 001 1160 1

9 00 001 1161 1

9 00 001 1210 1

9 00 001 1211 1

9 00 001 1290 1

9 00 001 1291 1

9 00 001 1360 1

9 00 001 1361 1

9 00 001 1420 1

9 00 001 1421 1

9 00 001 1480 1

9 00 001 1481 1

50

50

50

50

50

50

50

50

50

20

20

20

20

10

10

5

5

5

5

9 00 001 1070 2

9 00 001 1071 2

9 00 001 1090 2

9 00 001 1091 2

9 00 001 1110 2

9 00 001 1130 2

9 00 001 1131 2

9 00 001 1160 2

9 00 001 1161 2

9 00 001 1210 2

9 00 001 1211 2

9 00 001 1290 2

9 00 001 1291 2

9 00 001 1360 2

9 00 001 1361 2

9 00 001 1420 2

9 00 001 1421 2

9 00 001 1480 2

9 00 001 1481 2

HSK.PG7.A(B/G)

HSK.PG7.B(B/G)

HSK.PG9.A(B/G)

HSK.PG9.B(B/G)

HSK.PG11(B/G)

HSK.PG13.5.A(B/G)

HSK.PG13.5.B(B/G)

HSK.PG16.A(B/G)

HSK.PG16.B(B/G)

HSK.PG21.A(B/G)

HSK.PG21.B(B/G)

HSK.PG29.A(B/G)

HSK.PG29.B(B/G)

HSK.PG36.A(B/G)

HSK.PG36.B(B/G)

HSK.PG42.A(B/G)

HSK.PG42.B(B/G)

HSK.PG48.A(B/G)

HSK.PG48.B(B/G)

PG7

PG7

PG9

PG9

PG11

PG13.5

PG13.5

PG16

PG16

PG21

PG21

PG29

PG29

PG36

PG36

PG42

PG42

PG48

PG48

� �：

 ! �："#$%

�&'(：)�*+,-��.,03456+ 
 !7,�&'(89;<O IP68

=>��：?@:-40 <100 ,ABC8;<120 ,D@:-20 <80 ,ABC8;<100°C °C °C °C °C °C

FGH�：��(RAL9005),J��(RAL )7047

LM'(：UL94-V2


� �
�� ���（��）HGLAG
mmmmmm SW

mm

���（��）����
mm

2 �3 112�

����:

HSK���� — PG�	��
���

AG

SW

G
L

H

��
��

<



004

4-8

6-12

13-18

18-25

22-32

32-38

37-44

17.06

21.23

26.57

33.23

41.99

48.05

60.09

11

13

13

16

17.3

17.3

17.7

26.5

26.5

31

39

47

47

47

22

24

33

42

52

60

65

100

100

50

50

25

25

25

NPT3/8"

NPT1/2"

NPT3/4"

NPT1"

NPT1-1/4"

NPT1-1/2"

NPT2"

HSK.NPT3/8（B/G）

HSK.NPT1/2（B/G）

HSK.NPT3/4（B/G）

HSK.NPT1（B/G）

HSK.NPT1.1/4（B/G）

HSK.NPT1.1/2（B/G）

HSK.NPT2（B/G）

9 00 001 3040 1

9 00 001 3050 1

9 00 001 3060 1

9 00 001 3070 1

9 00 001 3080 1

9 00 001 3090 1

9 00 001 3100 1

9 00 001 3040 2

9 00 001 3050 2

9 00 001 3060 2

9 00 001 3070 2

9 00 001 3080 2

9 00 001 3090 2

9 00 001 3100 2

HGLAG
mmmmmm

RoHs

� �：

 ! �："#$%

�&'(：)�*+,-��.,03456+O
 !7,�&'(89;<IP68

=>��：?@:-40 <100 ,ABC8;<120 ,D@:-20 <80 ,ABC8;<100°C °C °C °C °C °C

FGH�：��( ,J��( )RAL9005) RAL7047

LM'(： UL94-V2


� �
�� ���（��）SW
mm

���（��）����
mm

AG

SW

G
L

H

112�

����:

HSK���� — NPT�	��
�

�
�
�
�
�
�
�
	

�
�
�
�

R
S
�
�
�
�
�
	

R
S
�
�

�
T
V
T
W
X

 
!
�

�
�
Y
Z

�
�
Y
Z
�
	
/
\
�

R
S
Y
Z

R
S
Y
Z
�
	

]
^
W
X

��
��

<



�
�
�
�
�
�
�
	

�
�
�
�

R
S
�
�
�
�
�
	

R
S
�
�

�
T
V
T
W
X

 
!
�

�
�
Y
Z

�
�
Y
Z
�
	
/
\
�

R
S
Y
Z

R
S
Y
Z
�
	

]
^
W
X

005

RoHs

4-8

6-12

13-18

18-25

22-32

32-38

37-44

16.66

21.00

26.44

33.25

41.91

47.80

59.61

11

14

14

11

13

16

16

26.5

26.5

31

39

47

47

47

22

24

33

42

52

60

65

100

100

50

50

25

25

25

G3/8

G1/2

G3/4

G1

G1-1/4

G1-1/2

G2

”

”

”

”

”

”

”

HSK.G3/8(B/G)

HSK.G1/2(B/G)

HSK.G3/4(B/G)

HSK.G1(B/G)

HSK.G1.1/4(B/G)

HSK.G1.1/2(B/G)

HSK.G2(B/G)

9 00 001 2030 1

9 00 001 2040 1

9 00 001 2060 1

9 00 001 2080 1

9 00 001 2100 1

9 00 001 2120 1

9 00 001 2140 1

9 00 001 2030 2

9 00 001 2040 2

9 00 001 2060 2

9 00 001 2080 2

9 00 001 2100 2

9 00 001 2120 2

9 00 001 2140 2

HGLAG
mmmmmm


� �
�� ���（��）SW
mm

���（��）����
mm

2 �4 112�

����:

AG

SW

G
L

H

3-6.5 13.15 8 20 15 9 00 001 2020 1 9 00 001 2020 2 100G1/4”HSK.G1/4(B/G)

HSK���� — G���	��
���

� �：

 ! �："#$%

�&'(：)�*+,-��.,03456+O
 !7,�&'(89;<IP68

=>��：?@:- < ,ABC8;< ,D@:- < ,ABC8;<40°C 100°C 120°C 20°C 80°C 100°C

FGH�：��( ,J��( )RAL9005) RAL7047

LM'(：UL94-V2

��
��

<



HSK���� — ��
��	��
���

HGLAG
mmmmmm

RoHs

006


� �
�� ���（��）SW
mm

���（��）����
mm

2 �2 112�

����:

12

16

16

20

20

22

22

25

25

32

32

40

40

50

50

63

63

15

15

15

15

15

15

15

15

15

15

15

18

18

18

18

18

18

20

22

22

26.5

26.5

28

28

31.5

31.5

39

39

48.5

48.5

47.3

47.3

47

47

15

19

19

24

24

27

27

33

33

42

42

53

53

60

60

68

68

9 00 002 0121 1

9 00 002 0160 1

9 00 002 0161 1

9 00 002 0200 1

9 00 002 0201 1

9 00 002 0220 1

9 00 002 0221 1

9 00 002 0250 1

9 00 002 0251 1

9 00 002 0320 1

9 00 002 0321 1

9 00 002 0400 1

9 00 002 0401 1

9 00 002 0500 1

9 00 002 0501 1

9 00 002 0630 1

9 00 002 0631 1

50

50

50

50

50

50

50

20

20

20

20

10

10

5

5

5

5

9 00 002 0121 2

9 00 002 0160 2

9 00 002 0161 2

9 00 002 0200 2

9 00 002 0201 2

9 00 002 0220 2

9 00 002 0221 2

9 00 002 0250 2

9 00 002 0251 2

9 00 002 0320 2

9 00 002 0321 2

9 00 002 0400 2

9 00 002 0401 2

9 00 002 0500 2

9 00 002 0501 2

9 00 002 0630 2

9 00 002 0631 2

M12X1.5

M16X1.5

M16X1.5

M20X1.5

M20X1.5

M22X1.5

M22X1.5

M25X1.5

M25X1.5

M32X1.5

M32X1.5

M40X1.5

M40X1.5

M50X1.5

M50X1.5

M63X1.5

M63X1.5

3-6.5

2-6

4-8

5-10

6-12

6-12

10-14

10-14

13-18

13-20

18-15

22-32

20-26

25-31

32-38

29-35

37-44

HSK.L.M12.B(B/G)

HSK.L.M16.A(B/G)

HSK.L.M16.B(B/G)

HSK.L.M20.A(B/G)

HSK.L.M20.B(B/G)

HSK.L.M22.A(B/G)

HSK.L.M22.B(B/G)

HSK.L.M25.A(B/G)

HSK.L.M25.B(B/G)

HSK.L.M32.A(B/G)

HSK.L.M32.B(B/G)

HSK.L.M40.A(B/G)

HSK.L.M40.B(B/G)

HSK.L.M50.A(B/G)

HSK.L.M50.B(B/G)

HSK.L.M63.A(B/G)

HSK.L.M63.B(B/G)

AG

SW

G
L

H

� �：PA

 ! �："#$%

�&'(：)�*+,-��.,03456+O
 !7,�&'(89;<IP68

=>��：?@: < ,ABC8;< ,D@:- < ,ABC8;<-40 C 100 C 120°C 20°C 80°C 100°C

FGH�：��( ,J��( )RAL9005) RAL7047

LM'(：UL94-V2

12 15 20 15 9 00 002 0120 1 509 00 002 0120 2M12X1.5 2-5HSK.L.M12.A(B/G)

�
�
�
�
�
�
�
	

�
�
�
�

R
S
�
�
�
�
�
	

R
S
�
�

�
T
V
T
W
X

 
!
�

�
�
Y
Z

�
�
Y
Z
�
	
/
\
�

R
S
Y
Z

R
S
Y
Z
�
	

]
^
W
X

��
��

<



RoHs

�
�
�
�
�
�
�
	

�
�
�
�

R
S
�
�
�
�
�
	

R
S
�
�

�
T
V
T
W
X

 
!
�

�
�
Y
Z

�
�
Y
Z
�
	
/
\
�

R
S
Y
Z

R
S
Y
Z
�
	

]
^
W
X

HSK���� — PG
��	��
���

HGLAG
mmmmmm

007


� �
�� ���（��）SW
mm

���（��）����
mm

2 �3 112�

����:

3-6.5

2-6

4-8

5-10

5-10

6-12

6-12

10-14

10-14

13-18

13-20

18-25

20-26

22-32

25-31

32-38

29-35

37-44

12.5

15.2

15.2

18.6

20.4

20.4

22.5

22.5

28.3

28.3

37

37

47

47

54

54

59.3

59.3

15

15

15

15

14

14

15

15

15

15

15

15

18

18

18

18

18

18

20

22

22

25

26.5

26.5

28

28

31.5

31.5

39

39

48.5

48.5

47.3

47.3

47

47

15

19

19

22

24

24

27

27

33

33

42

42

53

53

60

60

68

68

9 00 002 1070 1

9 00 002 1090 1

9 00 002 1091 1

9 00 002 1110 1

9 00 002 1130 1

9 00 002 1131 1

9 00 002 1160 1

9 00 002 1161 1

9 00 002 1210 1

9 00 002 1211 1

9 00 002 1290 1

9 00 002 1291 1

9 00 002 1360 1

9 00 002 1361 1

9 00 002 1420 1

9 00 002 1421 1

9 00 002 1480 1

9 00 002 1481 1

50

50

50

50

50

50

50

50

20

20

20

20

10

10

5

5

5

5

9 00 002 1070 2

9 00 002 1090 2

9 00 002 1091 2

9 00 002 1110 2

9 00 002 1130 2

9 00 002 1131 2

9 00 002 1160 2

9 00 002 1161 2

9 00 002 1210 2

9 00 002 1211 2

9 00 002 1290 2

9 00 002 1291 2

9 00 002 1360 2

9 00 002 1361 2

9 00 002 1420 2

9 00 002 1421 2

9 00 002 1480 2

9 00 002 1481 2

PG7

PG9

PG9

PG11

PG13.5

PG13.5

PG16

PG16

PG21

PG21

PG29

PG29

PG36

PG36

PG42

PG42

PG48

PG48

HSK.L.PG7(B/G)

HSK.L.PG9.A(B/G)

HSK.L.PG9.B(B/G)

HSK.L.PG11(B/G)

HSK.L.PG13.5.A(B/G)

HSK.L.PG13.5.B(B/G)

HSK.L.PG16.A(B/G)

HSK.L.PG16.B(B/G)

HSK.L.PG21.A(B/G)

HSK.L.PG21.B(B/G)

HSK.L.PG29.A(B/G)

HSK.L.PG29.B(B/G)

HSK.L.PG36.A(B/G)

HSK.L.PG36.B(B/G)

HSK.L.PG42.A(B/G)

HSK.L.PG42.B(B/G)

HSK.L.PG48.A(B/G)

HSK.L.PG48.B(B/G)

AG

SW

G
L

H

� �：

 ! �："#$%

�&'(：)�*+,-��.,03456+O
 !7,�&'(89;<IP68

=>��：?@:- < ,ABC8;< ,D@:- < ,ABC8;<40°C 100°C 120°C 20°C 80°C 100°C

FGH�：��( ,J��( )RAL9005) RAL7047

LM'(：UL94-V2

PA

��
��

<



HSK���� — ���	
����
��

008

HGLAG
mmmmmm

�� ���� �	�（��
）SW
mm

�	�（�
）�� ��
mm

RoHs IP65

22� 112�

����:

4X1.4

2X5

6X3

3X4

2X6

7X3

4X4

6X4

4X6

3X7

10X6

4X9

6X6.5

2X15

3X10

9X7

4X12

3X15

6X12

3X18

16

20

20

20

22

22

22

22

25

25

32

32

32

40

40

40

50

50

63

63

8

9

9

9

10

10

10

10

11

11

11

11

11

13

13

13

13

13

14

14

22

26.5

26.5

26.5

28

28

28

28

31.5

31.5

39

39

39

48.5

48.5

48.5

47.3

47.3

47

47

50

50

50

50

50

50

50

50

20

20

20

20

20

10

10

10

10

10

5

5

M16X1.5

M20X1.5

M20X1.5

M20X1.5

M22X1.5

M22X1.5

M22X1.5

M22X1.5

M25X1.5

M25X1.5

M32X1.5

M32X1.5

M32X1.5

M40X1.5

M40X1.5

M40X1.5

M50X1.5

M50X1.5

M63X1.5

M63X1.5

19

24

24

24

27

27

27

27

33

33

42

42

42

53

53

53

60

60

68

68

HSK.MU.M16(B/G)

HSK.MU.M20.A(B/G)

HSK.MU.M20.B(B/G)

HSK.MU.M20.C(B/G)

HSK.MU.M22.A(B/G)

HSK.MU.M22.B(B/G)

HSK.MU.M22.C(B/G)

HSK.MU.M22.D(B/G)

HSK.MU.M25.A(B/G)

HSK.MU.M25.B(B/G)

HSK.MU.M32.A(B/G)

HSK.MU.M32.B(B/G)

HSK.MU.M32.C(B/G)

HSK.MU.M40.A(B/G)

HSK.MU.M40.B(B/G)

HSK.MU.M40.C(B/G)

HSK.MU.M50.A(B/G)

HSK.MU.M50.B(B/G)

HSK.MU.M63.A(B/G)

HSK.MU.M63.B(B/G)

9 00 003 0160 1

9 00 003 0200 1

9 00 003 0201 1

9 00 003 0202 1

9 00 003 0220 1

9 00 003 0221 1

9 00 003 0222 1

9 00 003 0223 1

9 00 003 0250 1

9 00 003 0251 1

9 00 003 0320 1

9 00 003 0321 1

9 00 003 0322 1

9 00 003 0400 1

9 00 003 0401 1

9 00 003 0402 1

9 00 003 0500 1

9 00 003 0501 1

9 00 003 0630 1

9 00 003 0631 1

9 00 003 0160 2

9 00 003 0200 2

9 00 003 0201 2

9 00 003 0202 2

9 00 003 0220 2

9 00 003 0221 2

9 00 003 0222 2

9 00 003 0223 2

9 00 003 0250 2

9 00 003 0251 2

9 00 003 0320 2

9 00 003 0321 2

9 00 003 0322 2

9 00 003 0400 2

9 00 003 0401 2

9 00 003 0402 2

9 00 003 0500 2

9 00 003 0501 2

9 00 003 0630 2

9 00 003 0631 2

AG

SW

G
L

H� �：

� � �：��� 

!"#$： （%&�=��'()*+,- ）IP65 IP68

./03：45:- - ,89;+,- ,<5:- - ,89;+,-40°C 100°C 120°C 20°C 80°C 100°C

>?@
：�
(RAL9005),��
(RAL )7047

IJ#$： -UL94 V2

K
�
M
N
!
O
P
Q

K
�
�
�

S
T
M
N
!
O
P
Q

S
T
�
�

!
U
V
U
W
X

�
�
�

K
�
Y
Z

K
�
Y
Z
P
Q
/
\
�

S
T
Y
Z

S
T
Y
Z
P
Q

]
^
W
X

��
��

<



K
�
M
N
!
O
P
Q

K
�
�
�

S
T
M
N
!
O
P
Q

S
T
�
�

!
U
V
U
W
X

�
�
�

K
�
Y
Z

K
�
Y
Z
P
Q
/
\
�

S
T
Y
Z

S
T
Y
Z
P
Q

]
^
W
X

009

HSK���� — PG�	
����
��

HGLAG
mmmmmm

�� ���� �	�（�
）SW
mm

�	�（�
）�� ��
mm

RoHs IP65

2 �3 112�

����:

4X1.4

2X4

3X3

2X5

6X3

3X4

2X6

7X3

4X4

6X

4X6

3X7

10X6

4X9

6X6.5

2X15

3X10

9X7

4X12

3X15

6X12

3X18

4

15.2

18.6

18.6

20.4

20.4

20.4

22.5

22.5

22.5

22.5

28.3

28.3

37

37

37

47

47

47

54

54

59.3

59.3

8

8

8

9

9

9

10

10

10

10

11

11

11

11

11

13

13

13

13

13

14

14

22

25

25

26.5

26.5

26.5

28

28

28

28

31.5

31.5

39

39

39

48.5

48.5

48.5

47.3

47.3

47

47

19

22

22

24

24

24

27

27

27

27

33

33

42

42

42

53

53

53

60

60

68

68

50

50

50

50

50

50

50

50

50

50

20

20

20

20

20

10

10

10

10

10

5

5

PG9

PG11

PG11

PG13.5

PG13.5

PG13.5

PG16

PG16

PG16

PG16

PG21

PG21

PG29

PG29

PG29

PG36

PG36

PG36

PG42

PG42

PG48

PG48

HSK.MU.PG9(B/G)

HSK.MU.PG11.B(B/G)

HSK.MU.PG11.C(B/G)

HSK.MU.PG13.5.A(B/G)

HSK.MU.PG13.5.B(B/G)

HSK.MU.PG13.5.C(B/G)

HSK.MU.PG16.A(B/G)

HSK.MU.PG16.B(B/G)

HSK.MU.PG16.C(B/G)

HSK.MU.PG16.D(B/G)

HSK.MU.PG21.A(B/G)

HSK.MU.PG21.B(B/G)

HSK.MU.PG29.A(B/G)

HSK.MU.PG29.B(B/G)

HSK.MU.PG29.C(B/G)

HSK.MU.PG36.A(B/G)

HSK.MU.PG36.B(B/G)

HSK.MU.PG36.C(B/G)

HSK.MU.PG42.A(B/G)

HSK.MU.PG42.B(B/G)

HSK.MU.PG48.B(B/G)

HSK.MU.PG48.C(B/G)

9 00 003 1109 1

9 00 003 1111 1

9 00 003 1112 1

9 00 003 1130 1

9 00 003 1131 1

9 00 003 1132 1

9 00 003 1160 1

9 00 003 1161 1

9 00 003 1162 1

9 00 003 1163 1

9 00 003 1210 1

9 00 003 1211 1

9 00 003 1290 1

9 00 003 1291 1

9 00 003 1292 1

9 00 003 1360 1

9 00 003 1361 1

9 00 003 1362 1

9 00 003 1420 1

9 00 003 1421 1

9 00 003 1481 1

9 00 003 1482 1

9 00 003 1109 2

9 00 003 1111 2

9 00 003 1112 2

9 00 003 1130 2

9 00 003 1131 2

9 00 003 1132 2

9 00 003 1160 2

9 00 003 1161 2

9 00 003 1162 2

9 00 003 1163 2

9 00 003 1210 2

9 00 003 1211 2

9 00 003 1290 2

9 00 003 1291 2

9 00 003 1292 2

9 00 003 1360 2

9 00 003 1361 2

9 00 003 1362 2

9 00 003 1420 2

9 00 003 1421 2

9 00 003 1481 2

9 00 003 1482 2

AG

SW

G
L

H� �：

� � �：��� 

!"#$： （%&�=��'()*+,- ）IP65 IP68

./03：45:- - ,89;+,- ,<5:- - ,89;+,-40°C 100°C 120°C 20°C 80°C 100°C

>?@
：�
( ),��
( )RAL9005 RAL7047

IJ#$： -UL94 V2

��
��

<



HSK���� — ����
����
��

010

HGLAG
mmmmmm

�� ���� �	�（�
） �	�（�
）` a
mm SW

mm

RoHs IP65

22� 112�

���� :

20

25

25

32

40

40

40

50

63

9

11

11

11

13

13

13

13

14

26.5

31.5

31.5

39

48.5

48.5

48.5

47.3

47

24

33

33

42

53

53

53

60

68

M20X1.5

M25X1.5

M25X1.5

M32X1.5

M40X1.5

M40X1.5

M40X1.5

M50X1.5

M63X1.5

50

20

20

20

10

10

10

10

10

HSK.FL.M20(B/G)

HSK.FL.M25.A(B/G)

HSK.FL.M25.B(B/G)

HSK.FL.M32(B/G)

HSK.FL.M40.A(B/G)

HSK.FL.M40.B(B/G)

HSK.FL.M40.C(B/G)

HSK.FL.M50(B/G)

HSK.FL.M63(B/G)

9 00 004 0200 1

9 00 004 0250 1

9 00 004 0251 1

9 00 004 0320 1

9 00 004 0400 1

9 00 004 0401 1

9 00 004 0402 1

9 00 004 0500 1

9 00 004 0630 1

12X7

14X6

14X7

22X8

28.5X10

30.5X12

31X7.5

33.5X11.5

38X12

9 00 004 0200 2

9 00 004 0250 2

9 00 004 0251 2

9 00 004 0320 2

9 00 004 0400 2

9 00 004 0401 2

9 00 004 0402 2

9 00 004 0500 2

9 00 004 0630 2

AG

SW

G
L

H� �：

� � �：��� 

!"#$： （%&�=��'()*+,- ）IP65 IP68

./03：45:- - ,89;+,- ,<5:- - ,89;+,-40°C 100°C 120°C 20°C 80°C 100°C

>?@
：�
(RAL9005),��
(RAL )7047

IJ#$：UL94-V2

K
�
M
N
!
O
P
Q

K
�
�
�

S
T
M
N
!
O
P
Q

S
T
�
�

!
U
V
U
W
X

�
�
�

K
�
Y
Z

K
�
Y
Z
P
Q
/
\
�

S
T
Y
Z

S
T
Y
Z
P
Q

]
^
W
X

��
��

<



K
�
M
N
!
O
P
Q

K
�
�
�

S
T
M
N
!
O
P
Q

S
T
�
�

!
U
V
U
W
X

�
�
�

K
�
Y
Z

K
�
Y
Z
P
Q
/
\
�

S
T
Y
Z

S
T
Y
Z
P
Q

]
^
W
X

011

HSK���� — PG��
����
��

HGLAG
mmmmmm

�� ���� �	�（�
） �	�（�
）` a
mm SW

mm

RoHs IP65

23� 112�

����:

� �：

� � �：��� 

!"#$： （%&�=��'()*+,- ）IP65 IP68

./03：45:- - ,89;+,- ,<5:- - ,89;+,-40°C 100°C 120°C 20°C 80°C 100°C

>?@
：�
(RAL9005),��
(RAL )7047

IJ#$：UL94-V2

12X7

14X6

14X7

22X8

28.5X10

30.5X12

31X7.5

33.5X11.5

38X12

20.4

28.3

28.3

37

47

47

47

54

59.3

9

11

11

11

13

13

13

13

14

26.5

31.5

31.5

39

48.5

48.5

48.5

47.3

47

24

33

33

42

53

53

53

60

68

50

20

20

20

10

10

10

10

10

PG13.5

PG21

PG21

PG29

PG36

PG36

PG36

PG42

PG48

HSK.FL.PG13.5(B/G)

HSK.FL.PG21.A(B/G)

HSK.FL.PG21.B(B/G)

HSK.FL.PG29(B/G)

HSK.FL.PG36.A(B/G)

HSK.FL.PG36.B(B/G)

HSK.FL.PG36.C(B/G)

HSK.FL.PG42(B/G)

HSK.FL.PG48(B/G)

9 00 004 1130 1

9 00 004 1210 1

9 00 004 1211 1

9 00 004 1290 1

9 00 004 1360 1

9 00 004 1361 1

9 00 004 1362 1

9 00 004 1420 1

9 00 004 1480 1

9 00 004 1130 2

9 00 004 1210 2

9 00 004 1211 2

9 00 004 1290 2

9 00 004 1360 2

9 00 004 1361 2

9 00 004 1362 2

9 00 004 1420 2

9 00 004 1480 2

AG

SW

G
L

H

��
��

<



HSK���� — �����
����
��

3-6.5 12 8 54 15M12X1.5HSK.F.M12.A(B/G) 9 00 005 0120 1 9 00 005 0120 2 100

4-8 16 8 63 19M16X1.5HSK.F.M16.A(B/G) 9 00 005 0160 1 9 00 005 0160 2 100

� �：

� � �： ��� 

!"#$：%�b'cd03e,fghij' ���k,!"#$+l,-O IP68

./03：45:- - ,89;+,- ,<5:- - ,89;+,-40°C 100°C 120°C 20°C 80°C 100°C

>?@
：�
(RAL9005),��
(RAL )7047

IJ#$：UL94-V2

HGLAG
mmmmmm

�� ���� �	�（�
） �	�（�
）SW
mm

MN03
mm

RoHs

AG

G
L

H

SW

2-5 12 8 54 15M12X1.5HSK.F.M12.B(B/G) 9 00 005 0121 1 9 00 005 0121 2 100

6-12 20 9 90 24M20X1.5HSK.F.M20.A(B/G) 9 00 005 0200 1 9 00 005 0200 2 50

7-12 22 10 100 27M22X1.5HSK.F.M22.B(B/G) 9 00 005 0211 1 9 00 005 0221 2 25

9-16 25 11 114 33M25X1.5HSK.F.M25.B(B/G) 9 00 005 0251 1 9 00 005 0251 2 25

012

22� 112�

����:

2-6 16 8 63 19M16X1.5HSK.F.M16.B(B/G) 9 00 005 0161 1 9 00 005 01612 100

5-10 20 9 90 24M20X1.5HSK.F.M20.B(B/G) 9 00 005 0201 1 9 00 005 0201 2 50

10-14 22 10 100 27M22X1.5HSK.F.M22.A(B/G) 9 00 005 0201 1 9 00 005 0201 2 25

13-18 25 11 114 33M25X1.5HSK.F.M25.A(B/G) 9 00 005 0250 1 9 00 005 0250 2 25

K
�
M
N
!
O
P
Q

K
�
�
�

S
T
M
N
!
O
P
Q

S
T
�
�

!
U
V
U
W
X

�
�
�

K
�
Y
Z

K
�
Y
Z
P
Q
/
\
�

S
T
Y
Z

S
T
Y
Z
P
Q

]
^
W
X

��
��

<



K
�
M
N
!
O
P
Q

K
�
�
�

S
T
M
N
!
O
P
Q

S
T
�
�

!
U
V
U
W
X

�
�
�

K
�
Y
Z

K
�
Y
Z
P
Q
/
\
�

S
T
Y
Z

S
T
Y
Z
P
Q

]
^
W
X

013

HSK���� — PG���
����
��

� �：

� � �：��� 

!"#$：%�b'cd03e,fghij' ���k,!"#$+l,-O IP68

./03：45:- - ,89;+,- ,<5:- - ,89;+,-40°C 100°C 120°C 20°C 80°C 100°C

>?@
：�
(RAL9005),��
(RAL )7047

IJ#$：UL94-V2

HGLAG
mmmmmm

�� ���� �	�（�
） �	�（�
）SW
mm

MN03
mm

RoHs

2 �3 112�

����:

AG

G
L

H

SW

3-6.5 12.5 8 54 15 100PG7HSK.F.PG7.A(B/G) 9 00 005 1070 29 00 005 1070 1

4-8 15.2 8 63 19 100PG9HSK.F.PG9.A(B/G) 9 00 005 1090 29 00 005 1090 1

5-10 18.6 8 78 22 50PG11HSK.F.PG11.A(B/G) 9 00 005 1110 29 00 005 1110 1

6-12 20.4 9 90 24 50PG13.5HSK.F.PG13.5.A(B/G) 9 00 005 1130 29 00 005 1130 1

10-14 22.5 10 100 27 25PG16HSK.F.PG16.A(B/G) 9 00 005 1160 29 00 005 1160 1

13-18 28.3 11 114 33 25PG21HSK.F.PG21.A(B/G) 9 00 005 1210 29 00 005 1210 1

2-5 12.5 8 54 15 100PG7HSK.F.PG7.B(B/G) 9 00 005 1071 29 00 005 1071 1

2-6 15.2 8 63 19 100PG9HSK.F.PG9.B(B/G) 9 00 005 1091 29 00 005 1091 1

3-7 18.6 8 78 22 50PG11HSK.F.PG11.B(B/G) 9 00 005 1111 29 00 005 1111 1

5-10 20.4 9 90 24 50PG13.5HSK.F.PG13.5.B(B/G) 9 00 005 1131 29 00 005 1131 1

7-12 22.5 10 100 27 25PG16HSK.F.PG16.B(B/G) 9 00 005 1161 29 00 005 1161 1

9-16 28.3 11 114 33 25PG21HSK.F.PG21.B(B/G) 9 00 005 1211 29 00 005 1211 1

��
��

<



014



015

����



DPK���� — ���	
�

12

16

18

20

25

32

40

50

63

8

8

8

9

11

11

13

15

15

11

11

11

12

14.5

14.5

16.5

18.5

21

9 00 006 0120 1

9 00 006 0160 1

9 00 006 0180 1

9 00 006 0200 1

9 00 006 0250 1

9 00 006 0320 1

9 00 006 0400 1

9 00 006 0500 1

9 00 006 0630 1

100

100

100

100

50

50

30

30

10

9 00 006 0120 2

9 00 006 0160 2

9 00 006 0180 2

9 00 006 0200 2

9 00 006 0250 2

9 00 006 0320 2

9 00 006 0400 2

9 00 006 0500 2

9 00 006 0630 2

M12X1.5

M16X1.5

M18X1.5

M20X1.5

M25X1.5

M32X1.5

M40X1.5

M50X1.5

M63X1.5

� �：PA

�	
�： ，
���� ����,�	
�����IP68IP56 O

����：-40℃-100℃

� !"：#"(RAL9005),$%"(RAL )7047

&'
�：UL94-V2

DPK.M12（B/G）

DPK.M16（B/G）

DPK.M18（B/G）

DPK.M20（B/G）

DPK.M25（B/G）

DPK.M32（B/G）

DPK.M40（B/G）

DPK.M50（B/G）

DPK.M63（B/G）

016

H
mm

GL
mm

AG
mm

15

20

23

25

30

38

46

56

69

RoHs IP56

*+ ./3: ;<+（$%"） ;<+（#"）D
mm

112?

@B�� :

D

AG

H

G
L

�
�

D
E

�
F

G
H

�
�

�
�

J
K

D
E

�
F

G
H

J
K

�
�

�
M

N
M

O
Q

�
�

�
�

�
S

T
�

�
S

T
G

H
/
X

�
J

K
S

T
J

K
S

T
G

H
Y

Z
O

Q

��
��

<



DPK���� — PG�	
�

12.5

15.2

18.6

20.4

22.5

28.3

37

47

54

59.3

8

8

8

9

10

11

11

13

15

15

16

19

23

25

27

33

44

55

62

69

11

11

11

12

13

14.5

14.5

16.5

18.5

21

9 00 006 1070 1

9 00 006 1090 1

9 00 006 1110 1

9 00 006 1130 1

9 00 006 1160 1

9 00 006 1210 1

9 00 006 1290 1

9 00 006 1360 1

9 00 006 1420 1

9 00 006 1480 1

100

100

100

100

100

50

50

30

30

10

9 00 006 1070 2

9 00 006 1090 2

9 00 006 1110 2

9 00 006 1130 2

9 00 006 1160 2

9 00 006 1210 2

9 00 006 1290 2

9 00 006 1360 2

9 00 006 1420 2

9 00 006 1480 2

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

� �：PA

�	
�： ，
���� ����,�	
�����IP68IP56 O

����：-40℃-100℃

� !"：#"(RAL9005),$%"(RAL )7047

&'
�：UL94-V2

DPK.PG7（B/G）

DPK.PG9（B/G）

DPK.PG11（B/G）

DPK.PG13.5（B/G）

DPK.PG16（B/G）

DPK.PG21（B/G）

DPK.PG29（B/G）

DPK.PG36（B/G）

DPK.PG42（B/G）

DPK.PG48（B/G）

�
�

D
E

�
F

G
H

�
�

�
�

J
K

D
E

�
F

G
H

J
K

�
�

�
M

N
M

O
Q

�
�

�
�

�
S

T
�

�
S

T
G

H
/
X

�
J

K
S

T
J

K
S

T
G

H
Y

Z
O

Q

017

RoHs IP56

H
mm

GL
mm

AG
mm

*+ ./3: ;<+（$%"） ;<+（#"）D
mm

112?

@B��:

D

AG

H

G
L

��
��

<



REK���� — ���	
��

018

RoHs IP56

112 ?

@B�� :

SW

AG

IG

H

G
L

�[A

M12X1.5

M16X1.5

M20X1.5

M25X1.5

M32X1.5

M40X1.5

M50X1.5

8

9

11

11

13

14

15

12

13

16

16

19

22

24

18

24

29

36

45

55

68

M16X1.5

M20X1.5

M25X1.5

M32X1.5

M40X1.5

M50X1.5

M63X1.5

REK.M16(B/G)

REK.M20(B/G)

REK.M25(B/G)

REK.M32(B/G)

REK.M40(B/G)

REK.M50(B/G)

REK.M63(B/G)

100

100

50

50

30

30

10

H
mm

GL
mm

*+
./3:

AG

9 00 007 0160 1

9 00 007 0200 1

9 00 007 0250 1

9 00 007 0320 1

9 00 007 0400 1

9 00 007 0500 1

9 00 007 0630 1

;<+（$%"）

9 00 007 0160 2

9 00 007 0200 2

9 00 007 0250 2

9 00 007 0320 2

9 00 007 0400 2

9 00 007 0500 2

9 00 007 0630 2

;<+（#"）
./3:

IG
SW
mm

�[

A

A

A

A

A

A

A

� �：PA

�	
�： ，
���� ����,�	
�����IP68IP56 O

����：-40℃-100℃

� !"：#"(RAL9005),$%"(RAL )7047

&'
�：UL94-V2

�
�

D
E

�
F

G
H

�
�

�
�

J
K

D
E

�
F

G
H

J
K

�
�

�
M

N
M

O
Q

�
�

�
�

�
S

T
�

�
S

T
G

H
/
X

�
J

K
S

T
J

K
S

T
G

H
Y

Z
O

Q

��
��

<



REK���� — PG�	
��

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

8

8

9

9

10

11

11

12

12

14

14

16

16

17

18

22

24

23

27

33

40

9 00 007 1090 1

9 00 007 1110 1

9 00 007 1130 1

9 00 007 1160 1

9 00 007 1210 1

9 00 007 1290 1

9 00 007 1360 1

100

100

100

100

50

50

30

9 00 007 1090 2

9 00 007 1110 2

9 00 007 1130 2

9 00 007 1160 2

9 00 007 1210 2

9 00 007 1290 2

9 00 007 1360 2

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

B

B

B

B

A

A

A

REK.PG9(B/G)

REK.PG11(B/G)

REK.PG13.5(B/G)

REK.PG16(B/G)

REK.PG21(B/G)

REK.PG29(B/G)

REK.PG36(B/G)

�
�

D
E

�
F

G
H

�
�

�
�

J
K

D
E

�
F

G
H

J
K

�
�

�
M

N
M

O
Q

�
�

�
�

�
S

T
�

�
S

T
G

H
/
X

�
J

K
S

T
J

K
S

T
G

H
Y

Z
O

Q

019

RoHs IP56

H
mm

GL
mm

*+
./3:

AG
;<+（$%"） ;<+（#"）

./3:

IG
SW
mm

�[

�[A �[B

112?

@B��:

SW

AG

IG

H

G
L

SW

AG

IG

G
L

H� �：PA

�	
�： ，
���� ����,�	
�����IP68IP56 O

����：-40℃-100℃

� !"：#"(RAL9005),$%"(RAL )7047

&'
�：UL94-V2

��
��

<



EWK���� — ���	���

� �：PA

�	
�： ，
���� ����,�	
�����IP68IP56 O

����：-40℃-100℃

� !"：#"(RAL9005),$%"(RAL )7047

&'
�：UL94-V2

020

M16X1.5

M20X1.5

M25X1.5

M32X1.5

M40X1.5

M50X1.5

M63X1.5

8

8

9

11

11

13

14

22

23

27

30

34

37

41

20

24

30

36

45

54

68

100

100

50

50

30

30

10

M12X1.5

M16X1.5

M20X1.5

M25X1.5

M32X1.5

M40X1.5

M50X1.5

9 00 008 0120 1

9 00 008 0160 1

9 00 008 0200 1

9 00 008 0250 1

9 00 008 0320 1

9 00 008 0400 1

9 00 008 0500 1

9 00 008 0120 2

9 00 008 0160 2

9 00 008 0200 2

9 00 008 0250 2

9 00 008 0320 2

9 00 008 0400 2

9 00 008 0500 2

EWK.M12(B/G)

EWK.M16(B/G)

EWK.M20(B/G)

EWK.M25(B/G)

EWK.M32(B/G)

EWK.M40(B/G)

EWK.M50(B/G)

RoHs IP56

H
mm

GL
mm

*+
./3:

AG
;<+（$%"） ;<+（#"）

./3:

IG
SW
mm

112?

@B��:

SW

AG

IG

G
L

H

�
�

D
E

�
F

G
H

�
�

�
�

J
K

D
E

�
F

G
H

J
K

�
�

�
M

N
M

O
Q

�
�

�
�

�
S

T
�

�
S

T
G

H
/
X

�
J

K
S

T
J

K
S

T
G

H
Y

Z
O

Q

��
��

<



EWK���� — PG�	���

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

8

8

8

9

10

11

11

13

15

20

23

23

26

29

32

35

41

46

19

23

24

27

32

42

53

60

65

100

100

100

100

50

50

30

30

10

� �： PA

�	
�： ，
���� ����,�	
�����IP68IP56 O

����：-40℃-100℃

� !"：#"(RAL9005),$%"(RAL     )7047

&'
�：UL94-V2

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

9 00 008 1070 1

9 00 008 1090 1

9 00 008 1110 1

9 00 008 1130 1

9 00 008 1160 1

9 00 008 1210 1

9 00 008 1290 1

9 00 008 1360 1

9 00 008 1420 1

9 00 008 1070 2

9 00 008 1090 2

9 00 008 1110 2

9 00 008 1130 2

9 00 008 1160 2

9 00 008 1210 2

9 00 008 1290 2

9 00 008 1360 2

9 00 008 1420 2

EWK.PG7(B/G)

EWK.PG9(B/G)

EWK.PG11(B/G)

EWK.PG13.5(B/G)

EWK.PG16(B/G)

EWK.PG21(B/G)

EWK.PG29(B/G)

EWK.PG36(B/G)

EWK.PG42(B/G)

�
�

D
E

�
F

G
H

�
�

�
�

J
K

D
E

�
F

G
H

J
K

�
�

�
M

N
M

O
Q

�
�

�
�

�
S

T
�

�
S

T
G

H
/
X

�
J

K
S

T
J

K
S

T
G

H
Y

Z
O

Q

021

RoHs IP56

H
mm

GL
mm

*+
./3:

AG
;<+（$%"） ;<+（#"）

./3:

IG
SW
mm

112?

@B��:

SW

AG

IG

G
L

H

��
��

<



GMK���� — ���	��

5

5

6

6

6

7

8

8

8

19

22

27

30

32

41

50

60

75

9 00 009 0120 1

9 00 009 0160 1

9 00 009 0200 1

9 00 009 0220 1

9 00 009 0250 1

9 00 009 0320 1

9 00 009 0400 1

9 00 009 0500 1

9 00 009 0630 1

200

200

200

200

200

100

100

60

60

9 00 009 0120 2

9 00 009 0160 2

9 00 009 0200 2

9 00 009 0220 2

9 00 009 0250 2

9 00 009 0320 2

9 00 009 0400 2

9 00 009 0500 2

9 00 009 0630 2

M12X1.5

M16X1.5

M20X1.5

M22X1.5

M25X1.5

M32X1.5

M40X1.5

M50X1.5

M63X1.5

� �： PA

����：-40℃-100℃

� !"：#"(RAL9005),$%"(RAL )

&'
�：

7047

UL94-V2

GMK.M12(B/G)

GMK.M16(B/G)

GMK.M20(B/G)

GMK.M22(B/G)

GMK.M25(B/G)

GMK.M32(B/G)

GMK.M40(B/G)

GMK.M50(B/G)

GMK.M63(B/G)

022

RoHs

H
mm

*+ ;<+（$%"） ;<+（#"）
./3:

IG
SW
mm

SW

IG

H

�
�

D
E

�
F

G
H

�
�

�
�

J
K

D
E

�
F

G
H

J
K

�
�

�
M

N
M

O
Q

�
�

�
�

�
S

T
�

�
S

T
G

H
/
X

�
J

K
S

T
J

K
S

T
G

H
Y

Z
O

Q

��
��

<



GMK���� — PＧ�	��

� �：PA

����：-40℃-100℃

� !"：#"(RAL9005),$%"(RAL )7047

&'
�：UL94-V2

�
�

D
E

�
F

G
H

�
�

�
�

J
K

D
E

�
F

G
H

J
K

�
�

�
M

N
M

O
Q

�
�

�
�

�
S

T
�

�
S

T
G

H
/
X

�
J

K
S

T
J

K
S

T
G

H
Y

Z
O

Q

023

RoHs

5

5

5

6

6

7

7

8

8

8

19

22

24

27

30

36

45

60

65

70

9 00 009 1070 1

9 00 009 1090 1

9 00 009 1110 1

9 00 009 1130 1

9 00 009 1160 1

9 00 009 1210 1

9 00 009 1290 1

9 00 009 1360 1

9 00 009 1420 1

9 00 009 1480 1

200

200

200

200

200

100

100

60

60

20

9 00 009 1070 2

9 00 009 1090 2

9 00 009 1110 2

9 00 009 1130 2

9 00 009 1160 2

9 00 009 1210 2

9 00 009 1290 2

9 00 009 1360 2

9 00 009 1420 2

9 00 009 1480 2

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

GMK.PG7(B/G)

GMK.PG9(B/G)

GMK.PG11(B/G)

GMK.PG13.5(B/G)

GMK.PG16(B/G)

GMK.PG21(B/G)

GMK.PG29(B/G)

GMK.PG36(B/G)

GMK.PG42(B/G)

GMK.PG48(B/G)

H
mm

*+ ;<+（$%"） ;<+（#"）
./3:

IG
SW
mm

SW

IG

H

��
��

<



GMK���� — G���	��

5

5

6

6

7

8

8

8

19

22

30

32

41

50

60

75

9 00 009 2020 1

9 00 009 2030 1

9 00 009 2040 1

9 00 009 2060 1

9 00 009 2080 1

9 00 009 2100 1

9 00 009 2120 1

9 00 009 2140 1

100

100

100

50

50

25

25

25

G1/4"

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

� �： PA

����： -40℃-100℃

� !"：#"(RAL9005),$%"(RAL )7047

&'
�：UL94-V2

GMK.G1/4(B/G)

GMK.G3/8(B/G)

GMK.G1/2(B/G)

GMK.G3/4(B/G)

GMK.G1(B/G)

GMK.G1.1/4(B/G)

GMK.G1.1/2(B/G)

GMK.G2(B/G)

024

RoHs

H
mm

*+ ;<+（$%"） ;<+（#"）
./3:

IG
SW
mm

9 00 009 2020 2

9 00 009 2030 2

9 00 009 2040 2

9 00 009 2060 2

9 00 009 2080 2

9 00 009 2100 2

9 00 009 2120 2

9 00 009 2140 2

SW

IG

H

�
�

D
E

�
F

G
H

�
�

�
�

J
K

D
E

�
F

G
H

J
K

�
�

�
M

N
M

O
Q

�
�

�
�

�
S

T
�

�
S

T
G

H
/
X

�
J

K
S

T
J

K
S

T
G

H
Y

Z
O

Q

��
��

<



025



026



027

�������	



028

RoHs

HSM���� — ���	��
���


 �：
���

� � �：PA

� � �：����

����：��� !"#$%,&'()* ��+,����-./0IP68

1234：- ℃- ℃40 100

34#$：<=：- ℃0 ℃ >?@-/0 ℃ B=：- ℃0 ℃ >?@-/0 ℃40 100  , 120  , 20 80  , 100

EF��：UL94-V2

HJ KM�N H
mm

GL
mm

AG
mm SW

mm

OQJ��#$
mm

AG

SW

G
L

H

3-6.5

2-5

4-8

2-6

5-10

5-10

6-12

5-10

6-12

7-12

10-14

13-18

9-16

13-18

9-16

9-16

13-18

18-25

13-20

15-21

18-25

13-20

18-25

22-32

20-26

19-27

22-32

22-32

32-38

25-31

32-38

37-44

37-44

29-35

37-44

12

12

16

16

16

18

20

20

22

24

24

25

25

27

27

30

30

32

32

32

33

36

36

40

40

40

42

48

50

50

56

60

63

63

64

6.5

6.5

6

6

6

6

6

6

6

6

6

7

7

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

9

9

9

10

10

10

10

19

19

21

21

22

22

23

23

24

24

24

26

26

25

26

26

26

31

31

33

34

34

34

37

37

33

40

40

37

37

42

43

38

38

43

50

50

50

50

50

50

50

50

50

50

50

20

20

20

20

20

20

20

20

20

20

20

20

10

10

10

10

10

10

10

5

5

5

5

5

M12×1.5

M12×1.5

M16×1.5

M16×1.5

M16×1.5

M18×1.5

M20×1.5

M20×1.5

M22×1.5

M24×1.5

M24×1.5

M25×1.5

M25×1.5

M27×2.0

M27×2.0

M30×2.0

M30×2.0

M32×1.5

M32×1.5

M32×1.5

M33×2.0

M36×2.0

M36×2.0

M40×1.5

M40×1.5

M40×1.5

M42×2.0

M48×2.0

M50×1.5

M50×1.5

M56×2.0

M60×2.0

M63×1.5

M63×1.5

M64×2.0

14

14

17/19

17/19

20

20

22

22

24

27

27

30

30

30

30

32

32

40

40

36

40

40

40

50

50

46

50

50

57

57

60

65

64/68

64/68

68

HSM.M12.A

HSM.M12.B

HSM.M16.A

HSM.M16.B

HSM.M16.C

HSM.M18

HSM.M20.A

HSM.M20.B

HSM.M22

HSM.M24.A

HSM.M24.B

HSM.M25.A

HSM.M25.B

HSM.M27.A

HSM.M27.B

HSM.M30.A

HSM.M30.B

HSM.M32.A

HSM.M32.B

HSM.M32.C

HSM.M33

HSM.M36.A

HSM.M36.B

HSM.M40.A

HSM.M40.B

HSM.M40.C

HSM.M42

HSM.M48

HSM.M50.A

HSM.M50.B

HSM.M56

HSM.M60

HSM.M63.A

HSM.M63.B

HSM.M64

90001001200

90001001210

90001001600

90001001610

90001001620

90001001800

90001002000

90001002010

90001002200

90001002400

90001002410

90001002500

90001002510

90001002700

90001002710

90001003000

90001003010

90001003200

90001003210

90001003220

90001003300

90001003600

90001003610

90001004000

90001004010

90001004020

90001004200

90001004800

90001005000

90001005010

90001005600

90001006000

90001006300

90001006310

90001006400

R
S

�
�

�
�

�
	

R
S

T
�

�
�

�
�

�
�

�
	

�
�

T
�

�
W

X
W

Y
Z

�
�

�
R

S
[

\
R

S
[

\
�

	
/
^

�
�

�
[

\
�

�
[

\
�

	
_

`
Y

Z

��
��

<



HSM���� — PG�	��
���


 �：
���

� � �：PA

� � �：����

����：��� !"#$%,&'()* ��+,����-./0IP68

1234：- ℃- ℃40 100

34#$：<=：- ℃0 ℃ >?@-/0 ℃ B=：- ℃0 ℃ >?@-/0 ℃40 100  , 120  , 20 80  , 100

EF��：UL94-V2

12.5

12.5

15.2

15.2

18.6

18.6

20.4

20.4

22.5

22.5

28.3

28.3

37

37

47

47

54

54

59.3

59.3

5

5

6

6

6

6

6.5

6.5

6.5

6.5

7

7

8

8

8

8

9

9

10

10

19

19

21

21

22

22

24

24

23

23

24

24

29

29

35

35

37

37

38

38

14

14

17

17

20

20

22

22

24

24

30

30

40

40

50

50

57

57

64

64

50

50

50

50

50

50

50

50

50

50

20

20

20

20

10

10

10

10

5

5

3-6.5

2-5

4-8

2-6

5-10

3-7

6-12

5-10

10-14

7-12

13-18

9-16

18-25

13-20

22-32

20-26

32-38

25-31

37-44

29-35

HSM.PG7.A

HSM.PG7.B

HSM.PG9.A

HSM.PG9.B

HSM.PG11.A

HSM.PG11.B

HSM.PG13.5.A

HSM.PG13.5.B

HSM.PG16.A

HSM.PG16.B

HSM.PG21.A

HSM.PG21.B

HSM.PG29.A

HSM.PG29.B

HSM.PG36.A

HSM.PG36.B

HSM.PG42.A

HSM.PG42.B

HSM.PG48.A

HSM.PG48.B

9 00 010 1070 0

9 00 010 1071 0

9 00 010 1090 0

9 00 010 1091 0

9 00 010 1110 0

9 00 010 1111 0

9 00 010 1130 0

9 00 010 1131 0

9 00 010 1160 0

9 00 010 1161 0

9 00 010 1210 0

9 00 010 1211 0

9 00 010 1290 0

9 00 010 1291 0

9 00 010 1360 0

9 00 010 1361 0

9 00 010 1420 0

9 00 010 1421 0

9 00 010 1480 0

9 00 010 1481 0

PG7

PG7

PG9

PG9

PG11

PG11

PG13.5

PG13.5

PG16

PG16

PG21

PG21

PG29

PG29

PG36

PG36

PG42

PG42

PG48

PG48

R
S

�
�

�
�

�
	

R
S

T
�

�
�

�
�

�
�

�
	

�
�

T
�

�
W

X
W

Y
Z

�
�

�
R

S
[

\
R

S
[

\
�

	
/
^

�
�

�
[

\
�

�
[

\
�

	
_

`
Y

Z

029

RoHs

HJ KM�N H
mm

GL
mm

AG
mm SW

mm

OQJ��#$
mm

93b 112b

cdT� :

AG

SW

G
L

H

��
��

<



030

RoHs

HSM���� — NPT�	��
���

13.6

17

21.2

26.5

33.2

41.9

48

60

7

8

8

9

11

13

14

14

19

19

22

25

29

35

37

38

14

18

22

30

40

50

57

64

50

50

50

50

20

10

10

5

3-6.5

4-8

6-12

13-18

18-25

25-33

32-38

37-44

NPT 1/4"

NPT 3/8"

NPT 1/2"

NPT 3/4"

NPT 1"

NPT 1-1/4"

NPT 1-1/2"

NPT 2"


 �：
���

� � �：PA

� � �：����

����：��� !"#$%,&'()* ��+,����-./0IP68

1234：- ℃- ℃40 100

34#$：<=:- ℃0 ℃ >?@-/0 ℃ B=:- ℃0 ℃ >?@-/0 ℃40 100  , 120  , 20 80  , 100

EF��：UL94-V2

9 00 010 3030 0

9 00 010 3040 0

9 00 010 3050 0

9 00 010 3060 0

9 00 010 3070 0

9 00 010 3080 0

9 00 010 3090 0

9 00 010 3100 0

HSM.NPT1/4

HSM.NPT3/8

HSM.NPT1/2

HSM.NPT3/4

HSM.NPT1

HSM.NPT1.1/4

HSM.NPT1.1/2

HSM.NPT2

HJ KM�N H
mm

GL
mm

AG
mm SW

mm

OQJ��#$
mm

94 � 112 �

cdT� :

AG

SW

G
L

H

R
S

�
�

�
�

�
	

R
S

T
�

�
�

�
�

�
�

�
	

�
�

T
�

�
W

X
W

Y
Z

�
�

�
R

S
[

\
R

S
[

\
�

	
/
^

�
�

�
[

\
�

�
[

\
�

	
_

`
Y

Z

��
��

<



HSM���� — G���	��
���

031


 �：
���

� � �：PA

� � �：����

����：��� !"#$%,&'()* ��+,����-./0IP68

1234：- ℃- ℃40 100

34#$：<=:- ℃0 ℃ >?@-/0 ℃ B=:- ℃0 ℃ >?@-/0 ℃40 100  , 120  , 20 80  , 100

EF��：UL94-V2

RoHs

R
S

�
�

�
�

�
	

R
S

T
�

�
�

�
�

�
�

�
	

�
�

T
�

�
W

X
W

Y
Z

�
�

�
R

S
[

\
R

S
[

\
�

	
/
^

�
�

�
[

\
�

�
[

\
�

	
_

`
Y

Z

9 b5 112b

cdT�:

AG

SW

G
L

H

13.1

16.6

20.9

26.4

33.2

41.9

47.8

59.6

19

19

22

25

29

35

37

38

14

18

22

30

40

50

57

68

50

50

50

50

20

10

10

5

3-6.5

4-8

6-12

13-18

18-25

22-32

32-38

37-44

HSM.G1/4

HSM.G3/8

HSM.G1/2

HSM.G3/4

HSM.G1

HSM.G1.1/4

HSM.G1.1/2

HSM.G2

9 00 010 2020 0

9 00 010 2030 0

9 00 010 2040 0

9 00 010 2060 0

9 00 010 2080 0

9 00 010 2100 0

9 00 010 2120 0

9 00 010 2140 0

G1/4"

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

HJ KM�N H
mm

GL
mm

AG
mm SW

mm

OQJ��#$
mm

7

8

8

8

9

9

10

11

��
��

<



032

RoHs

HSM���� — ��
���	��
���

12

12

16

16

16

18

20

20

22

24

24

25

25

27

27

30

30

32

32

32

33

36

36

40

40

40

42

48

50

50

56

60

63

63

64

10

10

10

10

10

10

10

10

10

10

10

12

12

12

12

12

12

12

12

12

12

12

12

15

15

15

15

15

15

15

15

15

15

15

15

19

19

21

21

22

22

23

23

24

24

24

26

26

25

26

26

26

31

31

37

34

34

34

37

37

37

40

40

37

37

42

43

38

38

43

14

14

17/19

17/19

20

20

22

22

24

27

27

30

30

30

30

32

32

40

40

36

40

40

40

50

50

46

50

50

57

57

60

65

64/68

64/68

67

50

50

50

50

50

50

50

50

50

50

50

20

20

20

20

20

20

20

20

20

20

20

20

10

10

10

10

10

10

10

10

10

5

5

5

3-6.5

2-5

4-8

2-6

5-10

5-10

6-12

5-9

10-14

7-12

10-14

13-18

9-16

13-18

9-16

9-16

13-18

18-25

13-20

15-21

18-25

13-20

18-25

22-32

20-26

19-27

22-32

22-32

32-38

25-31

32-38

37-44

37-44

29-35

37-44

HSM.L.M12.A

HSM.L.M12.B

HSM.L.M16.A

HSM.L.M16.B

HSM.L.M16.C

HSM.L.M18

HSM.L.M20.A

HSM.L.M20.B

HSM.L.M22

HSM.L.M24.A

HSM.L.M24.B

HSM.L.M25.A

HSM.L.M25.B

HSM.L.M27.A

HSM.L.M27.B

HSM.L.M30.A

HSM.L.M30.B

HSM.L.M32.A

HSM.L.M32.B

HSM.L.M32.C

HSM.L.M33

HSM.L.M36.A

HSM.L.M36.B

HSM.L.M40.A

HSM.L.M40.B

HSM.L.M40.C

HSM.L.M42

HSM.L.M48

HSM.L.M50.A

HSM.L.M50.B

HSM.L.M56

HSM.L.M60

HSM.L.M63.A

HSM.L.M63.B

HSM.L.M64

9 00 011 0120 0

9 00 011 0121 0

9 00 011 0160 0

9 00 011 0161 0

9 00 011 0162 0

9 00 011 0180 0

9 00 011 0200 0

9 00 011 0201 0

9 00 011 0220 0

9 00 011 0240 0

9 00 011 0241 0

9 00 011 0250 0

9 00 011 0251 0

9 00 011 0270 0

9 00 011 0271 0

9 00 011 0300 0

9 00 011 0301 0

9 00 011 0320 0

9 00 011 0321 0

9 00 011 0322 0

9 00 011 0330 0

9 00 011 0360 0

9 00 011 0361 0

9 00 011 0400 0

9 00 011 0401 0

9 00 011 0402 0

9 00 011 0420 0

9 00 011 0480 0

9 00 011 0500 0

9 00 011 0501 0

9 00 011 0560 0

9 00 011 0600 0

9 00 011 0630 0

9 00 011 0631 0

9 00 011 0640 0

M12×1.5

M12×1.5

M16×1.5

M16×1.5

M16×1.5

M18×1.5

M20×1.5

M20×1.5

M22×1.5

M24×1.5

M24×1.5

M25×1.5

M25×1.5

M27×2.0

M27×2.0

M30×2.0

M30×2.0

M32×1.5

M32×1.5

M32×1.5

M33×2.0

M36×2.0

M36×2.0

M40×1.5

M40×1.5

M40×1.5

M42×2.0

M48×2.0

M50×1.5

M50×1.5

M56×2.0

M60×2.0

M63×1.5

M63×1.5

M64×2.0

�
�

�
�


 �：
���

� � �： AP

� � �：����

����：��� !"#$%,&'()* ��+,����-./0IP68

1234：- ℃- ℃40 100

34#$：<=:- ℃0 ℃ >?@-/0 ℃ B=:- ℃0 ℃ >?@-/0 ℃40 100  , 120  , 20 80  , 100

EF��：UL94-V2

HJ KM�N H
mm

GL
mm

AG
mm SW

mm

OQJ��#$
mm

AG

SW

G
L

H

R
S

�
�

�
�

�
	

R
S

T
�

�
�

�
�

�
�

�
	

�
�

T
�

�
W

X
W

Y
Z

�
�

�
R

S
[

\
R

S
[

\
�

	
/
^

�
�

�
[

\
�

�
[

\
�

	
_

`
Y

Z

��
��

<



HSM���� — PG
���	��
���

12.5

12.5

15.2

15.2

18.6

18.6

20.4

20.4

22.5

22.5

28.3

28.3

37

37

47

47

54

54

59.3

59.3

10

10

10

10

10

10

10

10

10

10

12

12

12

12

15

15

15

15

15

15

19

19

21

21

22

22

24

24

23

23

24

24

29

29

35

35

37

37

38

38

14

14

17

17

20

20

22

22

24

24

30

30

40

40

50

50

57

57

64

64

50

50

50

50

50

50

50

50

50

50

20

20

20

20

10

10

10

10

5

5

3-6.5

2-5

4-8

2-6

5-10

3-7

6-12

5-9

10-14

7-12

13-18

9-16

18-25

13-20

22-32

20-26

32-38

25-31

37-44

29-35

HSM.L.PG7.A

HSM.L.PG7.B

HSM.L.PG9.A

HSM.L.PG9.B

HSM.L.PG11.A

HSM.L.PG11.B

HSM.L.PG13.5.A

HSM.L.PG13.5.B

HSM.L.PG16.A

HSM.L.PG16.B

HSM.L.PG21.A

HSM.L.PG21.B

HSM.L.PG29.A

HSM.L.PG29.B

HSM.L.PG36.A

HSM.L.PG36.B

HSM.L.PG42.A

HSM.L.PG42.B

HSM.L.PG48.A

HSM.L.PG48.B

9 00 011 1070 0

9 00 011 1071 0

9 00 011 1090 0

9 00 011 1091 0

9 00 011 1110 0

9 00 011 1111 0

9 00 011 1130 0

9 00 011 1131 0

9 00 011 1160 0

9 00 011 1161 0

9 00 011 1210 0

9 00 011 1211 0

9 00 011 1290 0

9 00 011 1291 0

9 00 011 1360 0

9 00 011 1361 0

9 00 011 1420 0

9 00 011 1421 0

9 00 011 1480 0

9 00 011 1481 0

PG7

PG7

PG9

PG9

PG11

PG11

PG13.5

PG13.5

PG16

PG16

PG21

PG21

PG29

PG29

PG36

PG36

PG42

PG42

PG48

PG48

R
S

�
�

�
�

�
	

R
S

T
�

�
�

�
�

�
�

�
	

�
�

T
�

�
W

X
W

Y
Z

�
�

�
R

S
[

\
R

S
[

\
�

	
/
^

�
�

�
[

\
�

�
[

\
�

	
_

`
Y

Z

033

RoHs


 �：
���

� � �：PA

� � �：����

����：��� !"#$%,&'()* ��+,����-./0IP68

1234：- ℃- ℃40 100

34#$：<=:- ℃0 ℃ >?@-/0 ℃ B=:- ℃0 ℃ >?@-/0 ℃40 100  , 120  , 20 80  , 100

EF��：UL94-V2

HJ KM�N H
mm

GL
mm

AG
mm SW

mm

OQJ��#$
mm

93b 112b

cdT�:

AG

SW

G
L

H

��
��

<



034

HSM���� — �����	��
���


 �：
���

� � �：PA

� � �：����

����： P65I IP68（�!"=h" ijk-/0 ）

1234：- ℃- ℃40 100

34#$：<=:- ℃0 ℃ >?@-/0 ℃ B=:- ℃0 ℃ >?@-/0 ℃40 100  , 120  , 20 80  , 100

EF��：UL94-V2

HJ KM�N H
mm

GL
mm

AG
mm SW

mm

OQJhl h"
mm

92b 112b

cdT�:

16.0

20.0

20.0

20.0

25.0

25.0

32.0

32.0

32.0

40.0

40.0

40.0

50.0

50.0

63.0

63.0

6

6

6

6

7

7

8

8

8

8

8

8

9

9

10

10

21

23

23

23

26

26

31

31

31

37

37

37

37

37

38

38

17/19

22

22

22

30

30

40

40

40

50

50

50

57

57

64/68

64/68

50

50

50

50

20

20

20

20

20

10

10

10

10

10

5

5

4×1.4

6×3

2×5

3×4

4×6

3×7

10×6

4×9

6×6.5

9×7

2×15

3×10

4×12

3×15

6×12

3×18

HSM.MU.M16.A

HSM.MU.M20.A

HSM.MU.M20.B

HSM.MU.M20.C

HSM.MU.M25.A

HSM.MU.M25.B

HSM.MU.M32.A

HSM.MU.M32.B

HSM.MU.M32.C

HSM.MU.M40.A

HSM.MU.M40.B

HSM.MU.M40.C

HSM.MU.M50.A

HSM.MU.M50.B

HSM.MU.M63.A

HSM.MU.M63.B

9 00 012 0160 0

9 00 012 0200 0

9 00 012 0201 0

9 00 012 0202 0

9 00 012 0250 0

9 00 012 0251 0

9 00 012 0320 0

9 00 012 0321 0

9 00 012 0322 0

9 00 012 0400 0

9 00 012 0401 0

9 00 012 0402 0

9 00 012 0500 0

9 00 012 0501 0

9 00 012 0630 0

9 00 012 0631 0

M16×1.5

M20×1.5

M20×1.5

M20×1.5

M25×1.5

M25×1.5

M32×1.5

M32×1.5

M32×1.5

M40×1.5

M40×1.5

M40×1.5

M50×1.5

M50×1.5

M63×1.5

M63×1.5

AG

SW

G
L

H

RoHs

R
S

�
�

�
�

�
	

R
S

T
�

�
�

�
�

�
�

�
	

�
�

T
�

�
W

X
W

Y
Z

�
�

�
R

S
[

\
R

S
[

\
�

	
/
^

�
�

�
[

\
�

�
[

\
�

	
_

`
Y

Z

��
��

<



HSM���� — PG���	��
���


 �：
���

� � �： AP

� � �：����

����： P65I IP68（�!"=h" ijk-/0 ）

1234：- ℃- ℃40 100

34#$：<=:- ℃0 ℃ >?@-/0 ℃ B=:- ℃0 ℃ >?@-/0 ℃40 100  , 120  , 20 80  , 100

EF��：UL94-V2

15.2

18.6

18.6

20.4

20.4

20.4

22.5

22.5

22.5

22.5

28.3

28.3

37

37

37

47

47

47

54

54

59.3

59.3

6

6

6

6.5

6.5

6.5

6.5

6.5

6.5

6.5

7

7

8

8

8

8

8

8

9

9

10

10

21

22

22

24

24

24

23

23

23

23

24

24

29

29

29

35

35

35

37

37

38

38

17

20

20

22

22

22

24

24

24

24

30

30

40

40

40

50

50

50

57

57

64

64

50

50

50

50

50

50

50

50

50

50

20

20

20

20

20

10

10

10

10

10

5

5

4×1.4

2×4

3×3

3×4

2×5

6×3

4×4

6×4

2×6

7×3

4×6

3×7

6×6.5

4×9

10×6

9×7

2×15

3×10

4×13

3×15

6×12

3×18

HSM.MU.PG9.A

HSM.MU.PG11.A

HSM.MU.PG11.B

HSM.MU.PG13.5.A

HSM.MU.PG13.5.B

HSM.MU.PG13.5.C

HSM.MU.PG16.A

HSM.MU.PG16.B

HSM.MU.PG16.C

HSM.MU.PG16.D

HSM.MU.PG21.A

HSM.MU.PG21.B

HSM.MU.PG29.A

HSM.MU.PG29.B

HSM.MU.PG29.C

HSM.MU.PG36.A

HSM.MU.PG36.B

HSM.MU.PG36.C

HSM.MU.PG42.A

HSM.MU.PG42.B

HSM.MU.PG48.A

HSM.MU.PG48.B

9 00 012 1090 0

9 00 012 1110 0

9 00 012 1111 0

9 00 012 1130 0

9 00 012 1131 0

9 00 012 1132 0

9 00 012 1160 0

9 00 012 1161 0

9 00 012 1162 0

9 00 012 1163 0

9 00 012 1210 0

9 00 012 1211 0

9 00 012 1290 0

9 00 012 1291 0

9 00 012 1292 0

9 00 012 1360 0

9 00 012 1361 0

9 00 012 1362 0

9 00 012 1420 0

9 00 012 1421 0

9 00 012 1480 0

9 00 012 1481 0

PG9

PG11

PG11

PG13.5

PG13.5

PG13.5

PG16

PG16

PG16

PG16

PG21

PG21

PG29

PG29

PG29

PG36

PG36

PG36

PG42

PG42

PG48

PG48

R
S

�
�

�
�

�
	

R
S

T
�

�
�

�
�

�
�

�
	

�
�

T
�

�
W

X
W

Y
Z

�
�

�
R

S
[

\
R

S
[

\
�

	
/
^

�
�

�
[

\
�

�
[

\
�

	
_

`
Y

Z

035

HJ KM�N H
mm

GL
mm

AG
mm SW

mm

OQJ

9 b3 112b

cdT�:

hl h"
mm

AG

SW

G
L

H

RoHs

��
��

<



036

HSM���� — �����	��
���

20

25.0

25.0

32.0

40.0

40.0

40.0

50.0

63.0

6

7

7

8

8

8

8

9

10

23

26

26

31

37

37

37

37

38

22

30

30

40

50

50

50

57

64/68

50

20

20

20

10

10

10

10

5

12×7

14×7

14×6

22×8

30.5×12

31×7.5

28.5×10

33.5×11.5

38×12

HSM.FL.M20

HSM.FL.M25.A

HSM.FL.M25.B

HSM.FL.M32

HSM.FL.M40.A

HSM.FL.M40.B

HSM.FL.M40.C

HSM.FL.M50

HSM.FL.M63

90001302000

90001302500

90001302510

90001303200

90001304000

90001304010

90001304020

90001305000

90001306300

M20×1.5

M25×1.5

M25×1.5

M32×1.5

M40×1.5

M40×1.5

M40×1.5

M50×1.5

M63×1.5

HJ KM�N H
mm

GL
mm

AG
mm SW

mm

OQJm nx
mm

92b 112b

cdT� :

AG

SW

G
L

H

RoHs


 �：
���

� � �： PA

� � �：����

����： P65I IP68（�!"=h" ijk-/0 ）

1234：- ℃- ℃40 100

34#$：<=:- ℃0 ℃ >?@-/0 ℃ B=:- ℃0 ℃ >?@-/0 ℃40 100  , 120  , 20 80  , 100

EF��：UL94-V2

R
S

�
�

�
�

�
	

R
S

T
�

�
�

�
�

�
�

�
	

�
�

T
�

�
W

X
W

Y
Z

�
�

�
R

S
[

\
R

S
[

\
�

	
/
^

�
�

�
[

\
�

�
[

\
�

	
_

`
Y

Z

��
��

<



HSM���� — PG���	��
���

20.4

28.3

28.3

37

47

47

47

54

59.3

6.5

7

7

8

8

8

8

9

10

24

24

24

29

35

35

35

37

38

22

30

30

40

50

50

50

57

64

50

20

20

20

10

10

10

10

5

12×7

14×7

14×6

22×8

30.5×12

31×7.5

28.5×10

33.5×11.5

38×12

HSM.FL.PG13.5

HSM.FL.PG21.A

HSM.FL.PG21.B

HSM.FL.PG29

HSM.FL.PG36.A

HSM.FL.PG36.B

HSM.FL.PG36.C

HSM.FL.PG42

HSM.FL.PG48


 �：
���

� � �： AP

� � �： ����

����： P65I IP68（�!"=h" ijk-/0 ）

1234：- ℃- ℃40 100

34#$：<=:- ℃0 ℃ >?@-/0 B=:- ℃0 ℃ >?@-/0 ℃40 100  , 120 C , 20 80  , 100

EF�� : UL94-V2

PG21

PG29

PG36

PG36

PG36

PG42

PG48

PG21

PG13.5 90001311300

90001312100

90001312110

90001312900

90001313600

90001313610

90001313620

90001314200

90001314800

�
�

�
�

	



�
�

�
�

�
�



�

�
�

	



�
�



�

�
�

	
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
/�

�



�
�

�



�
�

�
�

�
�

�
�

�

037

m nx
mm

HJ KM�N H
mm

GL
mm

AG
mm SW

mm

OQJ

93b 112b

cdT�:

AG

SW

G
L

H

RoHs

��
��

<



HSM���� — ��
���	��
���


 �：
���

� � �： AP

� � �：����

�pqr：stu

����：��� !"#$%,&'()* ��+,����-./0IP68

34#$：<=:- ℃0 ℃ >?@-/0 ℃ B=:- ℃0 ℃ >?@-/0 ℃40 100  , 120  , 20 80  , 100

EF��：UL94-V2

12

12

16

16

16

16

20

20

20

20

25

25

6.5

6.5

6

6

6

6

6

6

6

6

7

7

55

55

66

66

77

77

88

88

98

98

111

111

14

14

19

19

20

20

22

22

24

24

30

30

50

50

50

50

50

50

50

50

50

50

20

20

3-6.5

2-5

4-8

2-6

5-10

3-7

6-12

5-9

10-14

7-12

13-18

9-16

HSM.F.M12.A

HSM.F.M12.B

HSM.F.M16.A

HSM.F.M16.B

HSM.F.M16.C

HSM.F.M16.D

HSM.F.M20.A

HSM.F.M20.B

HSM.F.M20.C

HSM.F.M20.D

HSM.F.M25.A

HSM.F.M25.B

M12×1.5

M12×1.5

M16×1.5

M16×1.5

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M20×1.5

M20×1.5

M25×1.5

M25×1.5

90001401200

90001401210

90001401600

90001401610

90001401620

90001401630

90001402000

90001402010

90001402020

90001402030

90001402500

90001402510

RoHs

038

HJ KM�N H
mm

GL
mm

AG
mm

OQJSW
mm

��#$
mm

92b 112b

cdT�:

AG

SW

G
L

H

R
S

�
�

�
�

�
	

R
S

T
�

�
�

�
�

�
�

�
	

�
�

T
�

�
W

X
W

Y
Z

�
�

�
R

S
[

\
R

S
[

\
�

	
/
^

�
�

�
[

\
�

�
[

\
�

	
_

`
Y

Z

��
��

<



R
S

�
�

�
�

�
	

R
S

T
�

�
�

�
�

�
�

�
	

�
�

T
�

�
W

X
W

Y
Z

�
�

�
R

S
[

\
R

S
[

\
�

	
/
^

�
�

�
[

\
�

�
[

\
�

	
_

`
Y

Z

RoHs

HSM���� — PG
���	��
���


 �：
���

� � �： AP

� � �：����

�pqr：stu

����：��� !"#$%,&'()* ��+,����-./0IP68

34#$：<=:- ℃0 ℃ >?@-/0 ℃ B=:- ℃0 ℃ >?@-/0 ℃40 100  , 120  , 20 80  , 100

EF��：UL94-V2

12.5

12.5

15.2

15.2

18.6

18.6

20.4

20.4

22.5

22.5

28.3

28.3

5

5

6

6

6

6

6.5

6.5

6.5

6.5

7

7

55

55

66

66

77

77

88

88

98

98

111

111

14

14

17

17

20

20

22

22

24

24

30

30

50

50

50

50

50

50

50

50

50

50

20

20

3-6.5

2-5

4-8

2-6

5-10

3-7

6-12

5-9

10-14

7-12

13-18

9-16

HSM.F.PG7.A

HSM.F.PG7.B

HSM.F.PG9.A

HSM.F.PG9.B

HSM.F.PG11.A

HSM.F.PG11.B

HSM.F.PG13.5.A

HSM.F.PG13.5.B

HSM.F.PG16.A

HSM.F.PG16.B

HSM.F.PG21.A

HSM.F.PG21.B

PG7

PG7

PG9

PG9

PG11

PG11

PG13.5

PG13.5

PG16

PG16

PG21

PG21

9 00 014 1070 0

9 00 014 1071 0

9 00 014 1090 0

9 00 014 1091 0

9 00 014 1110 0

9 00 014 1111 0

9 00 014 1130 0

9 00 014 1131 0

9 00 014 1160 0

9 00 014 1161 0

9 00 014 1210 0

9 00 014 1211 0

039

HJ KM�N H
mm

GL
mm

AG
mm

OQJSW
mm

��#$
mm

93b 112b

cdT�:

AG

SW

G
L

H

��
��

<



DHSM���� — ���	
����
���

12

16

16

20

20

25

32

40

50

50

63

63

6.5

6

6

6

6

7

8

8

9

9

10

10

26

28

30

33

33

37

43

50

51

51

52

52

14

17/19

20

22

24

30

40

50

57

57

64/68

64/68

50

50

50

50

50

20

20

10

10

10

5

5

3-6.5

4-8

6-10

6-12

10-14

13-18

18-25

22-32

32-38

25-31

37-44

29-35

DHSM.M12

DHSM.M16.A

DHSM.M16.B

DHSM.M20.A

DHSM.M20.B

DHSM.M25

DHSM.M32

DHSM.M40

DHSM.M50.A

DHSM.M50.B

DHSM.M63.A

DHSM.M63.B

� �：

� � �：

�	
�：�
�������,���������,�	
�����

� !"：- ℃- ℃

!"��：$%:- ℃� ℃ &'(��� ℃ )%:- ℃� ℃ &'(��� ℃

*+
�：

./01

2 3 �：

IP68

40 100

40 100  , 120  , 20 80  , 100

A

UL94-V2

P

=>?@

M12×1.5

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M25×1.5

M32×1.5

M40×1.5

M50×1.5

M50×1.5

M63×1.5

M63×1.5

9 00 016 0120 0

9 00 016 0160 0

9 00 016 0161 0

9 00 016 0200 0

9 00 016 0201 0

9 00 016 0250 0

9 00 016 0320 0

9 00 016 0400 0

9 00 016 0500 0

9 00 016 0501 0

9 00 016 0630 0

9 00 016 0631 0

040

RoHs

BC DE
F H
mm

GL
mm

AG
mm SW

mm

GHCJK��
mm

92M 112M

NOQ�:

AG

SW

G
L

H

R
S

J
K

�
T

W
X

R
S

Q
�

Y
Z

J
K

�
T

W
X

Y
Z

Q
�

�
[

\
[

]
^

�
�

�
R

S
_

`
R

S
_

`
W

X
/
b

�
Y

Z
_

`
Y

Z
_

`
W

X
c

d
]

^

��
��

<



R
S

J
K

�
T

W
X

R
S

Q
�

Y
Z

J
K

�
T

W
X

Y
Z

Q
�

�
[

\
[

]
^

�
�

�
R

S
_

`
R

S
_

`
W

X
/
b

�
Y

Z
_

`
Y

Z
_

`
W

X
c

d
]

^

041

RoHs

DHSM���� — PG�	
����
���

12.5

15.2

18.6

20.4

22.5

28.3

37

47

54

54

59.3

59.3

5

6

6

6.5

6.5

7

8

8

9

9

10

10

26

28

30

33

33

37

43

50

51

51

52

51

14

17

20

22

24

30

40

50

57

57

64

64

50

50

50

50

50

20

20

10

10

10

5

5

3-6.5

4-8

6-10

6-12

10-14

13-18

18-25

22-36

32-38

25-31

37-44

29-35

DHSM.PG7

DHSM.PG9

DHSM.PG11

DHSM.PG13.5

DHSM.PG16

DHSM.PG21

DHSM.PG29

DHSM.PG36

DHSM.PG42.A

DHSM.PG42.B

DHSM.PG48.A

DHSM.PG48.B

� �：

� � �：

�	
�：�
�������,���������,�	
�����

� !"：- ℃- ℃

!"��：$%:- ℃� ℃ &'(��� ℃ )%:- ℃� ℃ &'(��� ℃

*+
�：

./01

2 3 �：

IP68

40 100

40 100  , 120  , 20 80  , 100

A

UL94-V2

P

=>?@

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG42

PG48

PG48

9 00 016 1070 0

9 00 016 1090 0

9 00 016 1110 0

9 00 016 1130 0

9 00 016 1160 0

9 00 016 1210 0

9 00 016 1290 0

9 00 016 1360 0

9 00 016 1420 0

9 00 016 1421 0

9 00 016 1480 0

9 00 016 1481 0

BC DE
F H
mm

GL
mm

AG
mm SW

mm

GHCJK��
mm

9 M3 112M

NOQ�:

AG

SW

G
L

H

��
��

<



DHSM���� — NPT�	
����
���

4-8

7-12

13-18

18-25

15

13

13

19

28

33

37

43

17/19

22/24

30

40

50

50

20

20

17

21.2

26.5

33.2

DHSM.NPT3/8

DHSM.NPT1/2

DHSM.NPT3/4

DHSM.NPT1

NPT 3/8"

NPT 1/2"

NPT 3/4"

NPT 1"

9 00 016 3040 0

9 00 016 3050 0

9 00 016 3060 0

9 00 016 3070 0

042

RoHs

� �：

� � �：

�	
�：�
�������,���������,�	
�����

� !"：- ℃- ℃

!"��：$%:- ℃� ℃ &'(��� ℃ )%:- ℃� ℃ &'(��� ℃

*+
�：

./01

2 3 �：

IP68

40 100

40 100  , 120  , 20 80  , 100

A

UL94-V2

P

=>?@

BC DE
F H
mm

GL
mm

AG
mm SW

mm

GHCJK��
mm

9 M4 112M

NOQ�:

AG

SW

G
L

H

R
S

J
K

�
T

W
X

R
S

Q
�

Y
Z

J
K

�
T

W
X

Y
Z

Q
�

�
[

\
[

]
^

�
�

�
R

S
_

`
R

S
_

`
W

X
/
b

�
Y

Z
_

`
Y

Z
_

`
W

X
c

d
]

^

��
��

<



�
�

�
�

�
�

�
	

�
�



�

�



�
�

�
�

�
	

�





�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

	
/�

�
�



�

�
�



�

�
�

	
�

�
�

�

043

HSMS���� — �������
���

12

12

16

16

16

20

20

20

25

25

32

32

32

40

40

40

50

50

63

63

6.5

6.5

6

6

6

6

6

6

7

7

8

8

8

8

8

8

9

9

10

10

19

19

21

21

22

23

23

24

26

26

31

31

33

37

37

33

37

37

38

38

14

14

17/19

17/19

20

22

22

24

30

30

40

40

36

50

50

46

57

57

64/68

64/68

50

50

50

50

50

50

50

50

20

20

20

20

20

10

10

10

10

10

5

5

3-6.5

2-5

4-8

2-6

5-10

6-12

5-9

10-14

13-18

9-16

18-25

13-20

15-21

22-32

20-26

19-27

32-38

25-31

37-44

29-35

HSMS.M12.A

HSMS.M12.B

HSMS.M16.A

HSMS.M16.B

HSMS.M16.C

HSMS.M20.A

HSMS.M20.B

HSMS.M20.C

HSMS.M25.A

HSMS.M25.B

HSMS.M32.A

HSMS.M32.B

HSMS.M32.C

HSMS.M40.A

HSMS.M40.B

HSMS.M40.C

HSMS.M50.A

HSMS.M50.B

HSMS.M63.A

HSMS.M63.B

� �：

� � �：

�	
�：�
�������,���������,�	
�����

� !"：- ℃- ℃

!"��：$%:- ℃� ℃ &'(��� ℃ )%:- ℃� ℃ &'(��� ℃

*+
�： fg hi

304

P

jkl

2 3 �：

IP68

40 100

40 100  , 120  , 20 80  , 100

, RoHS

A

UL94-V2

=>?@

M12×1.5

M12×1.5

M16×1.5

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M20×1.5

M25×1.5

M25×1.5

M32×1.5

M32×1.5

M32×1.5

M40×1.5

M40×1.5

M40×1.5

M50×1.5

M50×1.5

M63×1.5

M63×1.5

9 00 017 0120 0

9 00 017 0121 0

9 00 017 0160 0

9 00 017 0161 0

9 00 017 0162 0

9 00 017 0200 0

9 00 017 0201 0

9 00 017 0202 0

9 00 017 0250 0

9 00 017 0251 0

9 00 017 0320 0

9 00 017 0321 0

9 00 017 0322 0

9 00 017 0400 0

9 00 017 0401 0

9 00 017 0402 0

9 00 017 0500 0

9 00 017 0501 0

9 00 017 0630 0

9 00 017 0631 0

RoHs

BC DE
F H
mm

GL
mm

AG
mm SW

mm

GHCJK��
mm

92 � 112 �

NOQ� :

AG

SW

G
L

H

��
��

<



HSMS���� — G�����
���P

3-6.5

2-5

4-8

2-6

5-10

3-7

6-12

5-9

10-14

7-12

13-18

9-16

18-25

13-20

22-32

20-26

32-38

25-31

37-44

29-35

5

5

6

6

6

6

6.5

6.5

6.5

6.5

7

7

8

8

8

8

9

9

10

10

19

19

21

21

22

22

24

24

23

23

24

24

29

29

35

35

37

37

38

38

14

14

17

17

20

20

22

22

24

24

30

30

40

40

50

50

57

57

64

64

50

50

50

50

50

50

50

50

50

50

20

20

20

20

10

10

10

10

5

5

12.5

12.5

15.2

15.2

18.6

18.6

20.4

20.4

22.5

22.5

28.3

28.3

37

37

47

47

54

54

59.3

59.3

HSMS.PG7.A

HSMS.PG7.B

HSMS.PG9.A

HSMS.PG9.B

HSMS.PG11.A

HSMS.PG11.B

HSMS.PG13.5.A

HSMS.PG13.5.B

HSMS.PG16.A

HSMS.PG16.B

HSMS.PG21.A

HSMS.PG21.B

HSMS.PG29.A

HSMS.PG29.B

HSMS.PG36.A

HSMS.PG36.B

HSMS.PG42.A

HSMS.PG42.B

HSMS.PG48.A

HSMS.PG48.B

� �：

� � �：

�	
�：�
�������,���������,�	
�����

� !"：- ℃- ℃

!"��：$%:- ℃� ℃ &'(��� ℃ )%:- ℃� ℃ &'(��� ℃

*+
�：

304

P

jkl

2 3 �：

IP68

40 100

40 100  , 120  , 20 80  , 100

A

UL94-V2

=>?@

P 7

PG7

PG9

PG9

PG11

PG11

PG13.5

PG13.5

PG16

PG16

PG21

PG21

PG29

PG29

PG36

PG36

PG42

PG42

PG48

PG48

G 9 00 017 1070 0

9 00 017 1071 0

9 00 017 1090 0

9 00 017 1091 0

9 00 017 1110 0

9 00 017 1111 0

9 00 017 1130 0

9 00 017 1131 0

9 00 017 1160 0

9 00 017 1161 0

9 00 017 1210 0

9 00 017 1211 0

9 00 017 1290 0

9 00 017 1291 0

9 00 017 1360 0

9 00 017 1361 0

9 00 017 1420 0

9 00 017 1421 0

9 00 017 1480 0

9 00 017 1481 0

044

RoHs

BC DE
F H
mm

GL
mm

AG
mm SW

mm

GHCJK��
mm

9 M3 112M

NOQ�:

AG

SW

G
L

H

R
S

J
K

�
T

W
X

R
S

Q
�

Y
Z

J
K

�
T

W
X

Y
Z

Q
�

�
[

\
[

]
^

�
�

�
R

S
_

`
R

S
_

`
W

X
/
b

�
Y

Z
_

`
Y

Z
_

`
W

X
c

d
]

^

��
��

<



�
�

�
�

�
�

�
	

�
�



�

�



�
�

�
�

�
	

�





�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

	
/�

�
�



�

�
�



�

�
�

	
�

�
�

�

045

HSMS���� — NPT�����
���

17

17

21.2

21.2

26.5

26.5

33.2

33.2

15

15

13

13

13

13

19

19

21

21

24

24

25

25

29

29

17/19

17/19

22/24

22/24

30

30

41

41

50

50

50

50

50

50

20

20

4-8

2-6

6-12

5-9

13-18

9-16

18-25

13-20

HSMS.NPT3/8.A

HSMS.NPT3/8.B

HSMS.NPT1/2.A

HSMS.NPT1/2.B

HSMS.NPT3/4.A

HSMS.NPT3/4.B

HSMS.NPT1.A

HSMS.NPT1.B

� �：

� � �：

�	
�：�
�������,���������,�	
�����

� !"：- ℃- ℃

!"��：$%:- ℃� ℃ &'(��� ℃ )%:- ℃� ℃ &'(��� ℃

*+
�：

304

P

jkl

2 3 �：

IP68

40 100

40 100  , 120  , 20 80  , 100

A

UL94-V2

=>?@

9 00 017 3030 0

9 00 017 3031 0

9 00 017 3040 0

9 00 017 3041 0

9 00 017 3060 0

9 00 017 3061 0

9 00 017 3080 0

9 00 017 3081 0

NPT 3/8"

NPT 3/8"

NPT 1/2"

NPT 1/2"

NPT 3/4"

NPT 3/4"

NPT 1"

NPT 1"

RoHs

BC DE
F H
mm

GL
mm

AG
mm SW

mm

GHCJK��
mm

9 M4 112M

NOQ�:

AG

SW

G
L

H

��
��

<



HSMS���� — G�������
���

3-6.5

4-8

6-12

13-18

18-25

25-33

32-38

37-44

42-52

65-70

7

7

8

8

9

9

9

12

15

15

19

19

22

25

29

35

37

38

38

48

14

18

22

30

40

50

57

64

78

98

50

50

50

50

20

10

10

5

5

5

13.1

16.6

20.9

26.4

33.2

41.9

47.8

59.6

75.1

87.8

HSMS.G1/4

HSMS.G3/8

HSMS.G1/2

HSMS.G3/4

HSMS.G1

HSMS.G1.1/4

HSMS.G1.1/2

HSMS.G2

HSMS.G2.1/2

HSMS.G3

� �：

� � �：

�	
�：�
�������,���������,�	
�����

� !"：- ℃- ℃

!"��：$%:- ℃� ℃ &'(��� ℃ )%:- ℃� ℃ &'(��� ℃

*+
�：

304

P

jkl

2 3 �：

IP68

40 100

40 100  , 120  , 20 80  , 100

A

UL94-V2

=>?@

G1/4"

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

90001720200

90001720300

90001720400

90001720600

90001720800

90001721000

90001721200

90001721400

90001721600

90001721800

046

RoHs

BC DE
F H
mm

GL
mm

AG
mm SW

mm

GHCJK��
mm

95 � 112 �

NOQ� :

AG

SW

G
L

H

R
S

J
K

�
T

W
X

R
S

Q
�

Y
Z

J
K

�
T

W
X

Y
Z

Q
�

�
[

\
[

]
^

�
�

�
R

S
_

`
R

S
_

`
W

X
/
b

�
Y

Z
_

`
Y

Z
_

`
W

X
c

d
]

^

��
��

<



R
S

J
K

�
T

W
X

R
S

Q
�

Y
Z

J
K

�
T

W
X

Y
Z

Q
�

�
[

\
[

]
^

�
�

�
R

S
_

`
R

S
_

`
W

X
/
b

�
Y

Z
_

`
Y

Z
_

`
W

X
c

d
]

^

047

HSMS���� — ����������
���

12

12

16

16

20

20

25

25

32

32

40

40

50

50

63

63

10

10

10

10

10

10

12

12

12

12

15

15

15

15

15

15

19

19

22

22

23

23

24

24

31

31

37

37

37

37

38

38

14

14

22

22

24

24

30

30

41

41

50

50

60

60

64/68

64/68

50

50

50

50

50

50

20

20

20

20

10

10

10

10

5

5

3-6.5

2-5

5-10

3-7

10-14

7-12

13-18

9-16

18-25

13-20

22-32

20-26

32-38

25-31

37-44

29-35

HSMS.L.M12.A

HSMS.L.M12.B

HSMS.L.M16.A

HSMS.L.M16.B

HSMS.L.M20.A

HSMS.L.M20.B

HSMS.L.M25.A

HSMS.L.M25.B

HSMS.L.M32.A

HSMS.L.M32.B

HSMS.L.M40.A

HSMS.L.M40.B

HSMS.L.M50.A

HSMS.L.M50.B

HSMS.L.M63.A

HSMS.L.M63.B

� �：

� � �：

�	
�：�
�������,���������,�	
�����

� !"：- ℃- ℃

!"��：$%:- ℃� ℃ &'(��� ℃ )%:- ℃� ℃ &'(��� ℃

*+
�：

304

P

jkl

2 3 �：

IP68

40 100

40 100  , 120  , 20 80  , 100

A

UL94-V2

=>?@

M12×1.5

M12×1.5

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M25×1.5

M25×1.5

M32×1.5

M32×1.5

M40×1.5

M40×1.5

M50×1.5

M50×1.5

M63×1.5

M63×1.5

9 00 018 0120 0

9 00 018 0121 0

9 00 018 0160 0

9 00 018 0161 0

9 00 018 0200 0

9 00 018 0201 0

9 00 018 0250 0

9 00 018 0251 0

9 00 018 0320 0

9 00 018 0321 0

9 00 018 0400 0

9 00 018 0401 0

9 00 018 0500 0

9 00 018 0501 0

9 00 018 0630 0

9 00 018 0631 0

RoHs

BC DE
F H
mm

GL
mm

AG
mm SW

mm

GHCJK��
mm

92M 112M

NOQ�:

AG

SW

G
L

H

��
��

<



3-6.5

2-5

4-8

2-6

5-10

3-7

6-12

5-9

10-14

7-12

13-18

9-16

18-25

13-20

22-32

20-26

32-38

25-31

37-44

29-35

10

10

10

10

10

10

10

10

10

10

12

12

12

12

15

15

15

15

15

15

19

19

21

21

22

22

24

24

23

23

24

24

29

29

35

35

37

37

38

38

14

14

17

17

22

22

22

22

24

24

30

30

41

41

50

50

57

57

64

64

50

50

50

50

50

50

50

50

50

50

20

20

20

20

10

10

10

10

5

5

12.5

12.5

15.2

15.2

18.6

18.6

20.4

20.4

22.5

22.5

28.3

28.3

37

37

47

47

54

54

59.3

59.3

HSMS.L.PG7.A

HSMS.L.PG7.B

HSMS.L.PG9.A

HSMS.L.PG9.B

HSMS.L.PG11.A

HSMS.L.PG11.B

HSMS.L.PG13.5.A

HSMS.L.PG13.5.B

HSMS.L.PG16.A

HSMS.L.PG16.B

HSMS.L.PG21.A

HSMS.L.PG21.B

HSMS.L.PG29.A

HSMS.L.PG29.B

HSMS.L.PG36.A

HSMS.L.PG36.B

HSMS.L.PG42.A

HSMS.L.PG42.B

HSMS.L.PG48.A

HSMS.L.PG48.B

� �：

� � �：

�	
�：�
�������,���������,�	
�����

� !"：- ℃- ℃

!"��：$%:- ℃� ℃ &'(��� ℃ )%:- ℃� ℃ &'(��� ℃

*+
�：

304

P

jkl

2 3 �：

IP68

40 100

40 100  , 120  , 20 80  , 100

A

UL94-V2

=>?@

P 7

PG7

PG9

PG9

PG11

PG11

PG13.5

PG13.5

PG16

PG16

PG21

PG21

PG29

PG29

PG36

PG36

PG42

PG42

PG48

PG48

G 9 00 018 1070 0

9 00 018 1071 0

9 00 018 1090 0

9 00 018 1091 0

9 00 018 1110 0

9 00 018 1111 0

9 00 018 1130 0

9 00 018 1131 0

9 00 018 1160 0

9 00 018 1161 0

9 00 018 1210 0

9 00 018 1211 0

9 00 018 1290 0

9 00 018 1291 0

9 00 018 1360 0

9 00 018 1361 0

9 00 018 1420 0

9 00 018 1421 0

9 00 018 1480 0

9 00 018 1481 0

HSMS���� — PG��������
���

�
�



�

048

RoHs

BC DE
F H
mm

GL
mm

AG
mm SW

mm

GHCJK��
mm

9 M3 112M

NOQ�:

AG

SW

G
L

H

R
S

J
K

�
T

W
X

R
S

Q
�

Y
Z

J
K

�
T

W
X

Y
Z

Q
�

�
[

\
[

]
^

�
�

�
R

S
_

`
R

S
_

`
W

X
/
b

�
Y

Z
_

`
Y

Z
_

`
W

X
c

d
]

^

��
��

<



049

R
S

J
K

�
T

W
X

Y
Z

J
K

�
T

W
X

Y
Z

Q
�

�
[

\
[

]
^

�
�

�
R

S
_

`
R

S
_

`
W

X
/
b

�
Y

Z
_

`
Y

Z
_

`
W

X
c

d
]

^

R
S

Q
�

RoHs

HSMS���� — ���������
���

16

20

20

20

25

25

32

32

32

40

40

40

50

50

63

63

6

6

6

6

7

7

8

8

8

8

8

8

9

9

10

10

21

23

23

23

26

26

31

31

31

37

37

37

37

37

38

38

17/19

22

22

22

30

30

40

40

40

50

50

50

57

57

64/68

64/68

50

50

50

50

20

20

20

20

20

10

10

10

10

10

5

5

4×1.4

6×3

2×5

3×4

4×6

3×7

10x6

4×9

6×6.5

9×7

2×15

3×10

4×12

3×15

6×12

3×18

HSMS.MU.M16.A

HSMS.MU.M20.A

HSMS.MU.M20.B

HSMS.MU.M20.C

HSMS.MU.M25.A

HSMS.MU.M25.B

HSMS.MU.M32.A

HSMS.MU.M32.B

HSMS.MU.M32.C

HSMS.MU.M40.A

HSMS.MU.M40.B

HSMS.MU.M40.C

HSMS.MU.M50.A

HSMS.MU.M50.B

HSMS.MU.M63.A

HSMS.MU.M63.B

� �：

� � �：

�	
�： (

� !"：- ℃- ℃

!"��：$%:- ℃� ℃ &'(��� ℃ )%:- ℃� ℃ &'(��� ℃

*+
�：

304

P

P65

jkl

2 3 �：

���=t��uvw���

40 100

40 100  , 120  , 20 80  , 100

A

I IP68)

UL94-V2

=>?@

M16×1.5

M20×1.5

M20×1.5

M20×1.5

M25×1.5

M25×1.5

M32×1.5

M32×1.5

M32×1.5

M40×1.5

M40×1.5

M40×1.5

M50×1.5

M50×1.5

M63×1.5

M63×1.5

90001901600

90001902000

90001902010

90001902020

90001902500

90001902510

90001903200

90001903210

90001903220

90001904000

90001904010

90001904020

90001905000

90001905010

90001906300

90001906310

BC DE
F H
mm

GL
mm

AG
mm SW

mm

GHC

92M 112M

NOQ�:

ty t�x
mm

AG

SW

G
L

H

��
��

<



HS SM ���� — PG ���	
������

� �：

� � �：

�	
�： (

�
��：- ℃- ℃

����：��:- ℃� ℃ ������ ℃ ��:- ℃� ℃ ������ ℃

��
�：

304

P

P65

�� 

! " �：

#$%=&%')*+���

40 100

40 100  , 120  , 20 80  , 100

A

I IP68)

UL94-V2

7;<>

10×6 8 29 40 2037HSMS.MU.PG29.C PG29 9 00 019 1292 0

4×1.4

2×4

3×3

2×5

6×3

3×4

4×4

2×6

6×4

7×3

4×6

3×7

6×6.5

4×9

9×7

2×15

4×12

3×15

6×12

3×18

3×10

6

6

6

6.5

6.5

6.5

6.5

6.5

6.5

6.5

7

7

8

8

8

8

9

9

10

10

8

21

22

22

24

24

24

23

23

23

23

24

24

29

29

35

35

37

37

38

38

35

17

20

20

22

22

22

24

24

24

24

30

30

40

40

50

50

57

57

64

64

50

50

50

50

50

50

50

50

50

50

50

20

20

20

20

10

10

10

10

5

5

10

15.2

18.6

18.6

20.4

20.4

20.4

22.5

22.5

22.5

22.5

28.3

28.3

37

37

47

47

54

54

59.3

59.3

47

HSMS.MU.PG9.A

HSMS.MU.PG11.A

HSMS.MU.PG11.B

HSMS.MU.PG13.5.A

HSMS.MU.PG13.5.C

HSMS.MU.PG13.5.B

HSMS.MU.PG16.A

HSMS.MU.PG16.C

HSMS.MU.PG16.B

HSMS.MU.PG16.D

HSMS.MU.PG21.A

HSMS.MU.PG21.B

HSMS.MU.PG29.A

HSMS.MU.PG29.B

HSMS.MU.PG36.A

HSMS.MU.PG36.B

HSMS.MU.PG42.A

HSMS.MU.PG42.B

HSMS.MU.PG48.A

HSMS.MU.PG48.B

HSMS.MU.PG36.C

PG9

PG11

PG11

PG13.5

PG13.5

PG13.5

PG16

PG16

PG16

PG16

PG21

PG21

PG29

PG29

PG36

PG36

PG42

PG42

PG48

PG48

PG36

9 00 019 1090 0

9 00 019 1110 0

9 00 019 1111 0

9 00 019 1130 0

9 00 019 1132 0

9 00 019 1131 0

9 00 019 1160 0

9 00 019 1162 0

9 00 019 1161 0

9 00 019 1163 0

9 00 019 1210 0

9 00 019 1211 0

9 00 019 1290 0

9 00 019 1291 0

9 00 019 1360 0

9 00 019 1362 0

9 00 019 1361 0

9 00 019 1420 0

9 00 019 1421 0

9 00 019 1480 0

9 00 019 1481 0

050

?@ BCDE H
mm

GL
mm

AG
mm SW

mm

FG@&H &%x
mm

RoHs IP68

93 � 112 �

JKM� :

AG

SW

G
L

H

�
�

�
�

�
�

	



�
�

�
�



�

�
�

�
�

	





�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
	



/�

�



�
�

�



�
�

�
	



�

�
�

�

��
��

<



�
�

�
�

�
�

	



�
�

�
�



�

�
�

�
�

	





�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
	



/�

�



�
�

�



�
�

�
	



�

�
�

�

051

� �：

� � �：

�	
�： (

�
��：- ℃- ℃

����：��:- ℃� ℃ ������ ℃ ��:- ℃� ℃ ������ ℃

��
�：

304

P

P65

�� 

! " �：

#$%=&%')*+���

40 100

40 100  , 120  , 20 80  , 100

A

I IP68)

UL94-V2

7;<>

HSMS���� — 
����	
������

N Ox
mm

?@ BCDE H
mm

GL
mm

AG
mm SW

mm

FG@

RoHs IP68

92Q 112Q

JKM� :

HSMS.FL.M25.B

HSMS.FL.M32

HSMS.FL.M40.A

HSMS.FL.M40.B

HSMS.FL.M40.C

HSMS.FL.M50

HSMS.FL.M63

HSMS.FL.M25.A

HSMS.FL.20

M25×1.5

M32×1.5

M40×1.5

M40×1.5

M40×1.5

M50×1.5

M63×1.5

M25×1.5

M20×1.5

14×7

22×8

30.5×12

31×7.5

28.5x10

33.5×11.5

38×12

14×6

12×7

25

32

40

40

40

50

63

25

20

7

8

8

8

8

9

10

7

6

26

31

37

37

37

37

38

26

23

30

40

50

50

50

57

64/68

30

22

20

20

10

10

10

10

5

20

50

9 00 020 0251 0

9 00 020 0320 0

9 00 020 0400 0

9 00 020 0401 0

9 00 020 0402 0

9 00 020 0500 0

9 00 020 0630 0

9 00 020 0250 0

9 00 020 0200 0

AG

SW

G
L

H

��
��

<



HSMS���� — PG���	
������

14×7

14×6

22×8

30.5×12

31×7.5

28.5×10

33.5×11.5

38×12

7

7

8

8

8

8

9

10

24

24

29

35

35

35

37

38

30

30

40

50

50

50

57

64

20

20

20

10

10

10

10

5

28.3

28.3

37

47

47

47

54

59.3

HSMS.FL.PG21.A

HSMS.FL.PG21.B

HSMS.FL.PG29

HSMS.FL.PG36.A

HSMS.FL.PG36.B

HSMS.FL.PG36.C

HSMS.FL.PG42

HSMS.FL.PG48

� �：

� � �：

�	
�： (

�
��：- ℃- ℃

����：��:- ℃� ℃ ������ ℃ ��:- ℃� ℃ ������ ℃

��
�：

304

P

P65

�� 

! " �：

#$%=&%')*+���

40 100

40 100  , 120  , 20 80  , 100

A

I IP68)

UL94-V2

7;<>

PG29

PG36

PG36

PG36

PG42

PG48

9 00 020 1210 0

9 00 020 1211 0

9 00 020 1290 0

9 00 020 1360 0

9 00 020 1361 0

9 00 020 1362 0

9 00 020 1420 0

9 00 020 1480 0

052

?@ BCDE H
mm

GL
mm

AG
mm SW

mm

FG@

RoHs IP68

93Q 112Q

JKM�:

N Ox
mm

HSMS.FL.PG13.5 PG13 5. 12×7 20 4. 6 5. 24 22 9 00 020 1130 0 50

AG

SW

G
L

H

�
�

�
�

�
�

	



�
�

�
�



�

�
�

�
�

	





�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
	



/�

�



�
�

�



�
�

�
	



�

�
�

�

��
��

<



R
S

T
W

�
X

Y
Z

R
S

M
�

[
\

T
W

�
X

Y
Z

[
\

M
�

�
]

^
]

_
`

�
�

�
R

S
a

b
R

S
a

b
Y

Z
/
d

�
[

\
a

b
[

\
a

b
Y

Z
e

f
_

`

053

HSM���� — 
�����������

� �：

� � �：

�	
�：#Dg'$%��h,ijklm'��n,�	
��o��

�
��：- ℃- ℃

����：��:- ℃� ℃ ������ ℃ ��:- ℃� ℃ ������ ℃

��
�：

pqrs

! " �：

IP68

40 100

40 100  , 120  , 20 80  , 100

A

UL94-V2

P

7;<>

12.0

12.0

16.0

16.0

16.0

20.0

20.0

25.0

25.0

32.0

32.0

32.0

40.0

40.0

40.0

50.0

50.0

63.0

63.0

6.5

6.5

6

6

6

6

6

7

7

8

8

8

8

8

8

9

9

10

10

19

19

22

22

22

24

24

26

26

31

31

33

37

37

33

37

37

38

38

14

14

20

20

20

24

24

30

30

40

40

36

50

50

46

57

57

64/68

64/68

50

50

50

50

50

50

50

20

20

20

20

20

10

10

10

10

10

5

5

3-6.5

2-5

4-8

2-6

5-10

6-12

5-10

13-18

9-16

18-25

13-20

15-21

22-32

20-26

19-27

32-38

25-31

37-44

29-35

HSM.EMC.M12.A

HSM.EMC.M12.B

HSM.EMC.M16.A

HSM.EMC.M16.B

HSM.EMC.M16.C

HSM.EMC.M20.A

HSM.EMC.M20.B

HSM.EMC.M25.A

HSM.EMC.M25.B

HSM.EMC.M32.A

HSM.EMC.M32.B

HSM.EMC.M32.C

HSM.EMC.M40.A

HSM.EMC.M40.B

HSM.EMC.M40.C

HSM.EMC.M50.A

HSM.EMC.M50.B

HSM.EMC.M63.A

HSM.EMC.M63.B

M12×1.5

M12×1.5

M16×1.5

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M25×1.5

M25×1.5

M32×1.5

M32×1.5

M32×1.5

M40×1.5

M40×1.5

M40×1.5

M50×1.5

M50×1.5

M63×1.5

M63×1.5

9 00 022 0120 0

9 00 022 0121 0

9 00 022 0160 0

9 00 022 0161 0

9 00 022 0162 0

9 00 022 0200 0

9 00 022 0201 0

9 00 022 0250 0

9 00 022 0251 0

9 00 022 0320 0

9 00 022 0321 0

9 00 022 0322 0

9 00 022 0400 0

9 00 022 0401 0

9 00 022 0402 0

9 00 022 0500 0

9 00 022 0501 0

9 00 022 0630 0

9 00 022 0631 0

?@ BCDE H
mm

GL
mm

AG
mm SW

mm

FG@TW��
mm

RoHs IP68

92Q 112Q

JKM�:

AG

SW

G
L

H

��
��

<



HSM���� — PG����������

3-6.5

2-5

4-8

2-6

5-10

3-7

6-12

5-9

10-14

7-12

13-18

9-16

18-25

13-20

22-32

20-26

32-38

25-31

37-44

29-35

5

5

6

6

6

6

6.5

6.5

6.5

6.5

7

7

8

8

8

8

9

9

10

10

19

19

21

21

22

22

24

24

23

23

24

24

29

29

35

35

37

37

38

38

14

14

17

17

20

20

22

22

24

24

30

30

40

40

50

50

57

57

64

64

50

50

50

50

50

50

50

50

50

50

20

20

20

20

10

10

10

10

5

5

12.5

12.5

15.2

15.2

18.6

18.6

20.4

20.4

22.5

22.5

28.3

28.3

37

37

47

47

54

54

59.3

59.3

HSM.EMC.PG7.A

HSM.EMC.PG7.B

HSM.EMC.PG9.A

HSM.EMC.PG9.B

HSM.EMC.PG11.A

HSM.EMC.PG11.B

HSM.EMC.PG13.5.A

HSM.EMC.PG13.5.B

HSM.EMC.PG16.A

HSM.EMC.PG16.B

HSM.EMC.PG21.A

HSM.EMC.PG21.B

HSM.EMC.PG29.A

HSM.EMC.PG29.B

HSM.EMC.PG36.A

HSM.EMC.PG36.B

HSM.EMC.PG42.A

HSM.EMC.PG42.B

HSM.EMC.PG48.A

HSM.EMC.PG48.B

� �：pqrs

! " �： PA

� � �：

�	
�：#Dg'$%��h,ijklm'��n,�	
��o��IP68

�
��：- ℃- ℃40 100

����：��:- ℃� ℃ ������ ℃ ��：- ℃� ℃ ������ ℃40 100  , 120  , 20 80  , 100

��
�：UL94-V2

PG7

PG7

PG9

PG9

PG11

PG11

PG13.5

PG13.5

PG16

PG16

PG21

PG21

PG29

PG29

PG36

PG36

PG42

PG42

PG48

PG48

9 00 022 1070 0

9 00 022 1071 0

9 00 022 1090 0

9 00 022 1091 0

9 00 022 1110 0

9 00 022 1111 0

9 00 022 1130 0

9 00 022 1131 0

9 00 022 1160 0

9 00 022 1161 0

9 00 022 1210 0

9 00 022 1211 0

9 00 022 1290 0

9 00 022 1291 0

9 00 022 1360 0

9 00 022 1361 0

9 00 022 1420 0

9 00 022 1421 0

9 00 022 1480 0

9 00 022 1481 0

054

RoHs

?@ BCDE H
mm

GL
mm

AG
mm SW

mm

FG@TW��
mm

9 Q3 112Q

JKM�:

AG

SW

G
L

H

7;<>

�
�

�
�

�
�

	



�
�

�
�



�

�
�

�
�

	





�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
	



/�

�



�
�

�



�
�

�
	



�

�
�

�

��
��

<



R
S

T
W

�
X

Y
Z

R
S

M
�

[
\

T
W

�
X

Y
Z

[
\

M
�

�
]

^
]

_
`

�
�

�
R

S
a

b
R

S
a

b
Y

Z
/
d

�
[

\
a

b
[

\
a

b
Y

Z
e

f
_

`

055

DHSM���� — 
��������������

12.0

16.0

20.0

25.0

32.0

40.0

50.0

50.0

63.0

63.0

6.5

6

6

7

8

8

9

9

10

10

26

29

32

35

41

48

51

51

52

52

14

20

24

30

40

50

57

57

64/68

64/68

50

50

50

20

20

10

10

10

5

5

3-6.5

5-10

6-12

13-18

18-25

22-32

32-38

25-31

37-44

29-35

DHSM.EMC.M12

DHSM.EMC.M16

DHSM.EMC.M20

DHSM.EMC.M25

DHSM.EMC.M32

DHSM.EMC.M40

DHSM.EMC.M50.A

DHSM.EMC.M50.B

DHSM.EMC.M63.A

DHSM.EMC.M63.B

� �：pqrs

! " �： AP

� � �：7;<>

�	
�：#Dg'$%��h,ijklm'��n,�	
��o��IP68

�
��：- ℃- ℃40 100

����：��:- ℃� ℃ ������ ℃ ��:- ℃� ℃ ������ ℃40 100  , 120  , 20 80  , 100

��
�：UL94-V2

M12×1.5

M16×1.5

M20×1.5

M25×1.5

M32×1.5

M40×1.5

M50×1.5

M50×1.5

M63×1.5

M63×1.5

9 00 023 0120 0

9 00 023 0160 0

9 00 023 0200 0

9 00 023 0250 0

9 00 023 0320 0

9 00 023 0400 0

9 00 023 0500 0

9 00 023 0501 0

9 00 023 0630 0

9 00 023 0631 0

RoHs

?@ BCDE H
mm

GL
mm

AG
mm SW

mm

FG@TW��
mm

92Q 112Q

JKM�:

AG

SW

G
L

H

��
��

<



DHSM���� — PG�������������

3-6.5

4-8

6-10

6-12

10-14

13-18

18-25

22-32

32-38

25-31

37-44

29-35

5

6

6

6.5

6.5

7

8

8

9

9

10

10

26

28

29

33

32

35

41

48

51

51

51

51

14

17

20

22

24

30

40

50

57

57

64

64

50

50

50

50

50

20

20

10

10

10

5

5

12.5

15.2

18.6

20.4

22.5

28.3

37

47

54

54

59.3

59.3

DHSM.EMC.PG7

DHSM.EMC.PG9

DHSM.EMC.PG11

DHSM.EMC.PG13.5

DHSM.EMC.PG16

DHSM.EMC.PG21

DHSM.EMC.PG29

DHSM.EMC.PG36

DHSM.EMC.PG42.A

DHSM.EMC.PG42.B

DHSM.EMC.PG48.A

DHSM.EMC.PG48.B

� �：pqrs

! " �： AP

� � �： 7;<>

�	
�：#Dg'$%��h,ijklm'��n,�	
��o��IP68

�
��：- ℃- ℃40 100

����：��:- ℃� ℃ ������ ℃ ��:- ℃� ℃ ������ ℃40 100  , 120  , 20 80  , 100

��
�：UL94-V2

P 7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG42

PG48

PG48

G 9 00 023 1070 0

9 00 023 1090 0

9 00 023 1110 0

9 00 023 1130 0

9 00 023 1160 0

9 00 023 1210 0

9 00 023 1290 0

9 00 023 1360 0

9 00 023 1420 0

9 00 023 1421 0

9 00 023 1480 0

9 00 023 1481 0

056

RoHs

?@ BCDE H
mm

GL
mm

AG
mm SW

mm

FG@TW��
mm

93 Q 112 Q

JKM� :

AG

SW

G
L

H

�
�

�
�

�
�

	



�
�

�
�



�

�
�

�
�

	





�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
	



/�

�



�
�

�



�
�

�
	



�

�
�

�

��
��

<



057



058



059

����



DPM���� — ���	��
�

12

16

18

20

22

24

25

32

36

40

48

50

63

6

7

7

7

7

7

7

8

8

9

9

9

10

9 00 028 0120 0

9 00 028 0160 0

9 00 028 0180 0

9 00 028 0200 0

9 00 028 0220 0

9 00 028 0240 0

9 00 028 0250 0

9 00 028 0320 0

9 00 028 0360 0

9 00 028 0400 0

9 00 028 0480 0

9 00 028 0500 0

9 00 028 0630 0

30

30

30

20

20

20

20

10

10

10

10

5

5

DPM.M12

DPM.M16

DPM.M18

DPM.M20

DPM.M22

DPM.M24

DPM.M25

DPM.M32

DPM.M36

DPM.M40

DPM.M48

DPM.M50

DPM.M63

� �：	
��


���：������ ����,
�������IP68O

�  ：!"RoHS#$

14

18

21

23

25

27

28

35

39

44

52

55

68

M12X1.5

M16X1.5

M18X1.5

M20X1.5

M22X1.5

M24X1.5

M25X1.5

M32X1.5

M36X2.0

M40X1.5

M48X2.0

M50X1.5

M63X1.5

9

10

10

10

10

10

10

12

12

15

15

15

16

RoHs

H
mm

GL
mm

AG
mm

%& '()* +-&

060

mm
ØD

AG

H

G
L

ØD

112.

/0��:

3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

��
��

<



3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

061

RoHs

DPM���� — PG�	��
�

� �：	
��


���：������ ����,
�������O IP68

12.5

15.2

18.6

20.4

22.5

28.3

37

47

54

59.3

6

7

7

7

7

7

8

9

9

10

9

10

10

10

10

11

12

15

15

16

30

30

30

30

20

20

10

10

5

5

DPM.PG7

DPM.PG9

DPM.PG11

DPM.PG13.5

DPM.PG16

DPM.PG21

DPM.PG29

DPM.PG36

DPM.PG42

DPM.PG48

15

18

21

23

25

32

40

50

59

64

9 00 028 1070 0

9 00 028 1090 0

9 00 028 1110 0

9 00 028 1130 0

9 00 028 1160 0

9 00 028 1210 0

9 00 028 1290 0

9 00 028 1360 0

9 00 028 1420 0

9 00 028 1480 0

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

H
mm

GL
mm

AG
mm

%& '()* +-&mm
ØD

AG

H

G
L

ØD

112.

/0��:

�  ：!"RoHS#$

��
��

<



� �：	
��


���：������ ����,
�������O IP68

DPM���� — NPT�	��
�

16.65

20.85

26.30

33.15

41.85

47.75

59.55

72.30

87.95

11

13

13

16

16

18

18

22

22

14.5

16.5

17

20

21

23

24

28

28

30

30

30

20

20

10

10

5

5

DPM.N3/8

DPM.N1/2

DPM.N3/4

DPM.N1

DPM.N1.1/4

DPM.N1.1/2

DPM.N2

DPM.N2.1/2

DPM.N3

21

25

31

35

47

52

64

78

95

9 00 028 3040 0

9 00 028 3050 0

9 00 028 3060 0

9 00 028 3070 0

9 00 028 3080 0

9 00 028 3090 0

9 00 028 3100 0

9 00 028 3110 0

9 00 028 3120 0

N3/8"

N1/2"

N3/4"

N1"

N1-1/4"

N1-1/2"

N2"

N2-1/2"

N3"

062

RoHs

H
mm

GL
mm

AG
mm

%& '()* +-&

112 .

/0�� :

mm
ØD

AG

H

G
L

ØD

�  ：!"RoHS#$

3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

��
��

<



3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

063

DPM���� — G���	��
�

� �：	
��


���：������ ����,
�������O IP68

16.66

20.99

26.44

33.24

41.91

47.8

59.61

75.18

87.88

8

8

8

9

10

10

11

11

11

11.5

11.5

12

13

15

15

17

17

18.5

30

30

30

20

20

10

10

5

5

DPM.G3/8

DPM.G1/2

DPM.G3/4

DPM.G1

DPM.G1.1/4

DPM.G1.1/2

DPM.G2

DPM.G2.1/2

DPM.G3

21

25

28

35

44

50

54

80

95

9 00 028 2030 0

9 00 028 2040 0

9 00 028 2060 0

9 00 028 2080 0

9 00 028 2100 0

9 00 028 2120 0

9 00 028 2140 0

9 00 028 2160 0

9 00 028 2180 0

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

RoHs

H
mm

GL
mm

AG
mm

%& '()* +-&

112.

/0��:

mm
ØD

AG

H

G
L

ØD

�  ：!"RoHS#$

��
��

<



DPMH���� — ��
���
�

12

16

18

20

22

24

25

32

36

40

48

50

63

6

7

7

7

7

7

7

8

8

9

9

9

10

14

18

20

22

24

27

28

36

40

45

52

55

70

30

30

30

20

20

20

20

10

10

10

10

5

5

DPMH.M12

DPMH.M16

DPMH.M18

DPMH.M20

DPMH.M22

DPMH.M24

DPMH.M25

DPMH.M32

DPMH.M36

DPMH.M40

DPMH.M48

DPMH.M50

DPMH.M63

� �：	
��


���：������ ����,
�������O IP68

9

10

10.5

10.5

10.5

10.5

10.5

12

12

14

14

14

16

9 00 030 0120 0

9 00 030 0160 0

9 00 030 0180 0

9 00 030 0200 0

9 00 030 0220 0

9 00 030 0240 0

9 00 030 0250 0

9 00 030 0320 0

9 00 030 0360 0

9 00 030 0400 0

9 00 030 0480 0

9 00 030 0500 0

9 00 030 0630 0

M12X1.5

M16X1.5

M18X1.5

M20X1.5

M22X1.5

M24X1.5

M25X1.5

M32X1.5

M36X2.0

M40X1.5

M48X2.0

M50X1.5

M63X1.5

064

RoHs

H
mm

GL
mm

%& +-&SW
mm

'()* AG
mm

112 .

/0�� :

AG

H

G
L

SW

�  ：!"RoHS#$

3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

��
��

<



3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

065

DPMH���� — PＧ
���
�

12.5

15.2

18.6

20.4

22.5

28.3

37

47

54

59.3

6

7

7

7

7

7

8

9

9

10

14

18

20

22

26

32

40

50

57

64

30

30

30

30

20

20

10

10

5

5

DPMH.PG7

DPMH.PG9

DPMH.PG11

DPMH.PG13.5

DPMH.PG16

DPMH.PG21

DPMH.PG29

DPMH.PG36

DPMH.PG42

DPMH.PG48

9

10

10.5

10.5

10.5

11

12

14

14

16

9 00 030 1070 0

9 00 030 1090 0

9 00 030 1110 0

9 00 030 1130 0

9 00 030 1160 0

9 00 030 1210 0

9 00 030 1290 0

9 00 030 1360 0

9 00 030 1420 0

9 00 030 1480 0

� �：	
��


���：������ ����,
�������O IP68

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

RoHs

H
mm

GL
mm

%&
'()*

AG
+-&SW

mm

'()*

112.

/0��:

AG

H

G
L

SW

�  ：!"RoHS#$

��
��

<



DPMH���� — NPT
���
�

16.65

20.85

26.30

33.15

41.85

47.75

59.55

72.30

87.95

11

13

13

16

16

18

18

22

22

20

24

29

36

45

50

64

75

95

30

30

30

20

20

10

10

5

5

DPMH.N3/8

DPMH.N1/2

DPMH.N3/4

DPMH.N1

DPMH.N1.1/4

DPMH.N1.1/2

DPMH.N2

DPMH.N2.1/2

DPMH.N3

14.5

16.5

17

20

21

23

24

28

28

� �：	
��


���：������ ����,
�������O IP68

N3/8"

N1/2"

N3/4"

N1"

N1-1/4"

N1-1/2"

N2"

N2-1/2"

N3"

9 00 030 3040 0

9 00 030 3050 0

9 00 030 3060 0

9 00 030 3070 0

9 00 030 3080 0

9 00 030 3090 0

9 00 030 3100 0

9 00 030 3110 0

9 00 030 3120 0

066

RoHs

H
mm

GL
mm

%& +-&SW
mm

'()* AG
mm

112.

/0��:

AG

H

G
L

SW

�  ：!"RoHS#$

3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

��
��

<



3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

067

DPMH���� — G��
���
�

� �：	
��


���：������ ����,
�������O IP68

16.66

20.99

26.44

33.24

41.91

47.8

59.61

75.18

87.88

8

8

8

9

10

10

11

11

11

20

24

29

36

45

50

64

80

90

30

30

30

20

20

10

10

5

5

DPMH.G3/8

DPMH.G1/2

DPMH.G3/4

DPMH.G1

DPMH.G1.1/4

DPMH.G1.1/2

DPMH.G2

DPMH.G2.1/2

DPMH.G3

11.5

11.5

12

13

15

15

17

17

18.5

9 00 030 2030 0

9 00 030 2040 0

9 00 030 2060 0

9 00 030 2080 0

9 00 030 2100 0

9 00 030 2120 0

9 00 030 2140 0

9 00 030 2160 0

9 00 030 2180 0

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

RoHs

H
mm

GL
mm

%&
'()*

AG +-&SW
mm

'()*

112.

/0��:

AG

H

G
L

SW

�  ：!"RoHS#$

��
��

<



DPMS���� — ������	
�

12

16

18

20

22

24

25

32

36

40

48

50

63

6

7

7

7

7

7

7

8

8

9

9

9

10

9

10

10

10

10

10

10

12

12

15

15

15

16

30

30

30

20

20

20

20

10

10

10

10

5

5

DPMS.M12

DPMS.M16

DPMS.M18

DPMS.M20

DPMS.M22

DPMS.M24

DPMS.M25

DPMS.M32

DPMS.M36

DPMS.M40

DPMS.M48

DPMS.M50

DPMS.M63

14

18

21

23

25

27

28

35

39

44

52

55

68

9 00 029 0120 0

9 00 029 0160 0

9 00 029 0180 0

9 00 029 0200 0

9 00 029 0220 0

9 00 029 0240 0

9 00 029 0250 0

9 00 029 0320 0

9 00 029 0360 0

9 00 029 0400 0

9 00 029 0480 0

9 00 029 0500 0

9 00 029 0630 0

M12X1.5

M16X1.5

M18X1.5

M20X1.5

M22X1.5

M24X1.5

M25X1.5

M32X1.5

M36X2.0

M40X1.5

M48X2.0

M50X1.5

M63X1.5

068

� �： SUS 304


���：������ ����,
�������O IP68

RoHs

H
mm

GL
mm

AG
mm

%& '()* +-&

112.

/0��:

mm
ØD

AG

H

G
L

ØD

�  ：!"RoHS#$

3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

��
��

<



3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

069

DPMS���� — PG����	
�

12.5

15.2

18.6

20.4

22.5

28.3

37

47

54

59.3

6

7

7

7

7

7

8

9

9

10

9

10

10

10

10

11

12

15

15

16

30

30

30

30

20

20

10

10

5

5

DPMS.PG7

DPMS.PG9

DPMS.PG11

DPMS.PG13.5

DPMS.PG16

DPMS.PG21

DPMS.PG29

DPMS.PG36

DPMS.PG42

DPMS.PG48

14

18

21

23

25

32

40

50

59

64

9 00 029 1070 0

9 00 029 1090 0

9 00 029 1110 0

9 00 029 1130 0

9 00 029 1160 0

9 00 029 1210 0

9 00 029 1290 0

9 00 029 1360 0

9 00 029 1420 0

9 00 029 1480 0

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

RoHs

� �：SUS 304


���：������ ����,
�������O IP68

H
mm

GL
mm

AG
mm

%& '()* +-&

112.

/0��:

mm
ØD

AG

H

G
L

ØD

�  ：!"RoHS#$

��
��

<



DPMS���� — NPT����	
�

16.65

20.85

26.30

33.15

41.85

47.75

59.55

72.30

87.95

11

13

13

16

16

18

18

22

22

14.5

16.5

17

20

21

23

24

28

28

30

30

30

20

20

10

10

5

5

DPMS.N3/8

DPMS.N1/2

DPMS.N3/4

DPMS.N1

DPMS.N1.1/4

DPMS.N1.1/2

DPMS.N2

DPMS.N2.1/2

DPMS.N3

21

25

30

38

47

52

64

78

95

� �：SUS 304


���：������ ����,
�������O IP68

9 00 029 3040 0

9 00 029 3050 0

9 00 029 3060 0

9 00 029 3070 0

9 00 029 3080 0

9 00 029 3090 0

9 00 029 3100 0

9 00 029 3110 0

9 00 029 3120 0

N3/8"

N1/2"

N3/4"

N1"

N1-1/4"

N1-1/2"

N2"

N2-1/2"

N3"

070

RoHs

H
mm

GL
mm

AG
mm

%& '()* +-&

112.

/0��:

mm
ØD

AG

H

G
L

ØD

�  ：!"RoHS#$

3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

��
��

<



071

3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?
3

�
4

5



7
9

;

DPMS���� — G������	
�

16.66

20.99

26.44

33.24

41.91

47.8

59.61

75.18

87.88

8

8

8

9

10

10

11

11

11

11.5

11.5

12

13

15

15

17

17

18.5

30

30

30

20

20

10

10

5

5

DPMS.G3/8

DPMS.G1/2

DPMS.G3/4

DPMS.G1

DPMS.G1.1/4

DPMS.G1.1/2

DPMS.G2

DPMS.G2.1/2

DPMS.G3

21

25

30

38

47

52

65

80

95

� �： SUS 304


���：������ ����,
�������O IP68

9 00 029 2030 0

9 00 029 2040 0

9 00 029 2060 0

9 00 029 2080 0

9 00 029 2100 0

9 00 029 2120 0

9 00 029 2140 0

9 00 029 2160 0

9 00 029 2180 0

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

RoHs

H
mm

GL
mm

AG
mm

%& '()* +-&

112.

/0��:

mm
ØD

AG

H

G
L

ØD

�  ：!"RoHS#$

��
��

<



DPMHS���� — �����
�
�

9

10

10.5

10.5

10.5

10.5

10.5

12

12

14

14

14

16

30

30

30

20

20

20

20

10

10

10

10

5

5

9 00 031 0120 0

9 00 031 0160 0

9 00 031 0180 0

9 00 031 0200 0

9 00 031 0220 0

9 00 031 0240 0

9 00 031 0250 0

9 00 031 0320 0

9 00 031 0360 0

9 00 031 0400 0

9 00 031 0480 0

9 00 031 0500 0

9 00 031 0630 0

RoHs

H
mm

���SW
mm

14

18

20

22

24

27

29

36

40

45

52

55

70

AG

H

G
L

SW

12

16

18

20

22

24

25

32

36

40

48

50

63

6

7

7

7

7

7

7

8

8

9

9

9

10

M12X1.5

M16X1.5

M18X1.5

M20X1.5

M22X1.5

M24X1.5

M25X1.5

M32X1.5

M36X2.0

M40X1.5

M48X2.0

M50X1.5

M63X1.5

� �：SUS 304


���：������ ����,
�������O IP68

DPMHS.M12

DPMHS.M16

DPMHS.M18

DPMHS.M20

DPMHS.M22

DPMHS.M24

DPMHS.M25

DPMHS.M32

DPMHS.M36

DPMHS.M40

DPMHS.M48

DPMHS.M50

DPMHS.M63

072

GL
mm

�� ���	 AG
mm

112.

/0��:

�  ：!"RoHS#$

3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

��
��

<



3
�

4
5



7

9
;

3
�

�
�

�
�

4
5



7

9
;

�
�

�
�



<

=
<

>
?

�
�

�
3

�
@

A
3

�
@

A
9

;
/
C

�
�

�
@

A
�

�
@

A
9

;
D

E
>

?

073

DPMHS���� — PG���
�
�

12.5

15.2

18.6

20.4

22.5

28.3

37

47

54

59.3

6

7

7

7

7

7

8

9

9

10

14

18

21

23

26

32

40

50

58

65

30

30

30

30

20

20

10

10

5

5

DPMHS.PG7

DPMHS.PG9

DPMHS.PG11

DPMHS.PG13.5

DPMHS.PG16

DPMHS.PG21

DPMHS.PG29

DPMHS.PG36

DPMHS.PG42

DPMHS.PG48

9

10

10.5

10.5

10.5

11

12

14

14

16

9 00 031 1070 0

9 00 031 1090 0

9 00 031 1110 0

9 00 031 1130 0

9 00 031 1160 0

9 00 031 1210 0

9 00 031 1290 0

9 00 031 1360 0

9 00 031 1420 0

9 00 031 1480 0

� �：SUS 304


���：������ ����,
�������O IP68

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

RoHs

H
mm

GL
mm

%& SW
mm

'()* AG
mm

+-&

112.

/0��:

AG

H

G
L

SW

�  ：!"RoHS#$

��
��

<



DPMHS���� — NPT���	
��

� �：SUS 304

����：	
��
� ����,��������O IP68

16.65

20.85

26.30

33.15

41.85

47.75

59.55

72.30

87.95

11

13

13

16

16

18

18

22

22

20

23

30

38

50

52

65

75

95

30

30

30

20

20

10

10

5

5

DPMHS.N3/8

DPMHS.N1/2

DPMHS.N3/4

DPMHS.N1

DPMHS.N1.1/4

DPMHS.N1.1/2

DPMHS.N2

DPMHS.N2.1/2

DPMHS.N3

14.5

16.5

17

20

21

23

24

28

28

N3/8"

N1/2"

N3/4"

N1"

N1-1/4"

N1-1/2"

N2"

N2-1/2"

N3"

9 00 031 3040 0

9 00 031 3050 0

9 00 031 3060 0

9 00 031 3070 0

9 00 031 3080 0

9 00 031 3090 0

9 00 031 3100 0

9 00 031 3110 0

9 00 031 3120 0

074

RoHs

H
mm

GL
mm

�� ���SW
mm

���� AG
mm

112�

 !"#:

AG

H

G
L

SW

$ %：&'RoHS()

*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

*
�
+
-
�
.
/
5

��
��

<



075

*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

*
�
+
-
�
.
/
5

DPMHS���� — G
����	
��

16.66

20.99

26.44

33.24

41.91

47.8

59.61

75.18

87.88

8

8

8

9

10

10

11

11

11

20

24

29

38

50

52

65

80

95

30

30

30

20

20

10

10

5

5

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

11.5

11.5

12

13

15

15

17

17

18.5

9 00 031 2030 0

9 00 031 2040 0

9 00 031 2060 0

9 00 031 2080 0

9 00 031 2100 0

9 00 031 2120 0

9 00 031 2140 0

9 00 031 2160 0

9 00 031 2180 0

DPMHS.G3/8

DPMHS.G1/2

DPMHS.G3/4

DPMHS.G1

DPMHS.G1.1/4

DPMHS.G1.1/2

DPMHS.G2

DPMHS.G2.1/2

DPMHS.G3

RoHs

H
mm

GL
mm

�� ���SW
mm

���� AG
mm

112�

 !"#:

AG

H

G
L

SW

� �：SUS 304

����：	
��
� ����,��������O IP68

$ %：&'RoHS()

��
��

<



��A

REM���� — �������

7

7

7

7

7

7

8

8

8

8

9

9

10

9.5

20.5

10

21

10.5

10.5

24

24

12

12

13

14

16

18

20

24

24

26

29

30

32

36

40

45

55

68

30

30

30

30

20

20

15

15

20

10

10

5

5

M12X1.5

M16X1.5

M16X1.5

M18X1.5

M20X1.5

M20X1.5

M25X1.5

M27X2.0

M25X1.5

M32X1.5

M32X1.5

M40X1.5

M50X1.5

M16X1.5

M18X1.5

M20X1.5

M20X1.5

M24X1.5

M25X1.5

M27X2.0

M30X2.0

M32X1.5

M36X2.0

M40X1.5

M50X1.5

M63X1.5

9 00 032 0160 0

9 00 032 0180 0

9 00 032 0200 0

9 00 032 0201 0

9 00 032 0240 0

9 00 032 0250 0

9 00 032 0270 0

9 00 032 0300 0

9 00 032 0320 0

9 00 032 0360 0

9 00 032 0400 0

9 00 032 0500 0

9 00 032 0630 0

REM.M16

REM.M18

REM.M20.A

REM.M20.B

REM.M24

REM.M25

REM.M27

REM.M30

REM.M32

REM.M36

REM.M40

REM.M50

REM.M63

076

RoHs

H
mm

GL
mm

��
����

AG
���

����
IG SW

mm

��B

GL2
mm

�E

112�

 !"#:

A

B

A

B

A

A

B

B

A

A

A

A

A

12

12

14

14

SW

AG

IG

H

G
L

SW

AG

IG

G
2

L
G

L

H

ØD
� �：FGJK

����：	
��
� ����,��������O IP68

$ %：&'RoHS()

*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

*
�
+
-
�
.
/
5

��
��

<



�
�

�
�

*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

077

REM���� — PG�����

7

7

7

7

7

8

9

10

10

18

21

23

26

30

40

50

55

64

30

30

30

20

20

10

10

5

5

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

9 00 032 1090 0

9 00 032 1110 0

9 00 032 1130 0

9 00 032 1160 0

9 00 032 1210 0

9 00 032 1290 0

9 00 032 1360 0

9 00 032 1420 0

9 00 032 1480 0

10

10.5

10.5

10.5

11

13

14

15

16

� �：FGJK

����：	
��
� ����,��������O IP68

REM.PG9

REM.PG11

REM.PG13.5

REM.PG16

REM.PG21

REM.PG29

REM.PG36

REM.PG42

REM.PG48

RoHs

H
mm

GL
mm

��
����

AG
���

����

IG SW
mm

112�

 !"#:

SW

AG

IG

H

G
L

��
��

<

$ %：&'RoHS()



REM���� — NPT�����

N3/8"

N1/2"

N3/4"

N1"

N1-1/4"

N1-1/2"

N2"

N2-1/2"

7

7

7

9

10

11

11

11

24

30

38

50

52

65

80

95

30

30

20

20

10

10

5

5

N1/2"

N3/4"

N1"

N1-1/4"

N1-1/2"

N2"

N2-1/2"

N3"

10

10.5

11

12

14

15

16

18

� �：FGJK

����：	
��
� ����,��������O IP68

REM.N1/2

REM.N3/4

REM.N1

REM.N1.1/4

REM.N1.1/2

REM.N2

REM.N2.1/2

REM.N3

9 00 032 3050 0

9 00 032 3060 0

9 00 032 3070 0

9 00 032 3080 0

9 00 032 3090 0

9 00 032 3100 0

9 00 032 3110 0

9 00 032 3120 0

078

RoHs

H
mm

GL
mm

��
����

AG
���

����

IG SW
mm

112�

 !"#:

SW

AG

IG

H

G
L

$ %：&'RoHS()

*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

*
�
+
-
�
.
/
5

��
��

<



*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

079

REM���� — G
������

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G3"

7

7

7

9

10

11

11

11

24

30

38

50

52

65

80

95

30

30

30

20

20

10

5

5

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G2"

10

10.5

11

12

14

15

16

18

� �：FGJK

����：	
��
� ����,��������O IP68

REM.G1/2

REM.G3/4

REM.G1

REM.G1.1/4

REM.G1.1/2

REM.G2

REM.G2.1/2

REM.G2

9 00 032 2040 0

9 00 032 2060 0

9 00 032 2080 0

9 00 032 2100 0

9 00 032 2120 0

9 00 032 2140 0

9 00 032 2160 0

9 00 032 2180 0

RoHs

H
mm

GL
mm

��
����

AG
���

����

IG SW
mm

112�

 !"#:

SW

AG

IG

H

G
L

$ %：&'RoHS()

��
��

<



REMS���� — ��������

7

7

7

7

7

7

8

8

8

8

9

9

10

12

12

14

14

9.5

20.5

10

21

10.5

10.5

24

24

12

12

13

14

16

18

20

24

24

27

28

30

34

36

40

45

55

70

A

B

A

B

A

A

B

B

A

A

A

A

A

30

30

30

30

20

20

15

15

20

10

10

5

5

M12X1.5

M16X1.5

M16X1.5

M18X1.5

M20X1.5

M20X1.5

M25X1.5

M27X2.0

M25X1.5

M32X1.5

M32X1.5

M40X1.5

M50X1.5

M16X1.5

M18X1.5

M20X1.5

M20X1.5

M24X1.5

M25X1.5

M27X2.0

M30X2.0

M32X1.5

M36X2.0

M40X1.5

M50X1.5

M63X1.5

� �：SUS 304

����：	
��
� ����,��������O IP68

REMS.M16

REMS.M18

REMS.M20.A

REMS.M20.B

REMS.M24

REMS.M25

REMS.M27

REMS.M30

REMS.M32

REMS.M36

REMS.M40

REMS.M50

REMS.M63

90003301600

90003301800

90003302000

90003302010

90003302400

90003302500

90003302700

90003303000

90003303200

90003303600

90003304000

90003305000

90003306300

080

RoHs

H
mm

GL
mm

��
����

AG
���

����

IG SW
mm

GL2
mm

�E

�EA �EB

112�

 !"#:

SW

AG

IG

H

G
L

SW

AG

IG

G
2

L
G

L

H

ØD

$ %：&'RoHS()

*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

*
�
+
-
�
.
/
5

��
��

<



*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

081

REMS���� — PG������

7

7

7

7

7

8

9

10

10

18

21

23

26

32

45

50

55

65

30

30

30

20

20

10

10

5

5

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

10

10.5

10.5

10.5

11

13

14

15

16

REMS.PG9

REMS.PG11

REMS.PG13.5

REMS.PG16

REMS.PG21

REMS.PG29

REMS.PG36

REMS.PG42

REMS.PG48

90003310900

90003311100

90003311300

90003311600

90003312100

90003312900

90003313600

90003314200

90003314800

RoHs

H
mm

GL
mm

��
����

AG
���

����

IG SW
mm

112�

 !"#:

SW

AG

IG

H

G
L

� �：SUS 304

����：	
��
� ����,��������O IP68

$ %：&'RoHS()

��
��

<



REMS���� — NPT������

N3/8"

N1/2"

N3/4"

N1"

N1-1/4"

N1-1/2"

N2"

N2-1/2"

7

7

7

9

10

11

11

11

24

30

38

50

52

65

80

95

30

30

20

20

10

10

5

5

REMS.N1/2

REMS.N3/4

REMS.N1

REMS.N1.1/4

REMS.N1.1/2

REMS.N2

REMS.N2.1/2

REMS.N3

10

10.5

11

12

14

15

16

18

� �：SUS 304

����：	
��
� ����,��������O IP68

N1/2"

N3/4"

N1"

N1-1/4"

N1-1/2"

N2"

N2-1/2"

N3"

9 00 033 3050 0

9 00 033 3060 0

9 00 033 3070 0

9 00 033 3080 0

9 00 033 3090 0

9 00 033 3100 0

9 00 033 3110 0

9 00 033 3120 0

082

RoHs

H
mm

GL
mm

��
����

AG
���

����

IG SW
mm

112�

 !"#:

SW

AG

IG

H

G
L

$ %：&'RoHS()

*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

*
�
+
-
�
.
/
5

��
��

<



*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

083

REMS���� — G
�������

7

7

7

9

10

11

11

11

24

30

38

50

52

65

80

95

30

30

30

20

20

10

5

5

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G3"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G2"

10

10.5

11

12

14

15

16

18

� �：SUS 304

����：	
��
� ����,��������O IP68

REMS.G1/2

REMS.G3/4

REMS.G1

REMS.G1.1/4

REMS.G1.1/2

REMS.G2.A

REMS.G2.1/2

REMS.G2.B

9 00 033 2040 0

9 00 033 2060 0

9 00 033 2080 0

9 00 033 2100 0

9 00 033 2120 0

9 00 033 2140 0

9 00 033 2160 0

9 00 033 2141 0

RoHs

H
mm

GL
mm

��
����

AG
���

����

IG SW
mm

112�

 !"#:

SW

AG

IG

H

G
L

$ %：&'RoHS()

��
��

<



EWM���� — �������

� �：FGJK

����：	
��
� ����,��������O IP68

6

7

7

7

7

7

7

7

8

8

8

9

10

8

8.5

9.5

9.5

11.5

9

10.5

10.5

12.5

12.5

16

16

17

8

12

12

14

15.5

16

21

21

25

27

31

35

44

16

17.5

18.5

18.5

18.5

18.5

20

20

23

23.5

27

28

30.5

19

22

23

23

27

28

34

36

40

45

52

54

68

30

30

30

30

20

20

20

20

10

10

5

5

5

M16X1.5

M18X1.5

M20X1.5

M20X1.5

M24X1.5

M25X1.5

M30X2.0

M32X1.5

M36X2.0

M40X1.5

M48X2.0

M50X1.5

M63X1.5

M12X1.5

M16X1.5

M16X1.5

M18X1.5

M20X1.5

M20X1.5

M25X1.5

M25X1.5

M30X2.0

M32X1.5

M36X2.0

M40X1.5

M50X1.5

9 00 034 0120 0

9 00 034 0160 0

9 00 034 0161 0

9 00 034 0180 0

9 00 034 0200 0

9 00 034 0201 0

9 00 034 0250 0

9 00 034 0251 0

9 00 034 0300 0

9 00 034 0320 0

9 00 034 0360 0

9 00 034 0400 0

9 00 034 0500 0

EWM.M12

EWM.M16.A

EWM.M16.B

EWM.M18

EWM.M20.A

EWM.M20.B

EWM.M25.A

EWM.M25.B

EWM.M30

EWM.M32

EWM.M36

EWM.M40

EWM.M50

084

RoHs

H
mm

GL1
mm

��
����

AG
���

����

IG SW
mm

GL2
mm

ØD
mm

112�

 !"#:

SW

AG

IG

G
2

L
G

1
L

H

ØD

$ %：&'RoHS()

*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

*
�
+
-
�
.
/
5

��
��

<



*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

085

EWM���� — PG�����

6

7

7

7

7

7

7

7

7

7

7

8

9

10

8

9

9

9

11

12.5

11

13

12.5

13

13

16.5

18

19

9

11.5

11.5

15

15

15

17

17

19

19

23

32.5

42.5

48

16

18

18

18

20

22

20

22

22

22

22

27.5

31

33

18

22

24

24

26

32

26

32

32

40

40

50

57

64

30

30

30

30

20

20

20

20

10

10

10

5

5

5

PG9

PG11

PG13.5

PG13.5

PG16

PG21

PG16

PG21

PG21

PG29

PG29

PG36

PG42

PG48

PG7

PG9

PG9

PG11

PG11

PG11

PG13.5

PG13.5

PG16

PG16

PG21

PG29

PG36

PG42

9 00 034 1070 0

9 00 034 1090 0

9 00 034 1091 0

9 00 034 1110 0

9 00 034 1111 0

9 00 034 1112 0

9 00 034 1130 0

9 00 034 1131 0

9 00 034 1160 0

9 00 034 1161 0

9 00 034 1210 0

9 00 034 1290 0

9 00 034 1360 0

9 00 034 1420 0

� �： FGJK

����： 	
��
� ����,��������O IP68

EWM.PG7

EWM.PG9.A

EWM.PG9.B

EWM.PG11.A

EWM.PG11.B

EWM.PG11.C

EWM.PG13.5.A

EWM.PG13.5.B

EWM.PG16.A

EWM.PG16.B

EWM.PG21

EWM.PG29

EWM.PG36

EWM.PG42

RoHs

H
mm

GL1
mm

��
����

AG
���

����

IG SW
mm

GL2
mm

112�

 !"#:

ØD
mm

SW

AG

IG

G
2

L
G

1
L

H

ØD

$ %： &'RoHS()

��
��

<



EWM���� — NPT�����

10

13

13

14

14

16

16

17

17

17

14

14

16

16

17

17

17

17

17

17

12

15

15.5

21

21

25

25

35

42

42

27

31.5

35

35.5

37

39

39

39

39

39

24

30

36

36

55

45

52

52

52

65

50

50

30

20

20

10

10

5

5

5

N1/2"

N3/4"

N1"

N1"

N1-1/2"

N1-1/4"

N1-1/2"

N1-1/2"

N2"

N2"

N3/8"

N1/2"

N1/2"

N3/4"

N3/4"

N1"

N1"

N1-1/4"

N1-1/4"

N1-1/2"

� �：FGJK

����：	
��
� ����,��������O IP68

EWM.N3/8

EWM.N1/2.A

EWM.N1/2.B

EWM.N3/4.A

EWM.N3/4.B

EWM.N1.A

EWM.N1.B

EWM.N1.1/4.A

EWM.N1.1/4.B

EWM.N1.1/2

9 00 034 3040 0

9 00 034 3050 0

9 00 034 3051 0

9 00 034 3060 0

9 00 034 3061 0

9 00 034 3070 0

9 00 034 3071 0

9 00 034 3080 0

9 00 034 3081 0

9 00 034 3090 0

086

RoHs

H
mm

GL1
mm

��
����

AG
���

����

IG SW
mm

GL2
mm

112�

 !"#:

ØD
mm

SW

AG

IG

G
2

L
G

1
L

H

ØD

$ %：&'RoHS()

*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

*
�
+
-
�
.
/
5

��
��

<



*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

087

EWM���� — G
������

8

8

8

8

8

9

9

10

10

10

10

10.5

10.5

13

13

15

13

15

15

15

14

16

9

12

16

16

20

20

26

26

36

36

39

20.5

20.5

22

24

29

24

31

31

31

28

30

20

24

30

36

36

52

45

52

52

62

62

50

50

30

30

30

20

20

10

10

5

5

G3/8"

G1/2"

G3/4"

G1"

G1"

G1-1/2"

G1-1/4"

G1-1/2"

G1-1/2"

G2"

G2"

EWM.G1/4

EWM.G3/8

EWM.G1/2.A

EWM.G1/2.B

EWM.G3/4.A

EWM.G3/4.B

EWM.G1.A

EWM.G1.B

EWM.G1.1/4.A

EWM.G1.1/4.B

EWM.G1.1/2

G1/4"

G3/8"

G1/2"

G1/2"

G3/4"

G3/4"

G1"

G1"

G1-1/4"

G1-1/4"

G1-1/2"

9 00 034 2020 0

9 00 034 2030 0

9 00 034 2040 0

9 00 034 2041 0

9 00 034 2060 0

9 00 034 2061 0

9 00 034 2080 0

9 00 034 2081 0

9 00 034 2100 0

9 00 034 2101 0

9 00 034 2120 0

RoHs

H
mm

GL1
mm

��
����

AG
���

����

IG SW
mm

GL2
mm

112�

 !"#:

ØD
mm

SW

AG

IG

G
2

L
G

1
L

H

ØD

� �：FGJK

����：	
��
� ����,��������O IP68

$ %：&'RoHS()

��
��

<



EWMS���� — ��������

� �：SUS 304

����：	
��
� ����,��������O IP68

088

RoHs

6

7

7

7

7

7

7

7

8

8

8

9

10

8

8.5

9.5

9.5

11.5

9

10.5

10.5

12.5

12.5

16

16

17

8

12

12

14

15.5

16

21

21

25

27

31

35

44

16

17.5

18.5

18.5

23.5

18.5

20

20

23

23.5

27

28

30.5

19

22

23

23

27

28

34

36

40

45

52

54

68

30

30

30

30

20

20

20

20

10

10

5

5

5

M16X1.5

M18X1.5

M20X1.5

M20X1.5

M24X1.5

M25X1.5

M30X2.0

M32X1.5

M36X2.0

M40X1.5

M48X2.0

M50X1.5

M63X1.5

M12X1.5

M16X1.5

M16X1.5

M18X1.5

M20X1.5

M20X1.5

M25X1.5

M25X1.5

M30X2.0

M32X1.5

M36X2.0

M40X1.5

M50X1.5

EWMS.M12

EWMS.M16.A

EWMS.M16.B

EWMS.M18

EWMS.M20.A

EWMS.M20.B

EWMS.M25.A

EWMS.M25.B

EWMS.M30

EWMS.M32

EWMS.M36

EWMS.M40

EWMS.M50

9 00 035 0120 0

9 00 035 0160 0

9 00 035 0161 0

9 00 035 0180 0

9 00 035 0200 0

9 00 035 0201 0

9 00 035 0250 0

9 00 035 0251 0

9 00 035 0300 0

9 00 035 0320 0

9 00 035 0360 0

9 00 035 0400 0

9 00 035 0500 0

H
mm

GL1
mm

��
����

AG
���

����

IG SW
mm

GL2
mm

112�

 !"#:

ØD
mm

SW

AG

IG

G
2

L
G

1
L

H

ØD

$ %：&'RoHS()

*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

*
�
+
-
�
.
/
5

��
��

<



*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

089

EWMS���� — PG������

6

7

7

7

7

7

7

7

7

7

7

8

9

10

8

9

9

9

11

12.5

11

13

12.5

13

13

16.5

18

19

9

11.5

11.5

15

15

15

17

17

19

19

23

32.5

42.5

48

16

18

18

18

20

22

20

22

22

22

22

27.5

31

33

18

22

24

24

26

32

26

32

32

40

40

50

58

65

30

30

30

30

20

20

20

20

10

10

10

5

5

5

PG9

PG11

PG13.5

PG13.5

PG16

PG21

PG16

PG21

PG21

PG29

PG29

PG36

PG42

PG48

PG7

PG9

PG9

PG11

PG11

PG11

PG13.5

PG13.5

PG16

PG16

PG21

PG29

PG36

PG42

� �：SUS 304

����：	
��
� ����,��������O IP68

EWMS.PG7

EWMS.PG9.A

EWMS.PG9.B

EWMS.PG11.A

EWMS.PG11.B

EWMS.PG11.C

EWMS.PG13.5.A

EWMS.PG13.5.B

EWMS.PG16.A

EWMS.PG16.B

EWMS.PG21

EWMS.PG29

EWMS.PG36

EWMS.PG42

9 00 035 1070 0

9 00 035 1090 0

9 00 035 1091 0

9 00 035 1110 0

9 00 035 1111 0

9 00 035 1112 0

9 00 035 1130 0

9 00 035 1131 0

9 00 035 1160 0

9 00 035 1161 0

9 00 035 1210 0

9 00 035 1290 0

9 00 035 1360 0

9 00 035 1420 0

RoHs

H
mm

GL1
mm

�	
����

AG
���

����

IG SW
mm

GL2
mm

112�

 !"#:

ØD
mm

SW

AG

IG

G
2

L
G

1
L

H

ØD

$ %：&'RoHS()

��
��

<



EWMS���� — NPT������

10

13

13

14

14

16

16

17

17

17

14

14

16

16

17

17

17

17

17

17

12

15

15.5

21

21

25

25

35

42

42

27

31.5

35

35.5

37

39

39

39

39

39

24

30

36

36

55

45

52

52

52

65

50

50

30

20

20

10

10

5

5

5

N1/2"

N3/4"

N1"

N1"

N1-1/2"

N1-1/4"

N1-1/2"

N1-1/2"

N2"

N2"

N3/8"

N1/2"

N1/2"

N3/4"

N3/4"

N1"

N1"

N1-1/4"

N1-1/4"

N1-1/2"

� �：SUS 304

����：	
��
� ����,��������O IP68

EWMS.N3/8

EWMS.N1/2.A

EWMS.N1/2.B

EWMS.N3/4.A

EWMS.N3/4.B

EWMS.N1.A

EWMS.N1.B

EWMS.N1.1/4.A

EWMS.N1.1/4.B

EWMS.N1.1/2

9 00 035 3040 0

9 00 035 3050 0

9 00 035 3051 0

9 00 035 3060 0

9 00 035 3061 0

9 00 035 3070 0

9 00 035 3071 0

9 00 035 3080 0

9 00 035 3081 0

9 00 035 3090 0

090

RoHs

H
mm

GL1
mm

��
����

AG
���

����

IG SW
mm

GL2
mm

112�

 !"#:

ØD
mm

SW

AG

IG

G
2

L
G

1
L

H

ØD

$ %：&'RoHS()

*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

*
�
+
-
�
.
/
5

��
��

<



*
�
+
-
�
.
/
5

*
�
"
#

7
9
+
-
�
.
/
5

7
9
"
#

�
;
<
;
=
>

�
�
#

*
�
?
@

*
�
?
@
/
5
/
B
#

7
9
?
@

7
9
?
@
/
5

C
D
=
>

091

EWMS���� — G
�������

� �：SUS 304

����：	
��
� ����,��������O IP68

8

8

8

8

8

9

9

10

10

10

10

10.5

10.5

13

13

15

13

15

15

15

14

16

9

12

16

16

20

20

26

26

36

36

39

20.5

20.5

22

24

29

24

31

31

31

28

30

20

24

30

36

36

52

45

52

52

62

62

50

50

30

30

30

20

20

10

10

5

5

G3/8"

G1/2"

G3/4"

G1"

G1"

G1-1/2"

G1-1/4"

G1-1/2"

G1-1/2"

G2"

G2"

G1/4"

G3/8"

G1/2"

G1/2"

G3/4"

G3/4"

G1"

G1"

G1-1/4"

G1-1/4"

G1-1/2"

EWMS.G1/4

EWMS.G3/8

EWMS.G1/2.A

EWMS.G1/2.B

EWMS.G3/4.A

EWMS.G3/4.B

EWMS.G1.A

EWMS.G1.B

EWMS.G1.1/4.A

EWMS.G1.1/4.B

EWMS.G1.1/2

9 00 035 2020 0

9 00 035 2030 0

9 00 035 2040 0

9 00 035 2041 0

9 00 035 2060 0

9 00 035 2061 0

9 00 035 2080 0

9 00 035 2081 0

9 00 035 2100 0

9 00 035 2101 0

9 00 035 2120 0

RoHs

H
mm

GL1
mm

��
����

AG
���

����

IG SW
mm

GL2
mm

112�

 !"#:

ØD
mm

SW

AG

IG

G
2

L
G

1
L

H

ØD

$ %：&'RoHS()

��
��

<



GM���� — ���	���


��: ����

�	 
�ROHS

092

H
mm

�
 ���� ��
SW
mm

RoHs

2.8

2.8

3.0

3.0

3.0

3.5

3.5

4.0

4.0

4.0

4.0

4.0

4.5

5.0

5.0

5.5

5.0

5.0

6.0

6.0

50

50

50

50

50

50

20

20

20

20

20

20

10

10

10

10

10

10

5

5

GM.M12

GM.M16

GM.M18

GM.M20

GM.M22

GM.M24

GM.M25

GM.M27

GM.M30

GM.M32

GM.M33

GM.M36

GM.M40

GM.M42

GM.M48

GM.M50

GM.M56

GM.M60

GM.M63

GM.M64

9 00 036 0120 0

9 00 036 0160 0

9 00 036 0180 0

9 00 036 0200 0

9 00 036 0220 0

9 00 036 0240 0

9 00 036 0250 0

9 00 036 0270 0

9 00 036 0300 0

9 00 036 0320 0

9 00 036 0330 0

9 00 036 0360 0

9 00 036 0400 0

9 00 036 0420 0

9 00 036 0480 0

9 00 036 0500 0

9 00 036 0560 0

9 00 036 0600 0

9 00 036 0630 0

9 00 036 0640 0

M12×1.5

M16×1.5

M18×1.5

M20×1.5

M22×1.5

M24×1.5

M25×1.5

M27×1.5

M30×1.5

M32×1.5

M33×1.5

M36×1.5

M40×1.5

M42×1.5

M48×1.5

M50×1.5

M56×1.5

M60×1.5

M63×1.5

M64×1.5

15

19

21

23

26

28

29

32

34

36

36

40

45

46

55

55

60

65

70

70

SW

H

�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

��
��

<



2.8

2.8

3

3

3

3.5

4

5

5

5.5

50

50

50

50

50

20

20

10

10

5

GM.PG7

GM.PG9

GM.PG11

GM.PG13.5

GM.PG16

GM.PG21

GM.PG29

GM.PG36

GM.PG42

GM.PG48

9 00 036 1070 0

9 00 036 1090 0

9 00 036 1110 0

9 00 036 1130 0

9 00 036 1160 0

9 00 036 1210 0

9 00 036 1290 0

9 00 036 1360 0

9 00 036 1420 0

9 00 036 1480 0

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

15

18

21

23

26

32

41

51

60

64

��: ����

�	 
�ROHS

�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

���� — PG�	���
GM

093

H
mm

�
 ���� ��
SW
mm

RoHs

SW

H

��
��

<



094

��: ����

�	 
�ROHS

14

18

22

30

40

50

57

64

78

98

50

50

50

50

20

10

10

5

5

5

NPT 1/4"

NPT 3/8"

NPT 1/2"

NPT 3/4"

NPT 1"

NPT 1-1/4"

NPT 1-1/2"

NPT 2"

NPT 2-1/2"

NPT 3"

3.0

3.0

3.0

4.0

4.0

5.5

5.5

6.0

8.5

9.0

9 00 036 3030 0

9 00 036 3040 0

9 00 036 3050 0

9 00 036 3060 0

9 00 036 3070 0

9 00 036 3080 0

9 00 036 3090 0

9 00 036 3100 0

9 00 036 3110 0

9 00 036 3120 0

GM.NPT1/4

GM.NPT3/8

GM.NPT1/2

GM.NPT3/4

GM.NPT1

GM.NPT1.1/4

GM.NPT1.1/2

GM.NPT2

GM.NPT2.1/2

GM.NPT3

H
mm

�
 ���� ��
SW
mm

RoHs

SW

H

GM���� — NPT���	���


�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

��
��

<



095

�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

��: ����

�	 
�ROHS

Gm���� — G���	���


H
mm

�
 ���� ��
SW
mm

RoHs

3

4

4

5

5

6

6

7

8

50

50

25

20

20

20

20

20

20

GM.G3/8

GM.G1/2

GM.G1

GM.G3/4

GM.G1.1/4

GM.G1.1/2

GM.G2

GM.G2.1/2

GM.G3

9 00 036 2030 0

9 00 036 2040 0

9 00 036 2080 0

9 00 036 2060 0

9 00 036 2100 0

9 00 036 2120 0

9 00 036 2140 0

9 00 036 2160 0

9 00 036 2180 0

G3/8"

G1/2"

G1"

G3/4"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

20

20

30

40

50

55

65

80

95

SW

H

��
��

<



096

��: ����

�	 
�ROHS

2.8

2.8

3.0

3.5

4.5

5.0

5.0

6.0

50

50

50

20

20

10

10

5

GME.M12

GME.M16

GME.M20

GME.M25

GME.M32

GME.M40

GME.M50

GME.M63

9 00 037 0120 0

9 00 037 0160 0

9 00 037 0200 0

9 00 037 0250 0

9 00 037 0320 0

9 00 037 0400 0

9 00 037 0500 0

9 00 037 0630 0

M12×1.5

M16×1.5

M20×1.5

M25×1.5

M32×1.5

M40×1.5

M50×1.5

M63×1.5

15

19

24

30

36

46

60

70

GME���� — ���	�
���


H
mm

�
 ���� ��
SW
mm

RoHs

SW

H

�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

��
��

<



�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

097

2.8

2.8

3.0

3.0

3.0

3.5

4.0

5.0

5.0

5.5

50

50

50

50

50

20

20

10

10

5

GME.PG7

GME.PG9

GME.PG11

GME.PG13.5

GME.PG16

GME.PG21

GME.PG29

GME.PG36

GME.PG42

GME.PG48

9 00 037 1070 0

9 00 037 1090 0

9 00 037 1110 0

9 00 037 1130 0

9 00 037 1160 0

9 00 037 1210 0

9 00 037 1290 0

9 00 037 1360 0

9 00 037 1420 0

9 00 037 1480 0

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

15

18

21

23

26

32

41

51

60

64

��: ����

�	 
�ROHS

GME���� — PG�	�
���


H
mm

�
 ���� ��
SW
mm

RoHs

SW

H

��
��

<



098

��: +,-

�	 
�

304

ROHS

GMS���� — ������


H
mm

�
 ���� ��
SW
mm

RoHs

2.8

2.8

3.0

3.0

3.0

3.5

3.5

4.0

4.0

3.5

4.0

4.0

5.0

5.0

5.0

5.0

5.0

5.0

6.0

6.0

50

50

50

50

50

50

20

20

20

20

20

20

10

10

10

10

10

10

5

5

GMS.M12

GMS.M16

GMS.M18

GMS.M20

GMS.M22

GMS.M24

GMS.M25

GMS.M27

GMS.M30

GMS.M32

GMS.M33

GMS.M36

GMS.M40

GMS.M42

GMS.M48

GMS.M50

GMS.M56

GMS.M60

GMS.M63

GMS.M64

9 00 038 0120 0

9 00 038 0160 0

9 00 038 0180 0

9 00 038 0200 0

9 00 038 0220 0

9 00 038 0240 0

9 00 038 0250 0

9 00 038 0270 0

9 00 038 0300 0

9 00 038 0320 0

9 00 038 0330 0

9 00 038 0380 0

9 00 038 0400 0

9 00 038 0420 0

9 00 038 0480 0

9 00 038 0500 0

9 00 038 0560 0

9 00 038 0600 0

9 00 038 0630 0

9 00 038 0640 0

M12×1.5

M16×1.5

M18×1.5

M20×1.5

M22×1.5

M24×1.5

M25×1.5

M27×1.5

M30×1.5

M32×1.5

M33×1.5

M36×1.5

M40×1.5

M42×1.5

M48×1.5

M50×1.5

M56×1.5

M60×1.5

M63×1.5

M64×1.5

15

19

21

24

26

28

30

32

34

36

36

40

46

46

55

57

60

65

70

70

SW

H

�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

��
��

<



�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

099

��: +,-

�	 
�

304

ROHS

2.8

2.8

3.0

3.0

3.0

3.5

4.0

5.0

50

50

50

50

50

20

20

10

GMS.PG7

GMS.PG9

GMS.PG11

GMS.PG13.5

GMS.PG16

GMS.PG21

GMS.PG29

GMS.PG36

9 00 038 1070 0

9 00 038 1090 0

9 00 038 1110 0

9 00 038 1130 0

9 00 038 1160 0

9 00 038 1210 0

9 00 038 1290 0

9 00 038 1360 0

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

17

22

22

24

27

32

41

50

GMS���� — PG����


H
mm

�
 ���� ��
SW
mm

RoHs

SW

H

��
��

<



100

GMS���� — NPT�	����


��: +,-

�	 
�

304

ROHS

3.0

3.0

3.0

4.0

4.0

5.5

5.5

6.0

8.5

9.0

50

50

50

50

20

10

10

5

5

5

GMS.NPT1/4

GMS.NPT3/8

GMS.NPT1/2

GMS.NPT3/4

GMS.NPT1

GMS.NPT1.1/4

GMS.NPT1.1/2

GMS.NPT2

GMS.NPT2.1/2

GMS.NPT3

9 00 038 3030 0

9 00 038 3040 0

9 00 038 3050 0

9 00 038 3060 0

9 00 038 3070 0

9 00 038 3080 0

9 00 038 3090 0

9 00 038 3100 0

9 00 038 3110 0

9 00 038 3120 0

NPT 1/4"

NPT 3/8"

NPT 1/2"

NPT 3/4"

NPT 1"

NPT 1-1/4"

NPT 1-1/2"

NPT 2"

NPT 2-1/2"

NPT 3"

14

18

22

30

40

50

57

64

78

98

H
mm

�
 ���� ��
SW
mm

RoHs

SW

H

�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

��
��

<



�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

101

GMS���� — G���	����


��: +,-

�	 
�

304

ROHS

H
mm

�
 ���� ��
SW
mm

RoHs

3

4

4

5

5

6

6

7

8

50

50

25

20

20

20

20

20

20

GMS.G3/8

GMS.G1/2

GMS.G1

GMS.G3/4

GMS.G1.1/4

GMS.G1.1/2

GMS.G2

GMS.G2.1/2

GMS.G3

G3/8"

G1/2"

G1"

G3/4"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

20

20

30

40

50

55

65

80

95

9 00 038 2030 0

9 00 038 2040 0

9 00 038 2080 0

9 00 038 2060 0

9 00 038 2100 0

9 00 038 2120 0

9 00 038 2140 0

9 00 038 2160 0

9 00 038 2180 0

SW

H

��
��

<



102

��: +,-

�	 
�

304

ROHS

2.8

2.8

3.0

3.5

4.5

5.0

5.0

6.0

50

50

50

20

20

10

10

5

GMES.M12

GMES.M16

GMES.M20

GMES.M25

GMES.M32

GMES.M40

GMES.M50

GMES.M63

9 00 039 0120 0

9 00 039 0160 0

9 00 039 0200 0

9 00 039 0250 0

9 00 039 0320 0

9 00 039 0400 0

9 00 039 0500 0

9 00 039 0630 0

M12×1.5

M16×1.5

M20×1.5

M25×1.5

M32×1.5

M40×1.5

M50×1.5

M63×1.5

15

19

24

30

36

46

60

70

GMES���� — ���	�
����


RoHs

H
mm

�
 ���� ��
SW
mm

SW

H

�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

��
��

<



�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�

�
�
�
�

�
 
!
 
"
#

$
%
�

�
�
&
'

�
�
&
'
�
�
/
(
�

�
�
&
'

�
�
&
'
�
�

)
*
"
#

103

��: +,-

�	 
�

304

ROHS

2.8

2.8

3.0

3.0

3.0

3.5

4.0

5.0

5

5.5

50

50

50

50

50

20

20

10

10

5

GMES.PG7

GMES.PG9

GMES.PG11

GMES.PG13.5

GMES.PG16

GMES.PG21

GMES.PG29

GMES.PG36

GMES.PG42

GMES.PG48

9 00 039 1070 0

9 00 039 1090 0

9 00 039 1110 0

9 00 039 1130 0

9 00 039 1160 0

9 00 039 1210 0

9 00 039 1290 0

9 00 039 1360 0

9 00 039 1420 0

9 00 039 1480 0

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

15

18

21

23

26

32

41

51

60

64

GMES���� — PG�	�
����


RoHs

H
mm

�
 ���� ��
SW
mm

SW

H

��
��

<



104



105

������



� �：
��


� � �：���、����

����：IP66

����：- ℃- ℃40 100

��� ：!"：- ℃# ℃ $%&'(# ℃ )":- ℃# ℃ $%&'(# ℃40 100  , 120  , 20 80  , 100

+.��： L94 V2-U

��/3 Exd llc Gb：

EXM.KZ.M16

EXM.KZ.M20

EXM.KZ.M25

EXM.KZ.M32

EXM.KZ.M40

EXM.KZ.M50

EXM.KZ.M63

EXM.KZ.M75

EXM.KZ.M85

EXM.KZ.M90

EXM.KZ.M100

EXM.KZ.M110

M16×1.5

M20×1.5

M25×1.5

M32×1.5

M40×1.5

M50×1.5

M63×1.5

M75×1.5

M85×1.5

M90×1.5

M100×1.5

M110×1.5

7-15

8-15

11-20

14-27

19-33

22-40

29-50

35-63

41-77

41-77

55-90

61-104

67

67

71

76

76

94

98

112

114

126

126

128

15

15

15

17

17

17

17

17

18

18

18

18

5-8

5-12

8-17

11-22

14-28

16-33

29-43

38-57

38-72

38-72

48-83

48-94

9 00 040 0160 0

9 00 040 0200 0

9 00 040 0250 0

9 00 040 0320 0

9 00 040 0400 0

9 00 040 0500 0

9 00 040 0630 0

9 00 040 0750 0

9 00 040 0850 0

9 00 040 0900 0

9 00 040 5100 0

9 00 040 5110 0

106

EXM���� — ����	
����

57 9;<=

>?@A

BC
mm

DC
mm

H
mm

GL
mm

EF7

50

50

20

20

10

10

5

1

1

1

1

1

RoHs IP66

AG

G
L

H

G
H

>
?

�
J

�
�

G
H

K
�

L
M

>
?

�
J

�
�

L
M

K
�

�
�

�
�

N
O

�
�

�
G

H
Q

R
G

H
Q

R
�

�
/
T

�
L

M
Q

R
L

M
Q

R
�

�
U

V
N

O

��
��

<



� �：
��


� � �：���、����

����：IP66

����：- ℃- ℃40 100

��� ：!":- ℃# ℃ $%&'(# ℃ )":- ℃# ℃ $%&'(# ℃40 100  , 120  , 20 80  , 100

+.��： L94 V2-U

��/3 Exd llc Gb：

EXM.KZ.G1/2

EXM.KZ.G3/4

EXM.KZ.G1

EXM.KZ.G1.1/4

EXM.KZ.G1.1/2

EXM.KZ.G2

EXM.KZ.G2.1/2

EXM.KZ.G3

EXM.KZ.G4

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

G4"

8-15

11-20

14-27

19-33

22-40

29-50

35-63

41-77

61-104

67

71

76

76

94

98

112

126

128

15

15

17

17

17

17

17

18

18

5-12

8-17

11-22

14-28

16-33

29-43

38-57

38-72

48-94

9 00 040 1040 0

9 00 040 1060 0

9 00 040 1080 0

9 00 040 1100 0

9 00 040 1120 0

9 00 040 1140 0

9 00 040 1160 0

9 00 040 1180 0

9 00 040 1200 0

G
H

>
?

�
J

�
�

G
H

K
�

L
M

>
?

�
J

�
�

L
M

K
�

�
�

�
�

N
O

�
�

�
G

H
Q

R
G

H
Q

R
�

�
/
T

�
L

M
Q

R
L

M
Q

R
�

�
U

V
N

O

107

EXM���� — G
���	
����

57 9;<=

>?@A

BC
mm

DC
mm

H
mm

GL
mm

EF7

50

50

20

10

10

5

5

5

5

RoHs IP66

AG

G
L

H

��
��

<



EXMS���� — �����������

M16×1.5

M20×1.5

M25×1.5

M32×1.5

M40×1.5

M50×1.5

M63×1.5

M75×1.5

M85×1.5

M90×1.5

M100×1.5

M110×1.5

7-15

8-15

11-20

14-27

19-33

22-40

29-50

35-63

41-77

41-77

55-90

61-104

67

67

71

76

76

94

98

112

114

126

126

128

15

15

15

17

17

17

17

17

18

18

18

18

5-8

5-12

8-17

11-22

14-28

16-33

29-43

38-57

38-72

38-72

48-83

48-94

9 00 041 0160 0

9 00 041 0200 0

9 00 041 0250 0

9 00 041 0320 0

9 00 041 0400 0

9 00 041 0500 0

9 00 041 0630 0

9 00 041 0750 0

9 00 041 0850 0

9 00 041 0900 0

9 00 041 5100 0

9 00 041 5110 0

EXMS.KZ.M16

EXMS.KZ.M20

EXMS.KZ.M25

EXMS.KZ.M32

EXMS.KZ.M40

EXMS.KZ.M50

EXMS.KZ.M63

EXMS.KZ.M75

EXMS.KZ.M85

EXMS.KZ.M90

EXMS.KZ.M100

EXMS.KZ.M110

108

RoHs IP66

57 9;<=

>?@A

BC
mm

DC
mm

H
mm

GL
mm

EF7

50

50

20

20

10

10

5

1

1

1

1

1

AG

G
L

H

� �：
��


� � �：���、����

����：IP66

����：- ℃- ℃40 100

��� ：!":- ℃# ℃ $%&'(# ℃ )":- ℃# ℃ $%&'(# ℃40 100  , 120  , 20 80  , 100

+.��： L94 V2-U

��/3 Exd llc Gb：

G
H

>
?

�
J

�
�

G
H

K
�

L
M

>
?

�
J

�
�

L
M

K
�

�
�

�
�

N
O

�
�

�
G

H
Q

R
G

H
Q

R
�

�
/
T

�
L

M
Q

R
L

M
Q

R
�

�
U

V
N

O

��
��

<



EXMS���� — G
����������

EXMS.KZ.G1/2

EXMS.KZ.G3/4

EXMS.KZ.G1

EXMS.KZ.G1.1/4

EXMS.KZ.G1.12

EXMS.KZ.G2

EXMS.KZ.G2.1/2

EXMS.KZ.G3

EXMS.KZ.G4

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

G4"

8-15

11-20

14-27

19-33

22-40

29-50

35-63

41-77

61-104

67

71

76

76

94

98

112

126

128

15

15

17

17

17

17

17

18

18

5-12

8-17

11-22

14-28

16-33

29-43

38-57

38-72

48-94

9 00 041 1040 0

9 00 041 1060 0

9 00 041 1080 0

9 00 041 1100 0

9 00 041 1120 0

9 00 041 1140 0

9 00 041 1160 0

9 00 041 1180 0

9 00 041 1200 0

G
H

>
?

�
J

�
�

G
H

K
�

L
M

>
?

�
J

�
�

L
M

K
�

�
�

�
�

N
O

�
�

�
G

H
Q

R
G

H
Q

R
�

�
/
T

�
L

M
Q

R
L

M
Q

R
�

�
U

V
N

O

109

RoHs IP66

57 9;<=

>?@A
H

mm
GL
mm

EF7
BC
mm

DC
mm

50

50

20

10

10

5

5

5

5

AG

G
L

H

� �：
��


� � �：���、����

����：IP66

����：- ℃- ℃40 100

��� ：!":- ℃# ℃ $%&'(# ℃ )":- ℃# ℃ $%&'(# ℃40 100  , 120  , 20 80  , 100

+.��： L94 V2-U

��/3 Exd llc Gb：

��
��

<



110



111

���



��� — ��O����

10

13

14

16

17

18

22

29

32.5

42

47.5

53

13

16.6

17.6

19.6

20.8

22

27

33

37.8

47.3

52.7

58

1.5

1.8

1.8

1.8

1.9

2

2.5

2

2.65

2.65

2.6

2.5

100

100

100

100

100

100

100

100

50

50

50

50

M12,PG7

M16,PG9

M18

PG11

M20,PG13.5

M22,PG16,M25

PG21

M32

M40,PG29

M50,PG36

PG42

M63,PG48

OR.NBR.10BK

OR.NBR.13BK

OR.NBR.14BK

OR.NBR.16BK

OR.NBR.17BK

OR.NBR.18BK

OR.NBR.22BK

OR.NBR.29BK

OR.NBR.33BK

OR.NBR.42BK

OR.NBR.48BK

OR.NBR.53BK

112

� �：�	
�
	 �：
�
����：-25 -120℃ ℃

� �：������、����� 、!"#、$"#、%&'。

OD
mm

)* +,./ 34*
mm
ID

RoHs

T
mm

T

ID

OD

9 00 056 4100 2

9 00 056 4130 2

9 00 056 4140 2

9 00 056 4160 2

9 00 056 4170 2

9 00 056 4180 2

9 00 056 4220 2

9 00 056 4290 2

9 00 056 4330 2

9 00 056 4420 2

9 00 056 4480 2

9 00 056 4530 2

��� — 	
��O����

10

13

14

16

17

18

22

29

32.5

42

47.5

53

13

16.6

17.6

19.6

20.8

22

27

33

37.8

47.3

52.7

58

1.5

1.8

1.8

1.8

1.9

2

2.5

2

2.65

2.65

2.6

2.5

900 110 4100 2

900 110 4130 2

900 110 4140 2

900 110 4160 2

900 110 4170 2

900 110 4180 2

900 110 4220 2

900 110 4290 2

900 110 4330 2

900 110 4420 2

900 110 4480 2

900 110 4530 2

100

100

100

100

100

100

100

100

50

50

50

50

M12,PG7

M16,PG9

M18

PG11

M20,PG13.5

M22,PG16,M25

PG21

M32

M40,PG29

M50,PG36

PG42

M63,PG48

OR.EPDM.10BK

OR.EPDM.13BK

OR.EPDM.14BK

OR.EPDM.16BK

OR.EPDM.17BK

OR.EPDM.18BK

OR.EPDM.22BK

OR.EPDM.29BK

OR.EPDM.33BK

OR.EPDM.42BK

OR.EPDM.48BK

OR.EPDM.53BK

� �：6789
	 �：
:;
����：-40 -150℃ ℃

� �：������、����� 、!"#、$"#、%&'。

OD
mm

)* +,./ 34*
mm
ID

RoHs

T
mm

T

ID

OD

�
�
=
>
�
�
�
 

�
�
?
�

�
�
=
>
�
�
�
 

�
�
?
�

�
@
A
@
B
C

�
�
�

�
�
D
E

�
�
D
E
�
 
/
G
�

�
�
D
E

�
�
D
E
�
 

H
I
B
C

��
��

<



�
�
=
>
�
�
�
 

�
�
?
�

�
�
=
>
�
�
�
 

�
�
?
�

�
@
A
@
B
C

�
�
�

�
�
D
E

�
�
D
E
�
 
/
G
�

�
�
D
E

�
�
D
E
�
 

H
I
B
C

113

RoHs

� �：J
�

	 �：
K�、
L�

����：-

� �：������、����� 、!"#、$"#、%&'。

50 -230℃ ℃

10

13

14

16

17

18

22

29

32.5

42

47.5

53

13

16.6

17.6

19.6

20.8

22

27

33

37.8

47.3

52.7

58

1.5

1.8

1.8

1.8

1.9

2

2.5

2

2.65

2.65

2.6

2.5

9 00 057 4100 2

9 00 057 4130 2

9 00 057 4140 2

9 00 057 4160 2

9 00 057 4170 2

9 00 057 4180 2

9 00 057 4220 2

9 00 057 4290 2

9 00 057 4330 2

9 00 057 4420 2

9 00 057 4480 2

9 00 057 4530 2

100

100

100

100

100

100

100

100

50

50

50

50

M12,PG7

M16,PG9

M18

PG11

M20,PG13.5

M22,PG16,M25

PG21

M32

M40,PG29

M50,PG36

PG42

M63,PG48

OR.SI.10BK

OR.SI.13BK

OR.SI.14BK

OR.SI.16BK

OR.SI.17BK

OR.SI.18BK

OR.SI.22BK

OR.SI.29BK

OR.SI.33BK

OR.SI.42BK

OR.SI.48BK

OR.SI.53BK

OD
mm

)* +,./ 34*T
mmmm

ID

T

ID

OD

���— 
�O����

��
��

<



114

10.5

14.5

16.5

18.5

23.5

30.5

38.5

18.5

61.5

15

19

22

24

30

38

46

56

67

1.6

2

2

2

2

2.5

2.5

2.5

2.5

900 111 0120 2

900 111 0160 2

900 111 0180 2

900 111 0200 2

900 111 0250 2

900 111 0320 2

900 111 0400 2

900 111 0500 2

900 111 0630 2

100

100

100

100

100

100

50

50

50

M12

M16

M18

M20

M25

M32

M40

M50

M63

FR.EPDM.M12

FR.EPDM.M16

FR.EPDM.M18

FR.EPDM.M20

FR.EPDM.M25

FR.EPDM.M32

FR.EPDM.M40

FR.EPDM.M50

FR.EPDM.M63

T
mm

OD
mm

)* +,./ 34*
mm
ID

��� — ���������

� �：

����DE� 

�	
�
	 �：
�
����：- -

� �：

25 120℃ ℃

RoHs

��� — 	
���������

RoHs

� �：

����DE� 

6789
	 �：
:;
����：- -

� �：

40 150℃ ℃

10.5

14.5

16.5

18.5

23.5

30.5

38.5

18.5

61.5

15

19

22

24

30

38

46

56

67

1.6

2

2

2

2

2.5

2.5

2.5

2.5

9 00 058 0120 2

9 00 058 0160 2

9 00 058 0180 2

9 00 058 0200 2

9 00 058 0250 2

9 00 058 0320 2

9 00 058 0400 2

9 00 058 0500 2

9 00 058 0630 2

100

100

100

100

100

100

50

50

50

M12

M16

M18

M20

M25

M32

M40

M50

M63

FR.M12

FR.M16

FR.M18

FR.M20

FR.M25

FR.M32

FR.M40

FR.M50

FR.M63

T
mm

OD
mm

)* +,./ 34*
mm
ID

T

ID

OD

T

ID

OD

�
�
=
>
�
�
�
 

�
�
?
�

�
�
=
>
�
�
�
 

�
�
?
�

�
@
A
@
B
C

�
�
�

�
�
D
E

�
�
D
E
�
 
/
G
�

�
�
D
E

�
�
D
E
�
 

H
I
B
C

��
��

<



�
�
=
>
�
�
�
 

�
�
?
�

�
�
=
>
�
�
�
 

�
�
?
�

�
@
A
@
B
C

�
�
�

�
�
D
E

�
�
D
E
�
 
/
G
�

�
�
D
E

�
�
D
E
�
 

H
I
B
C

115

T
mm

OD
mm

)* +,./ 34*
mm
ID

RoHs

RoHs

T
mm

OD
mm

)* +,./ 34*
mm
ID

��� — 	
��PG�����

T

ID

OD

11.5

14

17.5

19

21

27

35.5

45.5

58

15

19

22

24

27

33

42

52

65

2

2

2

2

2

2.5

2.5

2.5

2.5

900 111 1070 2

900 111 1090 2

900 111 1110 2

900 111 1130 2

900 111 1160 2

900 111 1210 2

900 111 1290 2

900 111 1360 2

900 111 1420 2

100

100

100

100

100

100

50

50

50

FR.EPDM.PG7

FR.EPDM.PG9

FR.EPDM.PG11

FR.EPDM.PG13.5

FR.EPDM.PG16

FR.EPDM.PG21

FR.EPDM.PG29

FR.EPDM.PG36

FR.EPDM.PG48

P 7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG48

G

��� — ��PG�����

11.5

14

17.5

19

21

27

35.5

45.5

58

15

19

22

24

27

33

42

52

65

2

2

2

2

2

2.5

2.5

2.5

2.5

9 00 058 1070 2

9 00 058 1090 2

9 00 058 1110 2

9 00 058 1130 2

9 00 058 1160 2

9 00 058 1210 2

9 00 058 1290 2

9 00 058 1360 2

9 00 058 1480 2

100

100

100

100

100

100

50

50

50

FR.PG7

FR.PG9

FR.PG11

FR.PG13.5

FR.PG16

FR.PG21

FR.PG29

FR.PG36

FR.PG48

P 7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG48

G

T

ID

OD
� �：

����DE� 

�	
�
	 �：
�
����：- -

� �：

25 120℃ ℃

� �：

����DE� 

6789
	 �：
:;
����：- -

� �：

40 150℃ ℃

��
��

<



116



117

����



118

RoHs

���� — ����

� � : ��6

	 
 : �
/�
,
�	
����

� � : -40 -115℃ ℃

� � : ����,�����,� !,"#$%,&'、)、*+.,&012

3457 : 849;<=>,?@2A,BCD�EF,GH�I.

35

40

45

50

65

75

85

100

120

150

190

9 00 059 6100 1

9 00 059 6110 1

9 00 059 6130 1

9 00 059 6150 1

9 00 059 6180 1

9 00 059 6210 1

9 00 059 6250 1

9 00 059 6280 1

9 00 059 6340 1

9 00 059 6420 1

9 00 059 6540 1

200

100

100

100

100

100

100

100

100

50

25

13

15

20

35

40

45

50

55

65

90

100

CK.PA.AD10(B/G)

CK.PA.AD11.6(B/G)

CK.PA.AD13(B/G)

CK.PA.AD15.8(B/G)

CK.PA.AD18.5(B/G)

CK.PA.AD21.2(B/G)

CK.PA.AD25(B/G)

CK.PA.AD28.5(B/G)

CK.PA.AD34.5(B/G)

CK.PA.AD42.5(B/G)

CK.PA.AD54.5(B/G)

6.7x10.0

8.2x11.8

10.0x13.0

12.2x15.8

14.2x18.7

16.7x21.2

19.7x25.2

23.0x28.5

28.4x34.5

36.0x42.5

48.0x54.5

9 00 059 6100 2

9 00 059 6110 2

9 00 059 6130 2

9 00 059 6150 2

9 00 059 6180 2

9 00 059 6210 2

9 00 059 6250 2

9 00 059 6280 2

9 00 059 6340 2

9 00 059 6420 2

9 00 059 6540 2

JK LM 1M NOK（�Q
）STU!VM
mm

NOK（�
）
（W/X）

YTU!VM
mm

�
�
B
Z
[
\
�
]

�
�
^
_

`
a
B
Z
[
\
�
]

`
a
^
_

[
b
c
b
E
d

e
f
_

�
�
�
�

�
�
�
�
�
]
/
g
_

`
a
�
�

`
a
�
�
�
]

G
h
E
d

��
��

<



���� — �	V0����

35

40

45

55

65

75

85

100

120

150

190

9 00 060 6100 1

9 00 060 6110 1

9 00 060 6130 1

9 00 060 6150 1

9 00 060 6180 1

9 00 060 6210 1

9 00 060 6250 1

9 00 060 6280 1

9 00 060 6340 1

9 00 060 6420 1

9 00 060 6540 1

200

100

100

100

100

100

100

100

100

50

25

13

15

20

35

40

45

50

55

65

90

100

CK.PAV0.AD10(B/G)

CK.PAV0.AD11.6(B/G)

CK.PAV0.AD13(B/G)

CK.PAV0.AD15.8(B/G)

CK.PAV0.AD18.5(B/G)

CK.PAV0.AD21.2(B/G)

CK.PAV0.AD25(B/G)

CK.PAV0.AD28.5(B/G)

CK.PAV0.AD34.5(B/G)

CK.PAV0.AD42.5(B/G)

CK.PAV0.AD54.5(B/G)

6.7x10.0

8.2x11.8

10.0x13.0

12.2x15.8

14.2x18.7

16.7x21.2

19.7x25.2

23.0x28.5

28.4x34.5

36.0x42.5

48.0x54.5

9 00 060 6100 2

9 00 060 6110 2

9 00 060 6130 2

9 00 060 6150 2

9 00 060 6180 2

9 00 060 6210 2

9 00 060 6250 2

9 00 060 6280 2

9 00 060 6340 2

9 00 060 6420 2

9 00 060 6540 2

� � : ��6

	 
 : �
/�
,
�	
����

� � : - ℃ ℃40 -115

� � : ����,�����,� !,"#$%,&'、)、*+.,&012

ij.k: -UL94 V0

3457 : 849;<=>,?@2A,BCD�EF,GH�I.

�
�
B
Z
[
\
�
]

�
�
^
_

`
a
B
Z
[
\
�
]

`
a
^
_

[
b
c
b
E
d

e
f
_

�
�
�
�

�
�
�
�
�
]
/
g
_

`
a
�
�

`
a
�
�
�
]

G
h
E
d

119

RoHs

LM 1MJK NOK（�Q
）STU!VM
mm

NOK（�
）
（W/X）

YTU!VM
mm

��
��

<



120



���� — 
������

� � :��6

	 
 :�
/�
,
�	
����。

� � :-40 -150℃ ℃

� � :����,�����,� !,"#$%,&'、)、*+.,&012。

ij.k:UL94 V2-

3457:849;<=>,?@2A,BCD�EF,GH�I.。

�
�
B
Z
[
\
�
]

�
�
^
_

`
a
B
Z
[
\
�
]

`
a
^
_

[
b
c
b
E
d

e
f
_

�
�
�
�

�
�
�
�
�
]
/
g
_

`
a
�
�

`
a
�
�
�
]

G
h
E
d

121

35

40

45

55

65

9 00 062 6100 1

9 00 062 6110 1

9 00 062 6130 1

9 00 062 6150 1

9 00 062 6180 1

200

100

100

100

100

13

15

20

35

40

CK.PAHT.AD10(B/G)

CK.PAHT.AD11.6(B/G)

CK.PAHT.AD13(B/G)

CK.PAHT.AD15.8(B/G)

CK.PAHT.AD18.5(B/G)

6.7x10.0

8.2x11.8

10.0x13.0

12.2x15.8

14.2x18.7

9 00 062 6100 2

9 00 062 6110 2

9 00 062 6130 2

9 00 062 6150 2

9 00 062 6180 2

75

85

100

120

150

190

9 00 062 6210 1

9 00 062 6250 1

9 00 062 6280 1

9 00 062 6340 1

9 00 062 6420 1

9 00 062 6540 1

100

100

100

100

50

25

45

50

55

65

90

100

CK.PAHT.AD21.2(B/G)

CK.PAHT.AD25(B/G)

CK.PAHT.AD28.5(B/G)

CK.PAHT.AD34.5(B/G)

CK.PAHT.AD42.5(B/G)

CK.PAHT.AD54.5(B/G)

16.7x21.2

19.7x25.2

23.0x28.5

28.4x34.5

36.0x42.5

48.0x54.5

9 00 062 6210 2

9 00 062 6250 2

9 00 062 6280 2

9 00 062 6340 2

9 00 062 6420 2

9 00 062 6540 2

RoHs

JK LM 1M NOK（�Q
）STU!VM
mm

NOK（�
）
（W/X）

YTU!VM
mm

��
��

<



122

���� — ���	
��

35

40

45

50

65

75

85

100

120

150

190

9 00 063 6100 1

9 00 063 6110 1

9 00 063 6130 1

9 00 063 6150 1

9 00 063 6180 1

9 00 063 6210 1

9 00 063 6250 1

9 00 063 6280 1

9 00 063 6340 1

9 00 063 6420 1

9 00 063 6540 1

200

100

100

100

100

100

100

100

100

50

25

13

15

20

35

40

45

50

55

65

90

100

CK.PASL.AD10(B/G)

CK.PASL.AD11.6(B/G)

CK.PASL.AD13(B/G)

CK.PASL.AD15.8(B/G)

CK.PASL.AD18.5(B/G)

CK.PASL.AD21.2(B/G)

CK.PASL.AD25(B/G)

CK.PASL.AD28.5(B/G)

CK.PASL.AD34.5(B/G)

CK.PASL.AD42.5(B/G)

CK.PASL.AD54.5(B/G)

6.7x10.0

8.2x11.8

10.0x13.0

12.2x15.8

14.2x18.7

16.7x21.2

19.7x25.2

23.0x28.5

28.4x34.5

36.0x42.5

48.0x54.5

9 00 063 6100 2

9 00 063 6110 2

9 00 063 6130 2

9 00 063 6150 2

9 00 063 6180 2

9 00 063 6210 2

9 00 063 6250 2

9 00 063 6280 2

9 00 063 6340 2

9 00 063 6420 2

9 00 063 6540 2

RoHs

JK LM 1M NOK（�Q
）STU!VM
mm

NOK（�
）
（W/X）

YTU!VM
mm

� � :��6

	 
 :�
/�
,
�	
����。

� � :-40 -115℃ ℃

� � :����,�����,� !,"#$%,&'、)、*+.,&012。

3457 :849;<=>,?@2A,BCD�EF,GH�I.。

�
�
B
Z
[
\
�
]

�
�
^
_

`
a
B
Z
[
\
�
]

`
a
^
_

[
b
c
b
E
d

e
f
_

�
�
�
�

�
�
�
�
�
]
/
g
_

`
a
�
�

`
a
�
�
�
]

G
h
E
d

��
��

<



���� — PE��

� �： wx y

	 
：�
/�
,
�	
����

� �：

� �：����,�����,� !,"#$%,&'、)、*+.,&012

3457：849;<=>,?@2A,BCD�EF,GH�I.

�
�
B
Z
[
\
�
]

�
�
^
_

`
a
B
Z
[
\
�
]

`
a
^
_

[
b
c
b
E
d

e
f
_

�
�
�
�

�
�
�
�
�
]
/
g
_

`
a
�
�

`
a
�
�
�
]

G
h
E
d

123

35

40

45

55

65

75

85

100

120

150

190

9 00 064 6100 1

9 00 064 6110 1

9 00 064 6130 1

9 00 064 6150 1

9 00 064 6180 1

9 00 064 6210 1

9 00 064 6250 1

9 00 064 6280 1

9 00 064 6340 1

9 00 064 6420 1

9 00 064 6540 1

200

100

100

100

100

100

100

100

100

50

25

13

15

20

35

40

45

50

55

65

90

100

CK.PE.AD10(B/G)

CK.PE.AD11.6(B/G)

CK.PE.AD13(B/G)

CK.PE.AD15.8(B/G)

CK.PE.AD18.5(B/G)

CK.PE.AD21.2(B/G)

CK.PE.AD25(B/G)

CK.PE.AD28.5(B/G)

CK.PE.AD34.5(B/G)

CK.PE.AD42.5(B/G)

CK.PE.AD54.5(B/G)

6.7x10.0

8.2x11.8

10.0x13.0

12.2x15.8

14.2x18.7

16.7x21.2

19.7x25.2

23.0x28.5

28.4x34.5

36.0x42.5

48.0x54.5

9 00 064 6100 2

9 00 064 6110 2

9 00 064 6130 2

9 00 064 6150 2

9 00 064 6180 2

9 00 064 6210 2

9 00 064 6250 2

9 00 064 6280 2

9 00 064 6340 2

9 00 064 6420 2

9 00 064 6540 2

RoHs

JK LM 1M NOK（�Q
）STU!VM
mm

NOK（�
）
（W/X）

YTU!VM
mm

-50 -80℃ ℃

��
��

<



124

���� — ��V0 PE��

� �:x yw

	 
:�
/�
,
�	
����

� �: -50 -80℃ ℃

� �:����,�����,� !,"#$%,&'、)、*+.,&012

ij.k:UL94 V0-

3457:849;<=>,?@2A,BCD�EF,GH�I.

35

40

45

55

65

75

85

100

120

150

190

9 00 065 6100 1

9 00 065 6110 1

9 00 065 6130 1

9 00 065 6150 1

9 00 065 6180 1

9 00 065 6210 1

9 00 065 6250 1

9 00 065 6280 1

9 00 065 6340 1

9 00 065 6420 1

9 00 065 6540 1

200

100

100

100

100

100

100

100

100

50

25

13

15

20

35

40

45

50

55

65

90

100

CK.PEV0.AD10(B/G)

CK.PEV0.AD11.6(B/G)

CK.PEV0.AD13(B/G)

CK.PEV0.AD15.8(B/G)

CK.PEV0.AD18.5(B/G)

CK.PEV0.AD21.2(B/G)

CK.PEV0.AD25(B/G)

CK.PEV0.AD28.5(B/G)

CK.PEV0.AD34.5(B/G)

CK.PEV0.AD42.5(B/G)

CK.PEV0.AD54.5(B/G)

6.7x10.0

8.2x11.8

10.0x13.0

12.2x15.8

14.2x18.7

16.7x21.2

19.7x25.2

23.0x28.5

28.4x34.5

36.0x42.5

48.0x54.5

9 00 065 6100 2

9 00 065 6110 2

9 00 065 6130 2

9 00 065 6150 2

9 00 065 6180 2

9 00 065 6210 2

9 00 065 6250 2

9 00 065 6280 2

9 00 065 6340 2

9 00 065 6420 2

9 00 065 6540 2

RoHs

JK LM 1M NOK（�Q
）STU!VM
mm

NOK（�
）
（W/X）

YTU!VM
mm

�
�
B
Z
[
\
�
]

�
�
^
_

`
a
B
Z
[
\
�
]

`
a
^
_

[
b
c
b
E
d

e
f
_

�
�
�
�

�
�
�
�
�
]
/
g
_

`
a
�
�

`
a
�
�
�
]

G
h
E
d

��
��

<



���� — ���PE��

�
�
B
Z
[
\
�
]

�
�
^
_

`
a
B
Z
[
\
�
]

`
a
^
_

[
b
c
b
E
d

e
f
_

�
�
�
�

�
�
�
�
�
]
/
g
_

`
a
�
�

`
a
�
�
�
]

G
h
E
d

125

35

40

45

55

65

75

85

100

120

150

190

9 00 066 6100 1

9 00 066 6110 1

9 00 066 6130 1

9 00 066 6150 1

9 00 066 6180 1

9 00 066 6210 1

9 00 066 6250 1

9 00 066 6280 1

9 00 066 6340 1

9 00 066 6420 1

9 00 066 6540 1

200

100

100

100

100

100

100

100

100

50

25

13

15

20

35

40

45

50

55

65

90

100

CK.PESL.AD10(B/G)

CK.PESL.AD11.6(B/G)

CK.PESL.AD13(B/G)

CK.PESL.AD15.8(B/G)

CK.PESL.AD18.5(B/G)

CK.PESL.AD21.2(B/G)

CK.PESL.AD25(B/G)

CK.PESL.AD28.5(B/G)

CK.PESL.AD34.5(B/G)

CK.PESL.AD42.5(B/G)

CK.PESL.AD54.5(B/G)

6.7x10.0

8.2x11.8

10.0x13.0

12.2x15.8

14.2x18.7

16.7x21.2

19.7x25.2

23.0x28.5

28.4x34.5

36.0x42.5

48.0x54.5

9 00 066 6100 2

9 00 066 6110 2

9 00 066 6130 2

9 00 066 6150 2

9 00 066 6180 2

9 00 066 6210 2

9 00 066 6250 2

9 00 066 6280 2

9 00 066 6340 2

9 00 066 6420 2

9 00 066 6540 2

� � :x yw

	 
 :�
/�
,
�	
����

� � : -50 -80℃ ℃

� � :����,�����,� !,"#$%,&'、)、*+.,&012

3457 :849;<=>,?@2A,BCD�EF,GH�I.

RoHs

JK LM 1M NOK（�Q
）STU!VM
mm

NOK（�
）
（W/X）

YTU!VM
mm

��
��

<



126

���� — PP��

35

40

45

55

65

75

85

100

120

150

190

9 00 067 6100 1

9 00 067 6110 1

9 00 067 6130 1

9 00 067 6150 1

9 00 067 6180 1

9 00 067 6210 1

9 00 067 6250 1

9 00 067 6280 1

9 00 067 6340 1

9 00 067 6420 1

9 00 067 6540 1

200

100

100

100

100

100

100

100

100

50

25

13

15

20

35

40

45

50

55

65

90

100

CK.PP.AD10（B/G）

CK.PP.AD11.6（B/G）

CK.PP.AD13（B/G）

CK.PP.AD15.8（B/G）

CK.PP.AD18.5（B/G）

CK.PP.AD21.2（B/G）

CK.PP.AD25（B/G）

CK.PP.AD28.5（B/G）

CK.PP.AD34.5（B/G）

CK.PP.AD42.5（B/G）

CK.PP.AD54.5（B/G）

6.7x10.0

8.2x11.8

10.0x13.0

12.2x15.8

14.2x18.7

16.7x21.2

19.7x25.2

23.0x28.5

28.4x34.5

36.0x42.5

48.0x54.5

9 00 067 6100 2

9 00 067 6110 2

9 00 067 6130 2

9 00 067 6150 2

9 00 067 6180 2

9 00 067 6210 2

9 00 067 6250 2

9 00 067 6280 2

9 00 067 6340 2

9 00 067 6420 2

9 00 067 6540 2

RoHs

JK LM 1M NOK（�Q
）STU!VM
mm

NOK（�
）
（W/X）

YTU!VM
mm

� � :x{y

	 
 :�
/�
，
�	
����。

� � : -40 -110℃ ℃

� � :&'，&+)，}�~����&����，~��GH��，���。

3457:849?@2A，BCD�EF，GH�I.。

�
�
B
Z
[
\
�
]

�
�
^
_

`
a
B
Z
[
\
�
]

`
a
^
_

[
b
c
b
E
d

e
f
_

�
�
�
�

�
�
�
�
�
]
/
g
_

`
a
�
�

`
a
�
�
�
]

G
h
E
d

��
��

<



���� — ��V0 PP��

�
�
B
Z
[
\
�
]

�
�
^
_

`
a
B
Z
[
\
�
]

`
a
^
_

[
b
c
b
E
d

e
f
_

�
�
�
�

�
�
�
�
�
]
/
g
_

`
a
�
�

`
a
�
�
�
]

G
h
E
d

127

� � :x{y

	 
 :�
/�
，
�	
����。

� � : -40 -110℃ ℃

� � :&'，&+)，}�~����&����，~��GH��，���。

ij.k:UL94 V0-

3457:849?@2A，BCD�EF，GH�I.。

35

40

45

55

65

75

85

100

120

150

190

9 00 068 6100 1

9 00 068 6110 1

9 00 068 6130 1

9 00 068 6150 1

9 00 068 6180 1

9 00 068 6210 1

9 00 068 6250 1

9 00 068 6280 1

9 00 068 6340 1

9 00 068 6420 1

9 00 068 6540 1

200

100

100

100

100

100

100

100

100

50

25

13

15

20

35

40

45

50

55

65

90

100

6.7x10.0

8.2x11.6

10.0x13.0

12.2x15.8

14.2x18.7

16.7x21.2

19.7x25.2

23.0x28.5

28.4x34.5

36.0x42.5

48.0x54.5

9 00 068 6100 2

9 00 068 6110 2

9 00 068 6130 2

9 00 068 6150 2

9 00 068 6180 2

9 00 068 6210 2

9 00 068 6250 2

9 00 068 6280 2

9 00 068 6340 2

9 00 068 6420 2

9 00 068 6540 2

CK.PPV0.AD10(B/G)

CK.PPV0.AD11.6(B/G)

CK.PPV0.AD13(B/G)

CK.PPV0.AD15.8(B/G)

CK.PPV0.AD18.5(B/G)

CK.PPV0.AD21.2(B/G)

CK.PPV0.AD25(B/G)

CK.PPV0.AD28.5(B/G)

CK.PPV0.AD34.5(B/G)

CK.PPV0.AD42.5(B/G)

CK.PPV0.AD54.5(B/G)

RoHs

JK LM 1M NOK（�Q
）STU!VM
mm

NOK（�
）
（W/X）

YTU!VM
mm

��
��

<



128

���� — ���PP��

� � : x{y

	 
 : �
/�
，
�	
����

� � : -40℃-110℃

� � : &'，&+)，}�~����&����，~��GH��，���

3457: 849?@2A，BCD�EF，GH�I.

35

40

45

55

65

75

85

100

120

150

190

9 00 069 6100 1

9 00 069 6110 1

9 00 069 6130 1

9 00 069 6150 1

9 00 069 6180 1

9 00 069 6210 1

9 00 069 6250 1

9 00 069 6280 1

9 00 069 6340 1

9 00 069 6420 1

9 00 069 6540 1

200

100

100

100

100

100

100

100

100

50

25

13

15

20

35

40

45

50

55

65

90

100

CK.PPSL.AD10（B/G）

CK.PPSL.AD11.6（B/G）

CK.PPSL.AD13（B/G）

CK.PPSL.AD15.8（B/G）

CK.PPSL.AD18.5（B/G）

CK.PPSL.AD21.2（B/G）

CK.PPSL.AD25（B/G）

CK.PPSL.AD28.5（B/G）

CK.PPSL.AD34.5（B/G）

CK.PPSL.AD42.5（B/G）

CK.PPSL.AD54.5（B/G）

6.7x10.0

8.2x11.8

10.0x13.0

12.2x15.8

14.2x18.7

16.7x21.2

19.7x25.2

23.0x28.5

28.4x34.5

36.0x42.5

48.0x54.5

9 00 069 6100 2

9 00 069 6110 2

9 00 069 6130 2

9 00 069 6150 2

9 00 069 6180 2

9 00 069 6210 2

9 00 069 6250 2

9 00 069 6280 2

9 00 069 6340 2

9 00 069 6420 2

9 00 069 6540 2

JK LM 1M NOK（�Q
）STU!VM
mm

NOK（�
）
（W/X）

YTU!VM
mm

RoHs

�
�
B
Z
[
\
�
]

�
�
^
_

`
a
B
Z
[
\
�
]

`
a
^
_

[
b
c
b
E
d

e
f
_

�
�
�
�

�
�
�
�
�
]
/
g
_

`
a
�
�

`
a
�
�
�
]

G
h
E
d

��
��

<



129



130



131

������/�	



132

WQG������ — �	������

11

11

12

12

13

13

13

13

15

15

16

16

35

37

39.5

40

45

45

47

47

51

54

55

55

9 00 070 0120 1

9 00 070 0160 1

9 00 070 0180 1

9 00 070 0200 1

9 00 070 0201 1

9 00 070 0250 1

9 00 070 0251 1

9 00 070 0320 1

9 00 070 0400 1

9 00 070 0401 1

9 00 070 0500 1

9 00 070 0630 1

50

50

50

50

50

20

20

20

20

10

5

5

12

16

18

20

20

25

25

32

40

40

50

63

AD10.0

AD13.0

AD15.8

AD18.5

AD21.2

AD21.2

AD28.5

AD28.5

AD34.5

AD42.5

AD54.5

AD54.5

90007001202

90007001602

90007001802

90007002002

90007002012

90007002502

90007002512

90007003202

90007004002

90007004012

90007005002

90007006302

15

18

21

24

27

27

34

34

42

58

63

63

7

10

13.5

14.7

15.5

17

20.5

23.5

29

33

43

52

17

20

23

26

29.5

29.5

37

37

44

52

64

64

M12X1.5

M16X1.5

M18X1.5

M20X1.5

M20X1.5

M25X1.5

M25X1.5

M32X1.5

M40X1.5

M40X1.5

M50X1.5

M63X1.5

WQG.M12(B/G)

WQG.M16(B/G)

WQG.M18(B/G)

WQG.M20.A(B/G)

WQG.M20.B(B/G)

WQG.M25.A(B/G)

WQG.M25.B(B/G)

WQG.M32(B/G)

WQG.M40.A(B/G)

WQG.M40.B(B/G)

WQG.M50(B/G)

WQG.M63(B/G)

RoHs IP67


� �
�� ���� AG
mm

GL
mm

ØE
mm

D
mm

���
（���）

���

（��）

22� 112�

���	:

118�

mm
ØB

SW
mm

SW

AG

D

ØB

AD

ØE

G
L

� �：PA

�  	：!"#$

%&'(： IP67，*+,�-� .

，

0345： - 0 04 C-10 °C 120°C

679�：�� (RAL9005) ���(RAL )7047

=>'(：UL94-V2

，?@BCDE

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

��
��

<



WQG������ — PG������

11

11

12

12

13

13

15

15

16

35

37

39.5

40

45

47

51

54

55

9 00 070 1070 1

9 00 070 1090 1

9 00 070 1110 1

9 00 070 1130 1

9 00 070 1160 1

9 00 070 1210 1

9 00 070 1290 1

9 00 070 1360 1

9 00 070 1480 1

50

50

50

50

50

20

20

10

5

12.5

15.2

18.6

20.4

22.5

28.3

37

47

59.3

AD10.0

AD13.0

AD15.8

AD18.5

AD21.2

AD28.5

AD34.5

AD42.5

AD54.5

9 00 070 1070 2

9 00 070 1090 2

9 00 070 1110 2

9 00 070 1130 2

9 00 070 1160 2

9 00 070 1210 2

9 00 070 1290 2

9 00 070 1360 2

9 00 070 1480 2

15

18

21

24

27

34

42

58

63

7

10

13.5

14.7

17

23.5

29

36.5

52

17

20

23

26

29.5

37

44

52

64

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG48

WQG.PG7(B/G)

WQG.PG9(B/G)

WQG.PG11(B/G)

WQG.PG13.5(B/G)

WQG.PG16(B/G)

WQG.PG21(B/G)

WQG.PG29(B/G)

WQG.PG36(B/G)

WQG.PG48(B/G)

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

133

RoHs IP67

ØE
mm
� �
�� ���� AG

mm
GL
mm

D
mm

���

（���）

���

（��）

2 �3 112�

���	:

118�

mm
ØB

SW
mm

SW

AG

D

ØB

AD

ØE

G
L

� �：PA

�  	：!"#$

%&'(： IP67，

，

0345： - 0 04 C-10 °C 120°C

679�：�� (RAL9005) ���(RAL )7047

=>'(：UL94-V2

，?@BCDE

*+,�-� .

��
��

<



134

WQG������ — G�	������

11

11

12

12

13

13

15

15

16

16

35

37

39.5

40

45

47

51

54

55

55

9 00 070 2020 1

9 00 070 2030 1

9 00 070 2040 1

9 00 070 2041 1

9 00 070 2042 1

9 00 070 2060 1

9 00 070 2080 1

9 00 070 2100 1

9 00 070 2120 1

9 00 070 2140 1

50

50

50

50

50

20

20

10

5

5

13.2

16.7

21

21

21

26.4

33.2

42

47.8

59.6

9 00 070 2020 2

9 00 070 2030 2

9 00 070 2040 2

9 00 070 2041 2

9 00 070 2042 2

9 00 070 2060 2

9 00 070 2080 2

9 00 070 2100 2

9 00 070 2120 2

9 00 070 2140 2

15

18

21

24

27

34

42

50

63

63

7

10

13.5

14.7

15.5

20.5

25.5

35

39

48

17

20

23

26

29.5

37

44

52

64

64

G1/4″

G3/8″

G1/2″

G1/2″

G1/2″

G3/4″

G1″

G1-1/4″

G1-1/2″

G2″

AD10.0

AD13.0

AD15.8

AD18.5

AD21.2

AD28.5

AD34.5

AD42.5

AD54.5

AD54.5

WQG.G1/4(B/G)

WQG.G3/8.A(B/G)

WQG.G1/2.A(B/G)

WQG.G1/2.B(B/G)

WQG.G1/2.C(B/G)

WQG.G3/4(B/G)

WQG.G1(B/G)

WQG.G1.1/4(B/G)

WQG.G1.1/2(B/G)

WQG.G2(B/G)

RoHs IP67


� �
�� ���� AG
mm

GL
mm

ØE
mm

ØB
mm

D
mm

���
（���）

���
（��）

2 �4 114�

���	:

118�

SW
mm

SW

AG

D

ØB

AD

ØE

G
L

� �：PA

�  	：UV#$

%&'(： IP67，*+,�-� .

，

0345： - 0 04 C-10 °C 120°C

679�：�� (RAL9005) ���(RAL )7047

=>'(：UL94-V2

，?@BCDE

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

��
��

<



WQG������ — �	
���
����

17

20..2

23.2

26.2

29.7

33

37.5

44

52

64

64

32

34

47

44

49

56.2

56.2

63

70

83

83

9 00 071 0100 1

9 00 071 0120 1

9 00 071 0160 1

9 00 071 0181 1

9 00 071 0200 1

9 00 071 0250 1

9 00 071 0251 1

9 00 071 0320 1

9 00 071 0400 1

9 00 071 0500 1

9 00 071 0630 1

100

100

50

50

25

25

20

10

5

5

5

7

8

12

14

15.5

18

18

24

32

39

53

AD10.0

AD13.0

AD15.8

AD18.5

AD21.2

AD25.0

AD28.5

AD34.5

AD42.5

AD54.5

AD54.5

9 00 071 0100 2

9 00 071 0120 2

9 00 071 0160 2

9 00 071 0181 2

9 00 071 0200 2

9 00 071 0250 2

9 00 071 0251 2

9 00 071 0320 2

9 00 071 0400 2

9 00 071 0500 2

9 00 071 0630 2

10

12

16

18

20

25

25

32

40

50

63

10

10

10

11

13

13

13

12

12

14

14

33.5

36

42

45

50

57

57

67.5

83

88

88

M10x1.0

M12x1.5

M16x1.5

M18x1.5

M20x1.5

M25x1.5

M25x1.5

M32x1.5

M40x1.5

M50x1,5

M63x1.5

WQG90.M10/AD10.0(B/G)

WQG90.M12/AD13.0(B/G)

WQG90.M16/AD15.8.A(B/G)

WQG90.M16/AD18.5.B(B/G)

WQG90.M20/AD21.2(B/G)

WQG90.M25/AD25.0.A(B/G)

WQG90.M25/AD28.5.B(B/G)

WQG90.M32/AD34.5(B/G)

WQG90.M40/AD42.5(B/G)

WQG90.M50/AD54.5(B/G)

WQG90.M63/AD54.5(B/G)

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

135

RoHs IP66


� �
�� ���� ØI
mm

ØB
mm

C
mm

D
mm

E
mm

AG
mm

���

（���）

���

（��）

22� 112�

���	:

118�

D

C

E

ØB

Ø
I

AD

A
G

� �：PA

�  	：!"#$

%&'(： IP66，

，

0345： - 0 04 C-10 °C 120°C

679�：�� (RAL9005) ���(RAL )7047

=>'(：UL94-V2

，?@BCDE

*+,�-� .

��
��

<



136

WQG������ — PG
���
����

17

20.2

23.2

26.2

29.7

37.5

44

52

64

32

34

37

44

49

56.2

63

70

83

9 00 071 1070 1

9 00 071 1090 1

9 00 071 1110 1

9 00 071 1130 1

9 00 071 1160 1

9 00 071 1210 1

9 00 071 1290 1

9 00 071 1360 1

9 00 071 1480 1

100

100

50

50

25

20

10

5

5

8.5

12

15.5

13.5

18

24

32

36.5

48.5

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG48

9 00 071 1070 2

9 00 071 1090 2

9 00 071 1110 2

9 00 071 1130 2

9 00 071 1160 2

9 00 071 1210 2

9 00 071 1290 2

9 00 071 1360 2

9 00 071 1480 2

12.5

15.2

18.6

20.4

22.5

28.3

37

47

59.3

10

10

10

11

12

12

12

12

14

33.5

36

42

46

50

57

67.5

83

88

WQG90.PG7/AD10.0(B/G)

WQG90.PG9/AD13.0(B/G)

WQG90.PG11/AD15.8(B/G)

WQG90.PG13.5/AD18.5(B/G)

WQG90.PG16/AD21.2(B/G)

WQG90.PG21/AD28.5(B/G))

WQG90.PG29/AD34.5(B/G)

WQG90.PG36/AD42.5(B/G)

WQG90.PG48/AD54.5(B/G)

AD10.0

AD13.0

AD15.8

AD18.5

AD21.2

AD28.5

AD34.5

AD42.5

AD54.5

RoHs IP66


 � �
�� ���� ØI
mm

ØB
mm

C
mm

D
mm

E
mm

AG
mm

���
（���）

���
（��）

2 �3 112 �

���	 :

118 �

D

C

E

ØB

Ø
I

AD

A
G

� �：PA

�  	：!"#$

%&'(： IP66，*+,�-� .

，

0345： - 0 04 C-10 °C 120°C

679�：�� (RAL9005) ���(RAL )7047

=>'(：UL94-V2

，?@BCDE

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

��
��

<



WQG������ — �	45 ��
����

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

137

12

12

13

14

14

57

57

72

99

99

9 00 072 0160 1

9 00 072 0200 1

9 00 072 0201 1

9 00 072 0320 1

9 00 072 0400 1

50

50

25

10

10

AD15.8

AD15.8

AD21.2

AD34.5

AD34.5

9 00 072 0160 2

9 00 072 0200 2

9 00 072 0201 2

9 00 072 0320 2

9 00 072 0400 2

12

12

15

23

30

23.2

23.2

29.7

44

44

M16x1.5

M20x1.5

M20x1.5

M32x1.5

M40x1.5

WQG45.M16/AD15.8(B/G)

WQG45.M20/AD15.8.A(B/G)

WQG45.M20/AD21.2.B(B/G)

WQG45.M32/AD34.5(B/G)

WQG45.M40/AD34.5(B/G)

16

20

20

32

40

RoHs IP66


� �
�� ���� AG
mm

C
mm

ØI
mm

ØB
mm

D
mm

���
（���）

���
（��）

22 � 112 �

���	 :

118 �

D

C

ØB

Ø
I

AD

A
G

� �：PA

�  	：!"#$

%&'(： IP66，

，

0345： - 0 04 C-10 °C 120°C

679�：�� (RAL9005) ���(RAL )7047

=>'(：UL94-V2

，?@BCDE

*+,�-� .

��
��

<



138

RoHs IP66


� �
�� ���� AG
mm

C
mm

ØI
mm

ØB
mm

D
mm

���

（���）

���

（��）

2 �3 112 �

���	 :

118 �

12

13

13

14

57

73

73

99

9 00 072 1110 1

9 00 072 1130 1

9 00 072 1160 1

9 00 072 1290 1

50

25

25

10

18.6

20.4

22.5

37

AD15.8

AD21.2

AD21.2

AD34.5

9 00 072 1110 2

9 00 072 1130 2

9 00 072 1160 2

9 00 072 1290 2

12

14

17

30

23.2

29.7

29.7

44

PG11

PG13.5

PG16

PG29

WQG45.PG11/AD15.8(B/G)

WQG45.PG13/AD21.2(B/G)

WQG45.PG16/AD21.2(B/G)

WQG45.PG29/AD34.5(B/G)

D

C

ØB

Ø
I

AD

A
G

� �：PA

�  	：!"#$

%&'(： IP66，*+,�-� .

，

0345： - 0 04 C-10 °C 120°C

679�：�� (RAL9005) ���(RAL )7047

=>'(：UL94-V2

，?@BCDE

WQG������ — PG 45 ��
����

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

��
��

<



139

RoHs IP54


� AD1
D

mm
C

mm
WXY
mm

���

（���）

���

（��）
AD2 B1 B2

���	 :

118 �
�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

�
�
F
G
%
H
�
�

� �： PA

%&'(： I 54P

0345： - 0 - 04 C 10 °C,?@BCDE1 °C20

679�：�� ( ),RAL9005 ��� (RAL7047)

=>'( : UL94-V2

1x4.0

1x4.0

1x4.0

1x4.0

1x4.0

1x4.0

1x4.0

1x4.0

1x4.0

1x4.0

9 00 074 6100 1

9 00 074 6130 1

9 00 074 6131 1

9 00 074 6160 1

9 00 074 6161 1

9 00 074 6190 1

9 00 074 6220 1

9 00 074 6221 1

9 00 074 6290 1

9 00 074 6291 1

20

20

20

20

20

20

10

10

10

10

17

17

17

17

23

26.2

29.7

29.7

37.4

37.4

2x10.0

2x10.0

2x13.0

2x13.0

2x15.8

2x18.5

2x21.2

2x15.8

2x15.8

2x21.2

9 00 074 6100 2

9 00 074 6130 2

9 00 074 6131 2

9 00 074 6160 2

9 00 074 6161 2

9 00 074 6190 2

9 00 074 6220 2

9 00 074 6221 2

9 00 074 6290 2

9 00 074 6291 2

50

50

50

50

50

75

76.5

76.5

76.5

76.5

37

37

37

37

37

56

63

63

63

63

10

13

13

15.8

15.8

18.5

21.2

21.2

28.5

28.5

WQY.AD10.0(B/G)

WQY.AD13.0.A(B/G)

WQY.AD13.0.B(B/G)

WQY.AD15.8.A(B/G)

WQY.AD15.8.B(B/G)

WQY.AD18.5(B/G)

WQY.AD21.2.A(B/G)

WQY.AD21.2.B(B/G)

WQY.AD28.5.A(B/G)

WQY.AD28.5.B(B/G)

17

17

17

17

23

26.2

29.7

23

23

29.7

C

D Ø
F

B1

B2

AD1

AD2

WQY������ — Y�������

��
��

<



140

80

94

52

68

9 00 075 6670 2

9 00 075 6800 2

94

110

AD67.2

AD80.0

9 00 075 6670 1

9 00 075 6800 1

52

60

53

60

83

96

� �： PA

%&'(： IP54

0345： -40°C-100°C, ?@BCDE120°C

679�：�� (RAL9005), ��� (RAL7047)

=>'(：UL94-V2

GFT.AD67(B/G)

GFT.AD80(B/G)

69

80

M6

M6

GFT������ — ��
�������

RoHs IP54


� ���� ØA
mm

���
（���）

���
（��）

B
mm

C
mm

D
mm

E
mm

ØF
mm

G
mm WX�[

Ø
F

Ø
A

G

E

C

D

B

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

��
��

<



8

8

8

8

8

8

8

8

8

10

10

10

10

10

14

14

16

16

16

16

16

16

16

16.5

16.5

26

26

32

32

32

38.5

38.5

44.5

44.5

48

48

9 00 077 0100 1

9 00 077 0120 1

9 00 077 0160 1

9 00 077 0161 1

9 00 077 0180 1

9 00 077 0181 1

9 00 077 0200 1

9 00 077 0201 1

9 00 077 0240 1

9 00 077 0250 1

9 00 077 0270 1

9 00 077 0300 1

9 00 077 0320 1

9 00 077 0360 1

9 00 077 0400 1

9 00 077 0480 1

9 00 077 0500 1

9 00 077 0630 1

100

100

100

100

100

100

100

50

50

25

25

25

20

20

10

10

5

5

11

11

14

17

17

19

19

22

22

29

29

29

35

35

43.5

43.5

55

55

AD10.0

AD10.0

AD13.0

AD15.8

AD15.8

AD18.5

AD18.5

AD21.2

AD21.2

AD28.5

AD28.5

AD28.5

AD34.5

AD34.5

AD42.5

AD42.5

AD54.5

AD54.5

9 00 077 0100 2

9 00 077 0120 2

9 00 077 0160 2

9 00 077 0161 2

9 00 077 0180 2

9 00 077 0181 2

9 00 077 0200 2

9 00 077 0201 2

9 00 077 0240 2

9 00 077 0250 2

9 00 077 0270 2

9 00 077 0300 2

9 00 077 0320 2

9 00 077 0360 2

9 00 077 0400 2

9 00 077 0480 2

9 00 077 0500 2

9 00 077 0630 2

M10x1.0

M12x1.5

M16x1.5

M16x1.5

M18x1.5

M18x1.5

M20x1.5

M20x1.5

M24x1.5

M25x1.5

M27x2.0

M30x2.0

M32x1.5

M36x2.0

M40x1.5

M48x2.0

M50x1.5

M63x1.5

SFK.M10/AD10.0(B/G)

SFK.M12/AD10.0(B/G)

SFK.M16/AD13.0(B/G)

SFK.M16/AD15.8(B/G)

SFK.M18/AD15.8(B/G)

SFK.M18/AD18.5(B/G)

SFK.M20/AD18.5(B/G)

SFK.M20/AD21.2(B/G)

SFK.M24/AD21.2(B/G)

SFK.M25/AD28.5(B/G)

SFK.M27/AD28.5(B/G)

SFK.M30/AD28.5(B/G)

SFK.M32/AD34.5(B/G)

SFK.M36/AD34.5(B/G)

SFK.M40/AD42.5(B/G)

SFK.M48/AD42.5(B/G)

SFK.M50/AD54.5(B/G)

SFK.M63/AD54.5(B/G)

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

141

SFK���� — �	����

RoHs IP54


� �
��
���
（���）

���
（��）���� ØI

mm
GL
mm

H
mm

10

12

16

16

18

18

20

20

24

25

27

30

32

36

40

48

50

63

AG

22 � 112 �

���	 :

118 �

SW

AG

AD

G
L

H

ØI

� �： PA

%&'(： IP54

0345： -40°C-100°C, ?@BCDE120°C

679�：�� (RAL9005), ��� (RAL7047)

=>'(：UL94-V2

��
��

<



142

8

8

8

8

8

10

10

14

16

16

16

16

16.5

26

32

38.5

44.5

48

9 00 077 1070 1

9 00 077 1090 1

9 00 077 1110 1

9 00 077 1130 1

9 00 077 1160 1

9 00 077 1210 1

9 00 077 1290 1

9 00 077 1360 1

9 00 077 1480 1

100

100

100

100

50

25

20

10

5

11

14

17

19

22

29

35

43.5

55

AD10.0

AD13.0

AD15.8

AD18.5

AD21.2

AD28.5

AD34.5

AD42.5

AD54.5

9 00 077 1070 2

9 00 077 1090 2

9 00 077 1110 2

9 00 077 1130 2

9 00 077 1160 2

9 00 077 1210 2

9 00 077 1290 2

9 00 077 1360 2

9 00 077 1480 2

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG48

SFK.PG7/AD10.0(B/G)

SFK.PG9/AD13.0(B/G)

SFK.PG11/AD15.8(B/G)

SFK.PG13.5/AD18.5(B/G)

SFK.PG16/AD21.2(B/G)

SFK.PG21/AD28.5(B/G)

SFK.PG29/AD34.5(B/G)

SFK.PG36/AD42.5(B/G)

SFK.PG48/AD54.5(B/G)

SFK���� — PG����


� �
��
���
（���）

���
（��）���� ØI

mm
GL
mm

H
mm

12.5

15.2

18.6

20.4

22.5

28.3

37

48

59.3

AG

23 � 112 �

���	 :

118 �

RoHs IP54

SW

AG

AD

G
L

H

ØI

� �： PA

%&'(： IP54

0345： -40°C-100°C, ?@BCDE120°C

679�：�� (RAL9005), ��� (RAL7047)

=>'(：UL94-V2

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

��
��

<



WQG������— �	�����
����

15

18

21

24

27

34

40

48

59

59

35

38

41.2

42

48

54

56

59

59

59

9 00 078 0120 1

9 00 078 0160 1

9 00 078 0180 1

9 00 078 0200 1

9 00 078 0201 1

9 00 078 0250 1

9 00 078 0320 1

9 00 078 0400 1

9 00 078 0500 1

9 00 078 0630 1

100

100

50

50

50

25

20

10

5

5

11.6

13

14

14.5

16

20

20

20

20

20

AD10.0

AD13.0

AD15.8

AD18.5

AD21.2

AD28.5

AD34.5

AD42.5

AD54.5

AD54.5

9 00 078 0120 2

9 00 078 0160 2

9 00 078 0180 2

9 00 078 0200 2

9 00 078 0201 2

9 00 078 0250 2

9 00 078 0320 2

9 00 078 0400 2

9 00 078 0500 2

9 00 078 0630 2

35

38

41.2

42

48

54

56

59

59

59

M12x1.5

M16x1.5

M18x1.5

M20x1.5

M20x1.5

M25x1.5

M32x1.5

M40x1.5

M50x1.5

M63x1.5

WQG.IT.M12/AD10(B/G)

WQG.IT.M16/AD13(B/G)

WQG.IT.M18/AD15.8(B/G)

WQG.IT.M20/AD18.5(B/G)

WQG.IT.M20/AD21.2(B/G)

WQG.IT.M25/AD28.5(B/G)

WQG.IT.M32/AD34.5(B/G)

WQG.IT.M40/AD42.5(B/G)

WQG.IT.M50/AD54.5(B/G)

WQG.IT.M63/AD54.5(B/G)

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

143

RoHs IP66


� �
��
���

（���）

���

（��）
���� C

mm
ØB
mmSW

mm

D
mm

12

16

18

20

20

25

32

42.5

50

63

AG

���	 :

118 �

AG

SW

D

C

ØB

AD

(RAL9005)

� �：PA

�  	：!"#$

%&'(： IP66，

，

0345： - 0 04 C-10 °C 120°C

679�：�� ���(RAL )7047

=>'(：UL94-V2

，?@BCDE

*+,�-� .

��
��

<



144

WQG������— PG�����
����

RoHs IP66

���	 :

118 �

15

18

21

24

27

34

40

48

59

59

35

38

41.2

42

48

54

56

59

59

59

9 00 078 1070 1

9 00 078 1090 1

9 00 078 1110 1

9 00 078 1130 1

9 00 078 1160 1

9 00 078 1210 1

9 00 078 1290 1

9 00 078 1360 1

9 00 078 1420 1

9 00 078 1480 1

100

100

50

50

50

25

20

10

5

5

11.6

13

14

14.5

16

20

20

20

20

20

AD10.0

AD13.0

AD15.8

AD18.5

AD21.2

AD28.5

AD34.5

AD42.5

AD54.5

AD54.5

9 00 078 1070 2

9 00 078 1090 2

9 00 078 1110 2

9 00 078 1130 2

9 00 078 1160 2

9 00 078 1210 2

9 00 078 1290 2

9 00 078 1360 2

9 00 078 1420 2

9 00 078 1480 2

17

20.2

23.2

26.2

29.7

37.4

44

51.8

64

64

PG7

PG9

PG11

PG13.5

PG16

PG21

PG29

PG36

PG42

PG48

WQG.IT.PG7/AD10(B/G)

WQG.IT.PG9/AD13(B/G)

WQG.IT.PG11/AD15.8(B/G)

WQG.IT.PG13.5/AD18.5(B/G)

WQG.IT.PG16/AD21.2(B/G)

WQG.IT.PG21/AD28.5(B/G)

WQG.IT.PG29/AD34.5(B/G)

WQG.IT.PG36/AD42.5(B/G)

WQG.IT.PG42/AD54.5(B/G)

WQG.IT.PG48/AD54.5(B/G)


� �
��
���

（���）

���

（��）
���� C

mm
ØB
mmSW

mm

D
mm

12

16

18

20

20

25

32

42.5

50

63

AG

AG

SW

D

C

ØB

AD

� �：PA

�  	：!"#$

%&'(： IP66，

，

0345： - 0 04 C-10 °C 120°C

679�：�� (RAL9005) ���(RAL )7047

=>'(：UL94-V2

，?@BCDE

*+,�-� .

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

��
��

<



WQGM������ — �	45 ������
����

12

12

17

30

30

57

57

72

99

99

9 00 082 0160 1

9 00 082 0200 1

9 00 082 0201 1

9 00 082 0320 1

9 00 082 0400 1

50

50

25

48

48

AD15.8

AD15.8

AD21.2

AD34.5

AD34.5

9 00 082 0160 2

9 00 082 0200 2

9 00 082 0201 2

9 00 082 0320 2

9 00 082 0400 2

23.2

23.2

29.7

44

44

12

12

13

14

14

M16×1.5

M20×1.5

M20×1.5

M32×1.5

M40×1.5

WQG.M45.M16/AD15.8(B/G)

WQG.M45.M20/AD15.8(B/G)

WQG.M45.M20/AD21.2(B/G)

WQG.M45.M32/AD34.5(B/G)

WQG.M45.M40/AD34.5(B/G)

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

145

RoHs IP66


� �
��
���
（���）

���
（��）

���� C
mm

ØB
mmSW

mm

D
mm

22 � 112 �

���	 :

118 �

D

C

ØB

AD

Ø
I

A
G

，IJ�
_`abc� �：PA

�  	：!"#$

%&'(： IP66，

，

0345： - 0 04 C-10 °C 120°C

679�：�� (RAL9005) ���(RAL )7047

=>'(：UL94-V2

，?@BCDE

*+,�-� .

��
��

<



146

WQGM������ — PG 45 ������
����

12

17

17

26

38

45

45

52

9 00 082 1110 1

9 00 082 1130 1

9 00 082 1160 1

9 00 082 1290 1

50

25

25

36

AD15.8

AD21.2

AD21.2

AD34.5

9 00 082 1110 2

9 00 082 1130 2

9 00 082 1160 2

9 00 082 1290 2

23.2

29.7

29.7

44

12

13

13

13

PG11

PG13.5

PG16

PG29

WQG.M45.PG11/AD15.8(B/G)

WQG.M45.PG13.5/AD21.2(B/G)

WQG.M45.PG16/AD21.2(B/G)

WQG.M45.PG29/AD34.5(B/G)

RoHs IP66


� �
��
���
（���）

���
（��）���� C

mm
ØB
mmSW

mm

D
mm

23 � 112 �

���	 :

118 �

D

C

ØB

AD

Ø
I

A
G

，IJ�
_`abc� �： PA

�  	：!"#$

%&'(： IP66，

，

0345： - 0 04 C-10 °C 120°C

679�：�� (RAL9005) ���(RAL )7047

=>'(：UL94-V2

，?@BCDE

*+,�-� .

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

��
��

<



23

23

23

30

30

38

43

51

64

7.5

9

9

9

11.5

11.5

11.5

11.5

11.5

9 00 086 6100 1

9 00 086 6130 1

9 00 086 6160 1

9 00 086 6190 1

9 00 086 6220 1

9 00 086 6290 1

9 00 086 6350 1

9 00 086 6430 1

9 00 086 6550 1

30

30

30

35

35

42

51

61

74

9 00 086 6100 2

9 00 086 6130 2

9 00 086 6160 2

9 00 086 6190 2

9 00 086 6220 2

9 00 086 6290 2

9 00 086 6350 2

9 00 086 6430 2

9 00 086 6550 2

12.5

12.5

12.5

15

15

16

16

16

19

M4

M5

M5

M5

M6

M6

M6

M6

M6

AD10.0

AD13.0

AD15.8

AD18.5

AD21.2

AD28.5

AD34.5

AD42.5

AD54.5

CCS.AD10(B/G)

CCS.AD13(B/G)

CCS.AD15.8(B/G)

CCS.AD18.5(B/G)

CCS.AD21.2(B/G)

CCS.AD28.5(B/G)

CCS.AD34.5(B/G)

CCS.AD42.5(B/G)

CCS.AD54.5(B/G)

100

100

100

100

50

50

25

25

20

CCS�����! — "#�����!

� �：PA

0345： -40 C -100 C ,?@BCDE120 C

679�：�� (RAL9005),��� (RAL )7047

=>'(： UL94-V2

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

147

RoHs


� �
��
���

（���）

���

（��）
T

mm
B

mm
A

mm
H

mm WX�[

B

T A
H

AD

��
��

<



23

23

23

30

30

35

38

43

51

64

7.5

9

9

9

11.5

11.5

11.5

11.5

11.5

11.5

9 00 087 6100 1

9 00 087 6130 1

9 00 087 6160 1

9 00 087 6190 1

9 00 087 6220 1

9 00 087 6250 1

9 00 087 6290 1

9 00 087 6350 1

9 00 087 6430 1

9 00 087 6550 1

30

30

30

35

35

40

42

51

61

74

9 00 087 6100 2

9 00 087 6130 2

9 00 087 6160 2

9 00 087 6190 2

9 00 087 6220 2

9 00 087 6250 2

9 00 087 6290 2

9 00 087 6350 2

9 00 087 6430 2

9 00 087 6550 2

12.5

12.5

12.5

15

15

16

16

16

16

19

M4

M5

M5

M5

M6

M6

M6

M6

M6

M6

AD10.0

AD13.0

AD15.8

AD18.5

AD21.2

AD25.0

AD28.5

AD34.5

AD42.5

AD54.5

CCSN.AD10(B/G)

CCSN.AD13(B/G)

CCSN.AD15.8(B/G)

CCSN.AD18.5(B/G)

CCSN.AD21.2(B/G)

CCSN.AD25(B/G)

CCSN.AD28.5(B/G)

CCSN.AD34.5(B/G)

CCSN.AD42.5(B/G)

CCSN.AD54.5(B/G)

100

100

100

100

50

50

50

25

25

20

CCS�����! — $"#�����!


� ���� H
mm

T
mm

B
mm

A
mm

���

（���）

���

（��）
WX�[

148

B

T A
H

AD

� �： PA

0345：-40 -100 ,°C °C ?@BCDE 120°C

679�：�� (RAL9005),���(RAL )7047

=>'(： UL94-V2

�
�
F
G
%
H
�
�

�
�
�
	

I
J
F
G
%
H
�
�

I
J
�
	

%
K
M
K
N
O

�
 
	

�
�
�
�

�
�
�
�
�
�
/
�
	

I
J
�
�

I
J
�
�
�
�

P
Q
N
O

��
��

<



149



150



151

����



���	: (
�)�
�����������:(��)�
 ��(����、 !")PVC

��#$: %$,&$

'
*+: -.、/0,123456、78,9;/<=>"?@AB:DEF,"5,GHE34,2I34,JK,LM

FN
�O�QRSTUH�WX

YZ[\: -25 -80℃ ℃ ,^_`ab100℃

CM������

RoHs

152

cd e@fg h@fg

ijk lmni

mm
oLpqrs

kg
tud

（&w$）

tud

（%$）oy oL

�ijk

oy oL

1/4"

5/16"

3/8"

1/2"

3/4"

1"

1-1/4"

1-1/2"

2"

2-1/2"

3"

4"

45

55

65

85

100

120

150

180

220

310

350

410

470

590

765

940

1180

1450

1885

2240

3000

3770

4400

4700

9 00 088 0080 1

9 00 088 0100 1

9 00 088 0130 1

9 00 088 0160 1

9 00 088 0200 1

9 00 088 0250 1

9 00 088 0320 1

9 00 088 0380 1

9 00 088 0510 1

9 00 088 0640 1

9 00 088 0750 1

9 00 088 5100 1

100

100

100

100

50

50

25

25

20

10

10

10

8.0

10.0

12.5

15.5

20.2

25.0

33.9

38.0

51.0

61.8

77.8

100.8

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

8

10

13

16

20

25

32

38

51

64

75

100

9 00 088 0080 2

9 00 088 0100 2

9 00 088 0130 2

9 00 088 0160 2

9 00 088 0200 2

9 00 088 0250 2

9 00 088 0320 2

9 00 088 0380 2

9 00 088 0510 2

9 00 088 0640 2

9 00 088 0750 2

9 00 088 5100 2

CM.PVC.8(B/G)

CM.PVC.10(B/G)

CM.PVC.13(B/G)

CM.PVC.16(B/G)

CM.PVC.20(B/G)

CM.PVC.25(B/G)

CM.PVC.32(B/G)

CM.PVC.38(B/G)

CM.PVC.51(B/G)

CM.PVC.64(B/G)

CM.PVC.75(B/G)

CM.PVC.100(B/G)

8.5

10.5

13.0

16.0

20.7

25.5

34.5

38.5

51.5

62.3

78.3

101.3

11.6

13.8

16.2

19.3

24.8

31.0

40.0

44.0

58.0

69.0

85.0

108.0

12.1

14.3

16.7

19.8

25.3

31.0

40.5

44.5

58.5

71.0

87.0

110.0

�
�
�
�
�
�
	



�
�
�
�



�
�
�
�
�
	





�
�
�

�
�
�
�
�
�

�
�
�
/�
�

�
�
�
�

�
�
�
�
	


/�
�



�
�
�



�
�
�
	



�
�
�
�

z
�
E
{
 
|
}
~

z
�
H
�

�
�
E
{
 
|
}
~

�
�
H
�

 
�
�
�
3
�

�
�
�

z
�
�
�

z
�
�
�
}
~
/
�
�

�
�
�
�

�
�
�
�
}
~

/
�
3
�

��
��

<



�
�
�
�
�
�
	



�
�
�
�



�
�
�
�
�
	





�
�
�

�
�
�
�
�
�

�
�
�
/�
�

�
�
�
�

�
�
�
�
	


/�
�



�
�
�



�
�
�
	



�
�
�
�

z
�
E
{
 
|
}
~

z
�
H
�

�
�
E
{
 
|
}
~

�
�
H
�

 
�
�
�
3
�

�
�
�

z
�
�
�

z
�
�
�
}
~
/
�
�

�
�
�
�

�
�
�
�
}
~

/
�
3
�

153

���	: �
����,���Z@�,�������lm��,
S�������E�_���

'
*�: /<、LM、FN
�� UH�WX,WXE�E{¡�ab��,¢£¤¥�{lm¦§

YZ[¨: - ℃ ℃25 -80 , ^_`ab100℃

CM����

RoHs

2"

cd e@fg h@fg

ijk

tudlmni
mm

oLpqrs
kg

�ijk

oy oL

1/4"

5/16"

3/8"

1/2"

3/4"

1"

1-1/4"

1-1/2"

2-1/2"

3"

4"

45

55

65

85

100

120

150

180

220

310

350

410

470

590

765

940

1180

1450

1885

2240

3000

3770

4400

4700

9 00 089 0080 0

9 00 089 0100 0

9 00 089 0130 0

9 00 089 0160 0

9 00 089 0200 0

9 00 089 0250 0

9 00 089 0320 0

9 00 089 0380 0

9 00 089 0510 0

9 00 089 0640 0

9 00 089 0750 0

9 00 089 5100 0

100

100

100

100

50

50

25

25

20

10

10

10

8.0

10.0

12.5

15.5

20.2

25.0

33.9

38.0

51.0

61.8

74.0

100.5

CM.8

CM.10

CM.13

CM.16

CM.20

CM.25

CM.32

CM.38

CM.51

CM.64

CM.75

CM.100

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

8

10

13

16

20

25

32

38

51

64

75

100

8.5

10.5

13.0

16.0

20.7

25.5

34.5

38.5

52.5

62.3

75.0

101.5

11 0

13 0

15 5

18 5

23 5

29 8

39 0

43 0

55 5

67 8

82 0

109 0

.

.

.

.

.

.

.

.

.

.

.

.

11 5

13 5

16 0

19 0

24 3

30 3

39 5

43 5

56 2

68 3

83 0

110 0

.

.

.

.

.

.

.

.

.

.

.

.

oy oL

��
��

<



154

CMP���� —��	������

RoHs

���	: (
�)�
�����������:(��)�
 ��(����、 !")PVC

��#$: %$,&$

'
*+: -.、/0,123456、78,9;/<=>"?@AB:DEF,"5.GHE342I34,JK,LM

FN
�O�QRSTUH�WX

YZ[\: - ℃ ℃25 -80 ,^_`ab100℃

cd e@fg h@fg

ijk lmni

mm
���� !
kg

tud

（&w$）

tud

（%$）oy oL

�ijk

oy oL

1/4"

5/16"

3/8"

1/2"

3/4"

1"

1-1/4"

1-1/2"

2"

2-1/2"

3"

4"

45

55

65

85

100

120

150

180

220

310

350

410

470

590

765

940

1180

1450

1885

2240

3000

3770

4400

4700

9 00 090 0080 1

9 00 090 0100 1

9 00 090 0130 1

9 00 090 0160 1

9 00 090 0200 1

9 00 090 0250 1

9 00 090 0320 1

9 00 090 0380 1

9 00 090 0510 1

9 00 090 0640 1

9 00 090 0750 1

9 00 090 5100 1

100

50

50

50

50

50

30

20

20

10

10

5

7.7

10.8

12.5

15.8

20.6

26.2

35.5

39.0

51.6

63.5

78.6

100.6

9 00 090 0080 2

9 00 090 0100 2

9 00 090 0130 2

9 00 090 0160 2

9 00 090 0200 2

9 00 090 0250 2

9 00 090 0320 2

9 00 090 0380 2

9 00 090 0510 2

9 00 090 0640 2

9 00 090 0750 2

9 00 090 5100 2

8.0

11.1

13.0

16.3

21.1

26.7

36.0

39.8

52.4

64.3

79.3

101.5

11.0

15.2

17.5

20.9

25.8

31.5

41.2

46.1

57.5

72.1

87.5

112.5

11.8

15.7

18.0

21.4

26.3

32.0

41.7

46.9

58.3

73.0

88.5

112.5

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

8

10

13

16

20

25

32

38

51

64

75

100

CMP.PVC.8(B/G)

CMP.PVC.10(B/G)

CMP.PVC.13(B/G)

CMP.PVC.16(B/G)

CMP.PVC.20(B/G)

CMP.PVC.25(B/G)

CMP.PVC.32(B/G)

CMP.PVC.38(B/G)

CMP.PVC.51(B/G)

CMP.PVC.64(B/G)

CMP.PVC.75(B/G)

CMP.PVC.100(B/G)

�
�
�
�
�
�
	



�
�
�
�



�
�
�
�
�
	





�
�
�

�
�
�
�
�
�

�
�
�
/�
�

�
�
�
�

�
�
�
�
	


/�
�



�
�
�



�
�
�
	



�
�
�
�

z
�
E
{
 
|
}
~

z
�
H
�

�
�
E
{
 
|
}
~

�
�
H
�

 
�
�
�
3
�

�
�
�

z
�
�
�

z
�
�
�
}
~
/
�
�

�
�
�
�

�
�
�
�
}
~

/
�
3
�

��
��

<



151155



156



157

����}~



� �： ���«�

¬�­®： �¯�«�

° ±： TPE

� � ²： ³�´µ

��X¶： ��-·

YZ[\： -40°C 105°C-

� ¸： ¹º»}����,¼¹º½­¾»}�¿ÀAB,�ÁÂ�ÃÄ,

 |,ÅÆÇ��¸。

8

8

10

10

10

12

12

12

12

14

14

14

14

14

15

15

20

22

25

25.6

28.5

33

33

39

39

42.5

42.5

57.5

57.5

57.5

62

62

77.5

77.5

95

108.5

26

30

32

34.5

34.5

39.5

39.5

42.5

42.5

46.5

46.5

46.5

51

51

57

57

66

68

Ø8

Ø10

Ø12

Ø16

Ø15

Ø20

Ø20

Ø25

Ø25

Ø32

Ø32

Ø32

Ø38

Ø38

Ø51

Ø51

Ø64

Ø75

DPJ.8.M16

DPJ.10.M16

DPJ.12.M20

DPJ.16.M20

DPJ.15.M24

DPJ.20.M27

DPJ.20.M30

DPJ.25.M33

DPJ.25.M36

DPJ.32.M40

DPJ.32.M42

DPJ.32.M48

DPJ.38.M48

DPJ.38.M60

DPJ.51.M60

DPJ.51.M72

DPJ.64.M76

DPJ.75.M88

M16x1.5

M16x1.5

M20x1.5

M20x1.5

M24x1.5

M27x2.0

M30x2.0

M33x2.0

M36x2.0

M40x1.5

M42x2.0

M48x2.0

M48x2.0

M60x2.0

M60x2.0

M72x2.0

M76x2.0

M88x2.0

9 00 091 0160 0

9 00 091 0161 0

9 00 091 0162 0

9 00 091 0200 0

9 00 091 0240 0

9 00 091 0270 0

9 00 091 0300 0

9 00 091 0330 0

9 00 091 0360 0

9 00 091 0400 0

9 00 091 0420 0

9 00 091 0480 0

9 00 091 0481 0

9 00 091 0600 0

9 00 091 0601 0

9 00 091 0720 0

9 00 091 0760 0

9 00 091 0880 0

DPJ��
��
� —����
�

158

RoHs

cd AG
ÉH�f C

mm
ØB

mm
A

mm
tud

e@ h@

1/4"

5/6"

3/8"

1/2"

1/2"

3/4"

3/4"

1"

1"

1-1/4"

1-1/4"

1-1/4"

1-1/2"

1-1/2"

2"

2"

2-1/2"

3"

152 Í

ÎÏH� :

SW

AG

A

C

ØB

z
�
E
{
 
|
}
~

z
�
H
�

�
�
E
{
 
|
}
~

�
�
H
�

 
�
�
�
3
�

�
�
�

z
�
�
�

z
�
�
�
}
~
/
�
�

�
�
�
�

�
�
�
�
}
~

/
�
3
�

��
��

<



DPJ��
��
� —G����
�

z
�
E
{
 
|
}
~

z
�
H
�

�
�
E
{
 
|
}
~

�
�
H
�

 
�
�
�
3
�

�
�
�

z
�
�
�

z
�
�
�
}
~
/
�
�

�
�
�
�

�
�
�
�
}
~

/
�
3
�

159

RoHs

AGcd
ÉH�f C

mm
ØB

mm
A

mm
tud

e@ h@

7

10

12

12

14

14

16

16

20

22

25.6

28.5

33

39

42.5

57.5

62

77.5

95

108.5

30

32

34.5

39.5

42.5

46.5

51

57

66

68

Ø8

Ø12

Ø15

Ø20

Ø25

Ø32

Ø38

Ø51

Ø64

Ø75

DPJ.6.G1/4

DPJ.10.G3/8

DPJ.15.G1/2

DPJ.20.G3/4

DPJ.25.G1

DPJ.32.G1.1/4

DPJ.38.G1.1/2

DPJ.51.G2

DPJ.64.G2.1/2

DPJ.75.G3

G1/4"

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

9 00 091 2020 0

9 00 091 2030 0

9 00 091 2040 0

9 00 091 2060 0

9 00 091 2080 0

9 00 091 2100 0

9 00 091 2120 0

9 00 091 2140 0

9 00 091 2160 0

9 00 091 2180 0

1/4"

3/8"

1/2"

3/4"

1"

1-1/4"

1-1/2"

2"

2-1/2"

3"

152 Í

ÎÏH� :

SW

AG

A

C

ØB

� �： ���«�

¬�­®： �¯�«�

° ±： TPE

� � ²： ³�´µ

��X¶： ��-·

YZ[\： -40°C 105°C-

� ¸： ¹º»}����,¼¹º½­¾»}�¿ÀAB,�ÁÂ�ÃÄ,

 |,ÅÆÇ��¸。

��
��

<



10

10

12

12

14

14

15

20

22

28

32.5

39

46.5

56.5

64

78

97

115

19

21

27

30

35

40

46

61

70

Ø12

Ø15

Ø20

Ø25

Ø32

Ø38

Ø51

Ø64

Ø75

DPJ90.12.G3/8

DPJ90.15.G1/2

DPJ90.20.G3/4

DPJ90.25.G1

DPJ90.32.G1.1/4

DPJ90.38.G1.1/2

DPJ90.51.G2

DPJ90.64.G2.1/2

DPJ90.75.G3

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

9 00 092 2030 0

9 00 092 2040 0

9 00 092 2060 0

9 00 092 2080 0

9 00 092 2100 0

9 00 092 2120 0

9 00 092 2140 0

9 00 092 2160 0

9 00 092 2180 0

DPJ��
��
� —G����
�

160

RoHs

cd
ÉH�f C

mm
ØB

mm
A

mm
tud

e@ h@

3/8"

1/2"

3/4"

1"

1-1/4"

1-1/2"

2"

2-1/2"

3"

152Í

ÎÏH� :

AG

AG

ØB

A

C

SW

� �： ���«�

¬�­®： �¯�«�

° ±： TPE

� � ²： ³�´µ

��X¶： ��-·

YZ[\： -40°C 105°C-

� ¸： ¹º»}����,¼¹º½­¾»}�¿ÀAB,�ÁÂ�ÃÄ,

 |,ÅÆÇ��¸。

z
�
E
{
 
|
}
~

z
�
H
�

�
�
E
{
 
|
}
~

�
�
H
�

 
�
�
�
3
�

�
�
�

z
�
�
�

z
�
�
�
}
~
/
�
�

�
�
�
�

�
�
�
�
}
~

/
�
3
�

��
��

<



DPJ��
��
� —G��45 
�

z
�
E
{
 
|
}
~

z
�
H
�

�
�
E
{
 
|
}
~

�
�
H
�

 
�
�
�
3
�

�
�
�

z
�
�
�

z
�
�
�
}
~
/
�
�

�
�
�
�

�
�
�
�
}
~

/
�
3
�

161

11.5

11.5

15

16

17

18

20

26

28

28

32.5

39

46.5

56.5

64

78

97

115

25

31

40

47

52

62

75

90

105

Ø12

Ø15

Ø20

Ø25

Ø32

Ø38

Ø51

Ø64

Ø75

DPJ45.12.G3/8

DPJ45.15.G1/2

DPJ45.20.G3/4

DPJ45.25.G1

DPJ45.32.G1.1/4

DPJ45.38.G1.1/2

DPJ45.51.G2

DPJ45.64.G2.1/2

DPJ45.75.G3

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

9 00 093 2030 0

9 00 093 2040 0

9 00 093 2060 0

9 00 093 2080 0

9 00 093 2100 0

9 00 093 2120 0

9 00 093 2140 0

9 00 093 2160 0

9 00 093 2180 0

RoHs

cd
ÉH�f C

mm
ØB

mm
A

mm
tud

e@ h@

3/8"

1/2"

3/4"

1"

1 1/4"

1 1/2"

2"

2 /2"

3"

-

-

-

152Í

ÎÏH� :

AG

C

A

A
G

Ø
B

SW

� �： ���«�

¬�­®： �¯�«�

° ±： TPE

� � ²： ³�´µ

��X¶： ��-·

YZ[\： -40°C 105°C-

� ¸： ¹º»}����,¼¹º½­¾»}�¿ÀAB,�ÁÂ�ÃÄ,

 |,ÅÆÇ��¸。

��
��

<



DPJ��
��
� —G�����
�

162

RoHs

cd
ÉH�f C

mm
ØB

mm
A

mm
tud

e@ h@

10

10

12

12

14

14

15

20

22

28.5

33

39

42.5

57.5

62

77.5

95

108.5

32

35

38

41

44

47

57

65

75

Ø12

Ø15

Ø20

Ø25

Ø32

Ø38

Ø51

Ø64

Ø75

DPJ.IT.12.G3/8

DPJ.IT.15.G1/2

DPJ.IT.20.G3/4

DPJ.IT.25.G1

DPJ.IT.32.G1.1/4

DPJ.IT.38.G1.1/2

DPJ.IT.51.G2

DPJ.IT.64.G2.1/2

DPJ.IT.75.G3

G3/8"

G1/2"

G3/4"

G1"

G1-1/4"

G1-1/2"

G2"

G2-1/2"

G3"

9 00 094 2030 0

9 00 094 2040 0

9 00 094 2060 0

9 00 094 2080 0

9 00 094 2100 0

9 00 094 2120 0

9 00 094 2140 0

9 00 094 2160 0

9 00 094 2180 0

3/8"

1/2"

3/4"

1"

1-1/4"

1-1/2"

2"

2-1/2"

3"

152 Í

ÎÏH� :

AG

SW

AG

A

C

ØB

� �： ���«�

¬�­®： �¯�«�

° ±： TPE

� � ²： ³�´µ

��X¶： ��-·

YZ[\： -40°C 105°C-

� ¸： ¹º»}����,¼¹º½­¾»}�¿ÀAB,�ÁÂ�ÃÄ,

 |,ÅÆÇ��¸。

z
�
E
{
 
|
}
~

z
�
H
�

�
�
E
{
 
|
}
~

�
�
H
�

 
�
�
�
3
�

�
�
�

z
�
�
�

z
�
�
�
}
~
/
�
�

�
�
�
�

�
�
�
�
}
~

/
�
3
�

��
��

<



DPJ������� — G�	
����

z
�
E
{
 
|
}
~

z
�
H
�

�
�
E
{
 
|
}
~

�
�
H
�

 
�
�
�
3
�

�
�
�

z
�
�
�

z
�
�
�
}
~
/
�
�

�
�
�
�

�
�
�
�
}
~

/
�
3
�

163

RoHs

cd
ÉH�f C

mm
ØB

mm
A

mm
tud

e@ h@

28.5

33

39

42.5

57.5

62

77.5

95

108.5

32

35

40

40.5

47

49

57

70

74

Ø12

Ø15

Ø20

Ø25

Ø32

Ø38

Ø51

Ø64

Ø75

11.5

13

15

16

18

20

24

28

32

DPJ.CS.12.G3/8

DPJ.CS.15.G1/2

DPJ.CS.20.G3/4

DPJ.CS.25.G1

DPJ.CS.32.G1.1/4

DPJ.CS.38.G1.1/2

DPJ.CS.51 G2

DPJ.CS.64.G2.1/2

DPJ.CS.75.G3

9 00 095 6120 0

9 00 095 6150 0

9 00 095 6200 0

9 00 095 6250 0

9 00 095 6320 0

9 00 095 6380 0

9 00 095 6510 0

9 00 095 6640 0

9 00 095 6750 0

3/8"

1/2"

3/4"

1"

1 1/4"

1 1/2"

2"

2 1/2"

3"

-

-

-

152 Í

ÎÏH� :

SW

A

C

ØB

� �： ���«�

¬�­®： �¯�«�

° ±： TPE

� � ²： ³�´µ

��X¶： ��-·

YZ[\： -40°C 105°C-

� ¸： ¹º»}����,¼¹º½­¾»}�¿ÀAB,�ÁÂ�ÃÄ,

 |,ÅÆÇ��¸。

��
��

<



25.6

28.5

33

39

42.5

57.5

62

77.5

95

108.5

38

40

43

47

48

54

56

65

82

85

Ø10

Ø12

Ø15

Ø20

Ø25

Ø32

Ø38

Ø51

Ø64

Ø75

DPJ.JR.10.G1/4

DPJ.JR.12.G3/8

DPJ.JR.15.G1/2

DPJ.JR.20.G3/4

DPJ.JR.25.G1

DPJ.JR.32.G1.1/4

DPJ.JR.38.G1.1/2

DPJ.JR.51.G2

DPJ.JR.64.G2.1/2

DPJ.JR.75.G3

9 00 096 6100 0

9 00 096 6120 0

9 00 096 6150 0

9 00 096 6200 0

9 00 096 6250 0

9 00 096 6320 0

9 00 096 6380 0

9 00 096 6510 0

9 00 096 6640 0

9 00 096 6750 0

DPJ��
��
� —G�����
�

164

RoHs

cd
ÉH�f ØB

mm
A

mm tud
e@ h@

5/6"

3/8"

1/2"

3/4"

1"

1-1/4"

1-1/2"

2"

2-1/2"

3"

152 Í

ÎÏH� :

A

ØB

SW

� �： ���«�

¬�­®： �¯�«�

° ±： TPE

� � ²： ³�´µ

��X¶： ��-·

YZ[\： -40°C 105°C-

� ¸： ¹º»}����,¼¹º½­¾»}�¿ÀAB,�ÁÂ�ÃÄ,

 |,ÅÆÇ��¸。

z
�
E
{
 
|
}
~

z
�
H
�

�
�
E
{
 
|
}
~

�
�
H
�

 
�
�
�
3
�

�
�
�

z
�
�
�

z
�
�
�
}
~
/
�
�

�
�
�
�

�
�
�
�
}
~

/
�
3
�

��
��

<



z
�
E
{
 
|
}
~

z
�
H
�

�
�
E
{
 
|
}
~

�
�
H
�

 
�
�
�
3
�

�
�
�

z
�
�
�

z
�
�
�
}
~
/
�
�

�
�
�
�

�
�
�
�
}
~

/
�
3
�

DPJY��
��
� — Y	��
�

165

RoHs IP66

Ø12/Ø12/Ø12

Ø12/Ø12/Ø15

Ø12/Ø15/Ø15

Ø12/Ø15/Ø20

Ø15/Ø15/Ø15

Ø15/Ø15/Ø20

Ø15/Ø15/Ø25

Ø15/Ø20/Ø25

Ø15/Ø25/Ø25

Ø15/Ø25/Ø32

Ø20/Ø20/Ø20

Ø20/Ø20/Ø25

Ø20/Ø25/Ø32

Ø25/Ø25/Ø25

Ø25/Ø25/Ø32

Ø25/Ø32/Ø32

Ø25/Ø32/Ø38

Ø25/Ø38/Ø38

DPJY.121212

DPJY.121215

DPJY.121515

DPJY.121520

DPJY.151515

DPJY.151520

DPJY.151525

DPJY.152025

DPJY.152525

DPJY.152532

DPJY.202020

DPJY.202025

DPJY.202532

DPJY.252525

DPJY.252532

DPJY.253232

DPJY.253238

DPJY.253838

9 00 097 6120 0

9 00 097 6121 0

9 00 097 6122 0

9 00 097 6123 0

9 00 097 6150 0

9 00 097 6151 0

9 00 097 6152 0

9 00 097 6153 0

9 00 097 6154 0

9 00 097 6155 0

9 00 097 6201 0

9 00 097 6202 0

9 00 097 6203 0

9 00 097 6250 0

9 00 097 6251 0

9 00 097 6252 0

9 00 097 6253 0

9 00 097 6254 0

cd
ÉH�f

tud
e@ h@

3/8".3/8".3/8"

3/8".3/8".1/2"

3/8".1/2".1/2"

3/8".1/2".3/4"

1/2".1/2".1/2"

1/2".1/2".3/4"

1/2".1/2".1"

1/2".3/4".1"

1/2".1".1"

1/2".1".1 1/4"

3/4".3/4".3/4"

3/4".3/4".1"

3/4".1".1 1/4"

1".1".1"

1".1".1 1/4"

1".1 1/4".1 1/4"

1".1 1/4".1 1/2"

1".1 1/2".1 1/2"

152 Í

ÎÏH� :

ØA

Ø
B Ø

C

� �：Ð¿ST���«�

� � ±： ³�´µ

��X¶： ��-·

YZ[\： -40°C-105°C

 X�Ñ： I 66P

��
��

<



166



167

HE�



300X240X160mm (ÒXÔXÕ）

300X240X mm x x H( ）160 L W

TYP3024B

�¿jk SIZE

tud P/N

 X�Ñ IP rating: IP66

TYP3024

tud P/N

300X240X160mm (ÒXÔXÕ）

300X240X mm x x H( ）160 L W

�¿jk SIZE

 X�Ñ IP rating: IP66

430X320X160mm (ÒXÔXÕ）

430X320X mm x x H( ）160 L W

TYP4332

�¿jk SIZE

tud P/N

 X�Ñ IP rating: IP66

430X240X160mm (ÒXÔXÕ）

430X240X mm x x H( ）160 L W

TYP4324

�¿jk SIZE

tud P/N

 X�Ñ IP rating: IP66

450X140X90mm (ÒXÔXÕ）

450X140X mm x x H( ）90 L W

TYP4514

�¿jk SIZE

tud P/N

 X�Ñ IP rating: IP66

212

240

3
0

0

145

3
4

8

3
2

8

R7

160

ø
7

8

145

3
4

8

213

240

R7

3
2

8

1
3

0

218

3
0

0

ø
7

8
160

7
5
°

4
3

0

240

160

145

1
3

0

218

4
7

8

212

R7

4
5

8

7
5
°

ø
7

8

4
5

0

140

90

118

2
1

4
2

1
4

4
9

7

4
3

0

320

160

292

4
7

8

235

7
5
°

R7

1
4

0
2

6
2

ø
7

300

168

�
���� !

��
��

<



Ö × Ø Ù Ú Û Ü }

ÝÞ
ßàá�¬，ØÙã�

­äåæS­çÖ×è
Screw hole on the bottom of bolt

Fix the lid by hinge Inside combining-device for connecting the boxes
�¿
SÜ}»}�

�¿�SÜ}»}�
Combining-device for
connecting the boxes

169



Edition: 202309-1

����：0757-2239 1123

��	
：http://www.sehon.com.cn


	封面+封底
	申航000a
	申航000b-目录
	申航001-007
	申航008-013
	申航014-025
	申航026-039
	申航040-049
	申航050-057
	申航058-073
	申航074-091
	申航092-103
	申航104-109
	申航110-115-新
	申航116-129
	申航130-149
	申航150-169

